

Amerigroup Community Care

Access Analysis

December 27, 2023

PCPs - Urban

December 27, 2023

Access Analysis

Adult_PCP_Urban(2 prov in 8 Miles)

Member / Provider Groups

Adult Urban Members (NORTH_URBAN) PCPs (NORTH_URBAN)

			Members W	ith and W	ithout Acces	S					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Catoosa, GA		PCPs	2 in 8 miles	71	7.6	521	96.7	18	3.3	2.0	2.2
Clarke, GA	1,311	PCPs	2 in 8 miles	111	11.8	1,310	99.9	1	0.1	1.4	2.2
Floyd, GA	1,306	PCPs	2 in 8 miles	98	13.3	1,242	95.1	64	4.9	2.0	2.5
Gordon, GA		PCPs	2 in 8 miles	1	831.0	657	79.1	174	20.9		5.2
Hall, GA		PCPs	2 in 8 miles	258		2,251	87.7	317	12.3		3.7
Jackson, GA		PCPs	2 in 8 miles	28		1,077	94.2	66	5.8		3.2
Walker, GA		PCPs	2 in 8 miles	12		1,019	94.7		5.3	3.5	3.5
Whitfield, GA	1,681	PCPs	2 in 8 miles	140	12.0	1,629	96.9	52	3.1	2.4	2.9
Grand Totals	10,455	PCPs	2 in 8 miles	719	14.5	9,706	92.8	749	7.2	2.7	3.2

PCPs - Rural

December 27, 2023

Access Analysis

Adult_PCP - Rural (2 prov in 15 Miles)

Member / Provider Groups

Adult Rural Members (NORTH_RURAL) PCPs

			Members W	ith and W	ithout Acces	s					
	Member	P	rovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Banks, GA	391	PCPs	2 in 15 miles	7	55.9	391	100.0	0	0.0	4.5	4.9
Chattooga, GA	424	PCPs	2 in 15 miles	17	24.9	416	98.1	8	1.9	4.4	4.5
Dade, GA	184	PCPs	2 in 15 miles	4	46.0	184	100.0	0	0.0	5.3	5.4
Dawson, GA	341	PCPs	2 in 15 miles	38	9.0	341	100.0	0	0.0	4.5	5.7
Elbert, GA	303	PCPs	2 in 15 miles	8	37.9	298	98.3	5	1.7	5.3	5.5
Fannin, GA	352	PCPs	2 in 15 miles	24	14.7	352	100.0	0	0.0	4.6	4.7
Franklin, GA	568	PCPs	2 in 15 miles	42	13.5	568	100.0	0	0.0	3.4	4.6
Gilmer, GA		PCPs	2 in 15 miles	12	31.5	378	100.0	0	0.0	4.0	4.8
Habersham, GA	471	PCPs	2 in 15 miles	51	9.2	471	100.0	0	0.0	3.4	3.4
Hart, GA	304	PCPs	2 in 15 miles	13	23.4	304	100.0	0	0.0	3.1	3.6
Lumpkin, GA	263	PCPs	2 in 15 miles	29	9.1	263	100.0	0	0.0	3.3	3.6
Madison, GA	444	PCPs	2 in 15 miles	3		444	100.0	0	0.0	4.7	6.5
Morgan, GA	286	PCPs	2 in 15 miles	6	47.7	286	100.0	0	0.0	4.9	5.0
Murray, GA		PCPs	2 in 15 miles	43	13.6	585	100.0	0	0.0	4.2	4.4
Oconee, GA		PCPs	2 in 15 miles	45	4.4	198	99.0	2	1.0	3.8	4.4
Oglethorpe, GA		PCPs	2 in 15 miles	2		255	98.1	5	1.9	4.2	7.1
Polk, GA	788	PCPs	2 in 15 miles	42	18.8	788	100.0	0	0.0	3.1	3.4
Rabun, GA	191	PCPs	2 in 15 miles	22	8.7	188	98.4	3	1.6	3.5	4.2
Stephens, GA	462	PCPs	2 in 15 miles	23	20.1	462	100.0	0	0.0	2.5	3.3
Towns, GA		PCPs	2 in 15 miles	6	29.7	178	100.0	0	0.0	3.8	4.4
Union, GA	336	PCPs	2 in 15 miles	19	17.7	336	100.0	0	0.0	4.3	5.9
White, GA	311	PCPs	2 in 15 miles	8	38.9	311	100.0	0	0.0	4.2	4.7
Grand Totals	8.020	PCPs	2 in 15 miles	464	17.3	7,997	99.7	23	0.3	3.9	4.6
Grana rotaio	0,020	1 01 0	I III TO IIIIICO	101	17.0	7,007	00.7		0.0	0.0	7.0

Pediatricians - Urban

December 27, 2023

Access Analysis
Child Pediatricians- Urban

Member / Provider Groups
Pediatric Urban Members
(NORTH_URBAN)

Pediatricians

			Members W	ith and W	ithout Access	S					
	Member	Pi	rovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Catoosa, GA	1,604	Pediatricians	2 in 8 miles	71	22.6	1,561	97.3	43	2.7	2.0	2.1
Clarke, GA	4,382	Pediatricians	2 in 8 miles	111	39.5	4,382	100.0	0	0.0	1.4	2.0
Floyd, GA	5,048	Pediatricians	2 in 8 miles	98	51.5	4,804	95.2	244	4.8	1.8	2.4
Gordon, GA	3,082	Pediatricians	2 in 8 miles	1	3,082.0	2,478	80.4	604	19.6	4.4	4.8
Hall, GA	10,893	Pediatricians	2 in 8 miles	248	43.9	10,422	95.7	471	4.3	2.7	3.1
Jackson, GA	4,301	Pediatricians	2 in 8 miles	28	153.6	4,033	93.8	268	6.2	2.6	3.2
Walker, GA	3,250	Pediatricians	2 in 8 miles	12	270.8	3,079	94.7	171	5.3	3.2	3.3
Whitfield, GA	7,464	Pediatricians	2 in 8 miles	140	53.3	7,308	97.9	156	2.1	2.3	2.7
Grand Totals	40,024	Pediatricians	2 in 8 miles	709	56.5	38,067	95.1	1,957	4.9	2.5	2.9

Pediatricians - Rural

December 27, 2023

Access Analysis
Child Pediatricians- Rural

Member / Provider Groups
Pediatric Rural Members

(NORTH_RURAL)
Pediatricians

			Members W	ith and W	ithout Acces	S					
	Member	Pi	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Banks, GA	1,335	Pediatricians	2 in 15 miles	7	190.7	1,335	100.0	0	0.0	4.3	4.8
Chattooga, GA	1,470	Pediatricians	2 in 15 miles	17	86.5	1,450	98.6	20	1.4	4.0	4.1
Dade, GA	641	Pediatricians	2 in 15 miles	4	160.3	641	100.0	0	0.0	5.3	5.4
Dawson, GA	1,116	Pediatricians	2 in 15 miles	38	29.4	1,116	100.0	0	0.0	4.5	5.5
Elbert, GA	1,046	Pediatricians	2 in 15 miles	8	130.8	1,039	99.3	7	0.7	5.2	5.4
Fannin, GA	1,196	Pediatricians	2 in 15 miles	24	49.8	1,196	100.0	0	0.0	4.4	4.6
Franklin, GA	1,758	Pediatricians	2 in 15 miles	42	41.9	1,758	100.0	0	0.0	3.4	4.4
Gilmer, GA	1,476	Pediatricians	2 in 15 miles	12	123.0	1,476	100.0	0	0.0	3.6	4.3
Habersham, GA	1,537	Pediatricians	2 in 15 miles	49	31.4	1,537	100.0	0	0.0	3.2	3.3
Hart, GA	991	Pediatricians	2 in 15 miles	13	76.2	991	100.0	0	0.0	3.0	3.6
Lumpkin, GA	778	Pediatricians	2 in 15 miles	29	26.8	778	100.0	0	0.0	3.3	3.7
Madison, GA	1,748	Pediatricians	2 in 15 miles	3	582.7	1,748	100.0	0	0.0	4.5	6.3
Morgan, GA	924	Pediatricians	2 in 15 miles	6	154.0	924	100.0	0	0.0	5.1	5.2
Murray, GA	2,298	Pediatricians	2 in 15 miles	43	53.4	2,298	100.0	0	0.0	4.2	4.3
Oconee, GA	798	Pediatricians	2 in 15 miles	45	17.7	797	99.9	1	0.1	3.5	3.9
Oglethorpe, GA	939	Pediatricians	2 in 15 miles	2	469.5	911	97.0	28	3.0	4.7	7.4
Polk, GA	3,016	Pediatricians	2 in 15 miles	42	71.8	3,016	100.0	0	0.0	2.8	3.1
Rabun, GA	733	Pediatricians	2 in 15 miles	22	33.3	730	99.6	3	0.4	3.2	3.9
Stephens, GA	1,454	Pediatricians	2 in 15 miles	22	66.1	1,454	100.0	0	0.0	2.5	3.3
Towns, GA	503	Pediatricians	2 in 15 miles	6	83.8	503	100.0	0	0.0	3.8	4.4
Union, GA	1,123	Pediatricians	2 in 15 miles	19	59.1	1,123	100.0	0	0.0	4.3	5.8
White, GA	943	Pediatricians	2 in 15 miles	8	117.9	943	100.0	0	0.0	4.2	4.7
Grand Totals	27,823	Pediatricians	2 in 15 miles	461	60.4	27,764	99.8	59	0.2	3.8	4.5
© 2023 Quest Analytics, LLC.											

Adult Allergy/Immunology - Urban

December 27, 2023

Access Analysis

Adult_Allergy/Immunology - Urban

Member / Provider Groups

Adult Urban Members (NORTH_URBAN)

Adult_Allergy/Immunology (NORTH_URBAN)

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance										
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Catoosa, GA	539	Adult_Allergy/	1 in 30 miles	7	77.0	539	100.0	0	0.0	4.4	4.4
Clarke, GA	1,311	Adult_Allergy/	1 in 30 miles	0		137	10.5	1,174	89.5	33.6	33.6
Floyd, GA	1,306	Adult_Allergy/	1 in 30 miles	1	1,306.0	1,306	100.0	0	0.0	5.7	42.1
Gordon, GA	831	Adult_Allergy/	1 in 30 miles	0		769	92.5	62	7.5	22.0	22.7
Hall, GA		Adult_Allergy/	1 in 30 miles	8	321.0		100.0	0	0.0		6.7
Jackson, GA		Adult_Allergy/	1 in 30 miles	0		1,072	93.8	71	6.2		16.9
Walker, GA	1,076	Adult_Allergy/	1 in 30 miles	0			100.0	0	0.0		10.2
Whitfield, GA	1,681	Adult_Allergy/	1 in 30 miles	8	210.1	1,681	100.0	0	0.0	5.3	5.5
Grand Totals	10,455	Adult_Allerg	1 in 30 miles	24	435.6	9,148	87.5	1,307	12.5	12.2	16.9
© 2023 Quest Analytics 11 C											

Adult Allergy/Immunology - Rural

December 27, 2023

Access Analysis

Adult_Allergy/Immunology -Rural

Member / Provider Groups

Adult Rural Members (NORTH_RURAL) Adult_Allergy/Immunology (NORTH_RURAL)

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Banks, GA	391	Adult_Allergy/	1 in 45 miles	0		391	100.0	0	0.0	26.3	31.7
Chattooga, GA	424	Adult_Allergy/	1 in 45 miles	0		0	0.0	424	100.0	79.9	98.4
Dade, GA		Adult_Allergy/	1 in 45 miles	0		0	0.0	184	100.0	92.5	101.7
Dawson, GA		Adult_Allergy/	1 in 45 miles	0		341	100.0	0	0.0	15.0	48.9
Elbert, GA	303	Adult_Allergy/	1 in 45 miles	0		264	87.1	39	12.9	41.6	41.6
Fannin, GA	352	Adult_Allergy/	1 in 45 miles	0		352	100.0	0	0.0	33.0	40.9
Franklin, GA		Adult_Allergy/	1 in 45 miles	0		364	64.1	204	35.9	42.1	42.4
Gilmer, GA		Adult_Allergy/	1 in 45 miles	0		377	99.7	1	0.3	35.1	51.2
Habersham, GA	471	Adult_Allergy/	1 in 45 miles	0		471		0	0.0	26.6	34.1
Hart, GA	304	Adult_Allergy/	1 in 45 miles	0		7	2.3	297	97.7	51.7	51.7
Lumpkin, GA	263	Adult_Allergy/	1 in 45 miles	1	263.0	263	100.0	0	0.0	5.5	36.8
Madison, GA	444	Adult_Allergy/	1 in 45 miles	0		444	100.0	0	0.0	23.1	23.1
Morgan, GA	286	Adult_Allergy/	1 in 45 miles	0		286	100.0	0	0.0	22.8	23.1
Murray, GA	585	Adult_Allergy/	1 in 45 miles	0		7	1.2	578	98.8	54.0	62.5
Oconee, GA	200	Adult_Allergy/	1 in 45 miles	4	50.0	200	100.0	0	0.0	5.3	7.3
Oglethorpe, GA	260	Adult_Allergy/	1 in 45 miles	0		260	100.0	0	0.0	16.8	16.8
Polk, GA	788	Adult_Allergy/	1 in 45 miles	0		0	0.0	788	100.0	82.0	99.4
Rabun, GA	191	Adult_Allergy/	1 in 45 miles	0		191	100.0	0	0.0	23.2	49.5
Stephens, GA	462	Adult_Allergy/	1 in 45 miles	0		442	95.7	20	4.3	39.3	44.8
Towns, GA	178	Adult_Allergy/	1 in 45 miles	1	178.0	178	100.0	0	0.0	5.5	35.0
Union, GA	336	Adult_Allergy/	1 in 45 miles	0		336	100.0	0	0.0	18.1	26.4
White, GA	311	Adult_Allergy/	1 in 45 miles	0		311	100.0	0	0.0	16.1	26.1
Grand Totals	8 020	Adult_Allerg	1 in 45 miles	6	1,336.7	5,485	68.4	2,535	31.6	38.7	48.9
Giana iotais	0,020	Addit_Allerg	i iii 45 iiiiles		1,330.7	3,403	00.4	2,555	31.0	30.7	40.9

Adult Cardiology -Urban

December 27, 2023

Access Analysis Adult_Cardiology - Urban

Member / Provider Groups
Adult Urban Members
(NORTH_URBAN)
Adult_Cardiology
(NORTH_URBAN)

			Members V	Vith and W	lithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Catoosa, GA	539	Adult_Cardiol	1 in 30 miles	21	25.7	539	100.0	0	0.0	3.4	4.3
Clarke, GA	1,311	Adult_Cardiol	1 in 30 miles	30	43.7	1,311	100.0	0	0.0	3.7	4.1
Floyd, GA	1,306	Adult_Cardiol	1 in 30 miles	9	145.1	1,306	100.0	0	0.0	4.8	5.0
Gordon, GA	831	Adult_Cardiol	1 in 30 miles	0		831	100.0	0	0.0	6.2	20.4
Hall, GA	2,568	Adult_Cardiol	1 in 30 miles	133	19.3	2,568	100.0	0	0.0	5.6	5.9
Jackson, GA	1,143	Adult_Cardiol	1 in 30 miles	32	35.7	1,143	100.0	0	0.0	4.1	6.3
Walker, GA	1,076	Adult_Cardiol	1 in 30 miles	0		1,076	100.0	0	0.0	10.4	11.0
Whitfield, GA	1,681	Adult_Cardiol	1 in 30 miles	35	48.0	1,681	100.0	0	0.0	5.1	5.3
Grand Totals	10,455	Adult_Cardio	1 in 30 miles	260	40.2	10,455	100.0	0	0.0	5.5	7.1
© 2023 Quest Analytics 11 C											

Adult Cardiology - Rural

December 27, 2023

Access Analysis Adult_Cardiology - Rural

Member / Provider Groups
Adult Rural Members
(NORTH_RURAL)

Adult_Cardiology (NORTH_RURAL)

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Banks, GA	391	Adult_Cardiol	1 in 45 miles	0		391	100.0	0	0.0	14.5	14.9
Chattooga, GA	424	Adult_Cardiol	1 in 45 miles	1	424.0	424	100.0	0	0.0	5.6	33.8
Dade, GA		Adult_Cardiol	1 in 45 miles	0			100.0	0	0.0		43.5
Dawson, GA		Adult_Cardiol	1 in 45 miles	15			100.0	0	0.0	7.2	7.2
Elbert, GA		Adult_Cardiol	1 in 45 miles	11	27.5	303	100.0	0	0.0	5.7	5.7
Fannin, GA		Adult_Cardiol	1 in 45 miles	8	44.0	352		0	0.0	4.8	5.5
Franklin, GA		Adult_Cardiol	1 in 45 miles	32			100.0	0	0.0	5.2	5.7
Gilmer, GA	378	Adult_Cardiol	1 in 45 miles	16		378		0	0.0	5.2	5.7
Habersham, GA		Adult_Cardiol	1 in 45 miles	6	78.5	471		0	0.0	5.0	5.8
Hart, GA		Adult_Cardiol	1 in 45 miles	0		304		0	0.0	13.1	13.3
Lumpkin, GA		Adult_Cardiol	1 in 45 miles	40	6.6	263	100.0	0	0.0	5.3	5.3
Madison, GA		Adult_Cardiol	1 in 45 miles	0		444	100.0	0	0.0	16.3	16.3
Morgan, GA		Adult_Cardiol	1 in 45 miles	13			100.0	0	0.0	5.5	5.5
Murray, GA		Adult_Cardiol	1 in 45 miles	2			100.0	0	0.0	5.5	5.5
Oconee, GA		Adult_Cardiol	1 in 45 miles	17	11.8	200		0	0.0	6.7	6.8
Oglethorpe, GA		Adult_Cardiol	1 in 45 miles	0		260		0	0.0		16.5
Polk, GA		Adult_Cardiol	1 in 45 miles	1	788.0	788	100.0	0	0.0	9.7	37.6
Rabun, GA		Adult_Cardiol	1 in 45 miles	29	6.6	191	100.0	0	0.0	4.8	4.8
Stephens, GA		Adult_Cardiol	1 in 45 miles	25	18.5		100.0	0	0.0	3.7	3.9
Towns, GA		Adult_Cardiol	1 in 45 miles	4	44.5		100.0	0	0.0	4.7	5.0
Union, GA		Adult_Cardiol	1 in 45 miles	47	7.1	336	100.0	0	0.0	5.5	5.7
White, GA	311	Adult_Cardiol	1 in 45 miles	1	311.0	311	100.0	0	0.0	6.1	6.4
Grand Totals	8,020	Adult_Cardio	1 in 45 miles	268	29.9	8,020	100.0	0	0.0	8.1	12.8
	·	_				ŕ					

Adult Endocrinology - Urban

December 27, 2023

Access Analysis
Adult_Endocrinology - Urban

Member / Provider Groups Adult Urban Members

(NORTH_URBAN)

Adult_Endocrinology
(NORTH_URBAN)

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Catoosa, GA	539	Adult_Endocri	1 in 30 miles	0		539	100.0	0	0.0	18.9	20.4
Clarke, GA	1,311	Adult_Endocri	1 in 30 miles	2	655.5	1,311	100.0	0	0.0	3.9	4.8
Floyd, GA	1,306	Adult_Endocri	1 in 30 miles	1	1,306.0	1,306	100.0	0	0.0	5.4	41.9
Gordon, GA	831	Adult_Endocri	1 in 30 miles	0		778	93.6	53	6.4	20.9	22.4
Hall, GA	2,568	Adult_Endocri	1 in 30 miles	13	197.5	2,568	100.0	0	0.0	5.3	6.4
Jackson, GA	1,143	Adult_Endocri	1 in 30 miles	0		1,143	100.0	0	0.0	10.5	10.9
Walker, GA	1,076	Adult_Endocri	1 in 30 miles	0		1,074	99.8	2	0.2	23.5	24.5
Whitfield, GA			1 in 30 miles	2	840.5	1,681	100.0	0	0.0	4.8	5.8
Grand Totals	10,455	Adult_Endoc	1 in 30 miles	18	580.8	10,400	99.5	55	0.5	9.4	14.9

Adult Endocrinology - Rural

December 27, 2023

Access Analysis
Adult_Endocrinology - Rural

Member / Provider Groups Adult Rural Members (NORTH_RURAL)

Adult_Endocrinology (NORTH_RURAL)

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Banks, GA	391	Adult_Endocri	1 in 45 miles	0		391	100.0	0	0.0	24.6	40.3
Chattooga, GA	424	Adult_Endocri	1 in 45 miles	0		353	83.3	71	16.7	43.5	79.9
Dade, GA	184	Adult_Endocri	1 in 45 miles	0		0	0.0	184	100.0	68.0	92.5
Dawson, GA		Adult_Endocri	1 in 45 miles	0		341	100.0	0	0.0		57.3
Elbert, GA	303	Adult_Endocri	1 in 45 miles	0		288	95.0	15	5.0	36.6	72.0
Fannin, GA		Adult_Endocri	1 in 45 miles	0		257	73.0	95	27.0		76.6
Franklin, GA		_	1 in 45 miles	1	568.0	493	86.8	75	13.2		51.1
Gilmer, GA	378	Adult_Endocri	1 in 45 miles	0		377	99.7	1	0.3		58.0
Habersham, GA	471	Adult_Endocri	1 in 45 miles	0		471	100.0	0	0.0	27.3	44.8
Hart, GA	304	Adult_Endocri	1 in 45 miles	0		57	18.8	247	81.2	47.5	62.1
Lumpkin, GA	263	Adult_Endocri	1 in 45 miles	1	263.0	263	100.0	0	0.0		61.0
Madison, GA	444	Adult_Endocri	1 in 45 miles	0		444	100.0	0	0.0	17.7	60.6
Morgan, GA	286	Adult_Endocri	1 in 45 miles	0		286	100.0	0	0.0	28.3	75.1
Murray, GA	585	Adult_Endocri	1 in 45 miles	0		46	7.9	539	92.1	51.6	54.6
Oconee, GA	200	Adult_Endocri	1 in 45 miles	0		200	100.0	0	0.0	10.2	61.8
Oglethorpe, GA	260	Adult_Endocri	1 in 45 miles	0		260	100.0	0	0.0	15.8	72.3
Polk, GA	788	Adult_Endocri	1 in 45 miles	1	788.0	788	100.0	0	0.0	14.5	82.0
Rabun, GA	191	Adult_Endocri	1 in 45 miles	0		36	18.8	155	81.2		64.5
Stephens, GA	462	Adult_Endocri	1 in 45 miles	0		444	96.1	18	3.9	39.0	42.9
Towns, GA	178	Adult_Endocri	1 in 45 miles	0		178	100.0	0	0.0	35.0	74.0
Union, GA	336	Adult_Endocri	1 in 45 miles	0		336	100.0	0	0.0	26.0	77.3
White, GA	311	Adult_Endocri	1 in 45 miles	0		311	100.0	0	0.0	16.8	53.0
Grand Totals	8,020	Adult_Endoc	1 in 45 miles	3	2,673.3	6,620	82.5	1,400	17.5	30.7	63.1
	·	_			·	ŕ		,			

Adult ENT - Urban

December 27, 2023

Access Analysis
Adult_ENT- Urban

Member / Provider Groups
Adult Urban Members
(NORTH_URBAN)
Adult_ENT
(NORTH_URBAN)

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Catoosa, GA	539	Adult_ENT	1 in 30 miles	1	539.0	539	100.0	0	0.0	4.9	45.3		
Clarke, GA	1,311	Adult_ENT	1 in 30 miles	9	145.7	1,311	100.0	0	0.0	4.1	4.1		
Floyd, GA	1,306	Adult_ENT	1 in 30 miles	2	653.0	1,306	100.0	0	0.0	4.9	6.7		
Gordon, GA	831	Adult_ENT	1 in 30 miles	0		607			27.0	27.8	30.1		
Hall, GA	2,568	Adult_ENT	1 in 30 miles	13	197.5	2,568	100.0	0	0.0	6.1	7.3		
Jackson, GA		Adult_ENT	1 in 30 miles	0		1,143	100.0	0	0.0	10.1	10.1		
Walker, GA	1,076	Adult_ENT	1 in 30 miles	0		1,076	100.0	0	0.0	11.4	42.3		
Whitfield, GA	1,681	Adult_ENT	1 in 30 miles	0		1,635	97.3	46	2.7	21.5	40.2		
Grand Totals	10,455	Adult_ENT	1 in 30 miles	25	418.2	10,185	97.4	270	2.6	10.8	19.8		
© 2023 Quest Analytics, LLC.													

Adult ENT - Rural

December 27, 2023

Access Analysis
Adult_ENT - Rural

Member / Provider Groups

Adult Rural Members
(NORTH_RURAL)

Adult_ENT (NORTH_RURAL)

			Members W	ith and W	ithout Acces	s					
	Member	P	rovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Banks, GA	391	Adult_ENT	1 in 45 miles	0		391	100.0	0	0.0	19.8	31.8
Chattooga, GA	424	Adult_ENT	1 in 45 miles	0		0	0.0	424	100.0	69.5	76.9
Dade, GA	184	Adult_ENT	1 in 45 miles	0		0	0.0	184	100.0	69.8	93.2
Dawson, GA	341	Adult_ENT	1 in 45 miles	2		341	100.0	0	0.0	7.6	34.1
Elbert, GA	303	Adult_ENT	1 in 45 miles	1	303.0	303	100.0	0	0.0	6.3	58.0
Fannin, GA	352	Adult_ENT	1 in 45 miles	1	352.0	352	100.0	0	0.0	7.2	45.4
Franklin, GA	568	Adult_ENT	1 in 45 miles	0			100.0	0	0.0	26.3	36.3
Gilmer, GA		Adult_ENT	1 in 45 miles	0			100.0	0	0.0		41.5
Habersham, GA	471	Adult_ENT	1 in 45 miles	1	471.0	471		0	0.0	5.9	26.0
Hart, GA	304	Adult_ENT	1 in 45 miles	0		304	100.0	0	0.0		42.5
Lumpkin, GA	263	Adult_ENT	1 in 45 miles	0		263	100.0	0	0.0	14.2	27.6
Madison, GA	444	Adult_ENT	1 in 45 miles	0		444	100.0	0	0.0	22.8	44.4
Morgan, GA	286	Adult_ENT	1 in 45 miles	0		172	60.1	114	39.9	44.4	59.9
Murray, GA		Adult_ENT	1 in 45 miles	0			100.0	0	0.0	-	59.4
Oconee, GA		Adult_ENT	1 in 45 miles	0		200	100.0	0	0.0	33.7	43.5
Oglethorpe, GA		Adult_ENT	1 in 45 miles	0		260	100.0	0	0.0	27.8	49.7
Polk, GA	788	Adult_ENT	1 in 45 miles	0		0	0.0	788	100.0	67.6	72.8
Rabun, GA		Adult_ENT	1 in 45 miles	2		191		0	0.0	5.2	5.2
Stephens, GA		Adult_ENT	1 in 45 miles	0			100.0	0	0.0	14.9	24.7
Towns, GA	178	Adult_ENT	1 in 45 miles	0		178	100.0	0	0.0	23.7	25.0
Union, GA	336	Adult_ENT	1 in 45 miles	0		336		0	0.0	18.3	34.3
White, GA	311	Adult_ENT	1 in 45 miles	0		311	100.0	0	0.0	14.2	28.4
Grand Totals	8,020	Adult_ENT	1 in 45 miles	7	1,145.7	6,510	81.2	1,510	18.8	28.0	45.4
	2,2_2				1,11011	2,010		1,010			

Adult Gastroenterology - Urban

December 27, 2023

Access Analysis
Adult_Gastreontology - Urban

Member / Provider Groups Adult Urban Members (NORTH_URBAN)

Adult_Gastroenterology (NORTH_URBAN)

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Catoosa, GA	539	Adult_Gastro	1 in 30 miles	5	107.8	539	100.0	0	0.0	3.7	4.8			
Clarke, GA	1,311	Adult_Gastro	1 in 30 miles	15		1,311	100.0	0	0.0	3.4	3.7			
Floyd, GA	1,306	Adult_Gastro	1 in 30 miles	4	326.5	1,306	100.0	0	0.0	5.0	5.7			
Gordon, GA	831	Adult_Gastro	1 in 30 miles	0		771	92.8	60	7.2	21.9	21.9			
Hall, GA	2,568	Adult_Gastro	1 in 30 miles	22	116.7	2,568	100.0	0	0.0	6.1	6.8			
Jackson, GA	1,143	Adult_Gastro	1 in 30 miles	0		1,143	100.0	0	0.0	9.8	10.5			
Walker, GA	1,076	Adult_Gastro	1 in 30 miles	0		1,076	100.0	0	0.0	11.4	11.4			
Whitfield, GA	1,681	Adult_Gastro	1 in 30 miles	10	168.1	1,681	100.0	0	0.0	5.0	5.1			
Grand Totals	10,455	Adult_Gastr	1 in 30 miles	56	186.7	10,395	99.4	60	0.6	7.5	8.0			
							<u> </u>							

Adult Gastroenterology - Rural

December 27, 2023

Access Analysis
Adult_Gastreontology- Rural

Member / Provider Groups

Adult Rural Members (NORTH_RURAL) Adult_Gastroenterology (NORTH_RURAL)

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without A	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Banks, GA	391	Adult_Gastro	1 in 45 miles	0		391	100.0	0	0.0	16.1	17.6		
Chattooga, GA	424	Adult_Gastro	1 in 45 miles	0		0	0.0	424	100.0	68.0	68.0		
Dade, GA	184	Adult_Gastro	1 in 45 miles	0		0	0.0	184	100.0	65.6	65.6		
Dawson, GA	341	Adult_Gastro	1 in 45 miles	10	34.1	341	100.0	0	0.0	7.3	7.8		
Elbert, GA	303	Adult_Gastro	1 in 45 miles	0		262	86.5	41	13.5	41.8	41.8		
Fannin, GA	352	Adult_Gastro	1 in 45 miles	6	58.7	352	100.0	0	0.0	5.0	6.9		
Franklin, GA	568	Adult_Gastro	1 in 45 miles	0		568	100.0	0	0.0	32.6	32.7		
Gilmer, GA	378	Adult_Gastro	1 in 45 miles	0		378	100.0	0	0.0	22.0	22.3		
Habersham, GA	471	Adult_Gastro	1 in 45 miles	4	117.8	471	100.0	0	0.0	5.2	5.9		
Hart, GA	304	Adult_Gastro	1 in 45 miles	0		254	83.6	50	16.4	42.5	42.5		
Lumpkin, GA	263	Adult_Gastro	1 in 45 miles	1	263.0	263	100.0	0	0.0	5.5	13.7		
Madison, GA	444	Adult_Gastro	1 in 45 miles	0		444	100.0	0	0.0	23.7	23.7		
Morgan, GA	286	Adult_Gastro	1 in 45 miles	8	35.8	286	100.0	0	0.0	6.2	6.2		
Murray, GA	585	Adult_Gastro	1 in 45 miles	0		585	100.0	0	0.0	29.9	29.9		
Oconee, GA	200	Adult_Gastro	1 in 45 miles	16	12.5	200	100.0	0	0.0	7.1	7.1		
Oglethorpe, GA	260	Adult_Gastro	1 in 45 miles	0		260	100.0	0	0.0	18.7	18.7		
Polk, GA	788	Adult_Gastro	1 in 45 miles	0		0	0.0	788	100.0	72.5	73.1		
Rabun, GA	191	Adult_Gastro	1 in 45 miles	8	23.9	191	100.0	0	0.0	4.8	5.3		
Stephens, GA	462	Adult_Gastro	1 in 45 miles	0		462	100.0	0	0.0	14.9	14.9		
Towns, GA	178	Adult_Gastro	1 in 45 miles	1	178.0	178	100.0	0	0.0	5.1	13.0		
Union, GA	336	Adult_Gastro	1 in 45 miles	7	48.0	336	100.0	0	0.0	4.8	5.8		
White, GA	311	Adult_Gastro	1 in 45 miles	0		311	100.0	0	0.0	11.4	13.4		
								4 40=	40.				
Grand Totals	8,020	Adult_Gastr	1 in 45 miles	61	131.5	6,533	81.5	1,487	18.5	26.8	27.7		

Adult Hematology/Oncology - Urban

December 27, 2023

Access Analysis

Adult_Hemotology/Oncology-Urban

Member / Provider Groups

Adult Urban Members (NORTH_URBAN) Adult_Hematology/Oncology (NORTH_URBAN)

Members With and Without Access Member Provider Counts Patic Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Catoosa, GA	539	Adult_Hemat	1 in 30 miles	6	89.8	539	100.0	0	0.0	4.1	4.7		
Clarke, GA	1,311	Adult_Hemat	1 in 30 miles	29	45.2	1,311	100.0	0	0.0	3.5	3.6		
Floyd, GA	1,306	Adult_Hemat	1 in 30 miles	4	326.5	1,306	100.0	0	0.0	4.8	5.4		
Gordon, GA	831	Adult_Hemat	1 in 30 miles	0		831	100.0	0	0.0	20.0	21.8		
Hall, GA	2,568	Adult_Hemat	1 in 30 miles	26	98.8	2,568	100.0	0	0.0	6.1	6.4		
Jackson, GA	1,143	Adult_Hemat	1 in 30 miles	1	1,143.0	1,143	100.0	0	0.0	6.7	9.7		
Walker, GA	1,076	Adult_Hemat	1 in 30 miles	0		1,076	100.0	0	0.0	8.6	10.7		
Whitfield, GA	1,681	Adult_Hemat	1 in 30 miles	7	240.1	1,681	100.0	0	0.0	5.3	5.3		
Grand Totals	10,455	Adult_Hemat	1 in 30 miles	73	143.2	10,455	100.0	0	0.0	6.8	7.7		
© 2023 Quest Analytics, LLC.	1												

Adult Hematology/Oncology - Rural

December 27, 2023

Access Analysis

Adult_Hemotology/Oncology - Rural

Member / Provider Groups

Adult Rural Members (NORTH_RURAL) Adult_Hematology/Oncology (NORTH_RURAL)

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ad	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Banks, GA	391	Adult_Hemat	1 in 45 miles	0		391	100.0	0	0.0	20.0	21.7	
Chattooga, GA	424	Adult_Hemat	1 in 45 miles	0		3	0.7	421	99.3	53.5	86.1	
Dade, GA	184	Adult_Hemat	1 in 45 miles	0		0	0.0	184	100.0	72.8	89.4	
Dawson, GA		Adult_Hemat	1 in 45 miles	0		341		0	0.0			
Elbert, GA	303	Adult_Hemat	1 in 45 miles	0		303	100.0	0	0.0	17.1	22.5	
Fannin, GA		Adult_Hemat	1 in 45 miles	1	352.0	352		0	0.0	21.6	21.6	
Franklin, GA		Adult_Hemat	1 in 45 miles	2	284.0		100.0	0	0.0	5.5		
Gilmer, GA	378	Adult_Hemat	1 in 45 miles	0		378	100.0	0	0.0	19.5	39.2	
Habersham, GA		Adult_Hemat	1 in 45 miles	0		471		0	0.0	13.6	13.9	
Hart, GA	304	Adult_Hemat	1 in 45 miles	1	304.0	304	100.0	0	0.0	3.9		
Lumpkin, GA	263	Adult_Hemat	1 in 45 miles	0		263	100.0	0	0.0	24.1	26.2	
Madison, GA	444	Adult_Hemat	1 in 45 miles	0		444	100.0	0	0.0		19.7	
Morgan, GA	286	Adult_Hemat	1 in 45 miles	0		286	100.0	0	0.0	24.1	24.1	
Murray, GA	585	Adult_Hemat	1 in 45 miles	0		557	95.2	28	4.8	39.3	49.8	
Oconee, GA	200	Adult_Hemat	1 in 45 miles	8	25.0	200	100.0	0	0.0	7.0	7.1	
Oglethorpe, GA		Adult_Hemat	1 in 45 miles	0		260	100.0	0	0.0	15.3		
Polk, GA	788	Adult_Hemat	1 in 45 miles	0		0	0.0	788	100.0	59.7	98.0	
Rabun, GA	191	Adult_Hemat	1 in 45 miles	1	191.0	191	100.0	0	0.0	5.5	21.2	
Stephens, GA	462	Adult_Hemat	1 in 45 miles	6	77.0	462	100.0	0	0.0	3.6	5.6	
Towns, GA	178	Adult_Hemat	1 in 45 miles	0		178	100.0	0	0.0	11.8		
Union, GA	336	Adult_Hemat	1 in 45 miles	4	84.0	336	100.0	0	0.0	6.0	6.7	
White, GA	311	Adult_Hemat	1 in 45 miles	0		311	100.0	0	0.0	20.7	23.3	
Grand Totals	8.020	Adult_Hemat	1 in 45 miles	23	348.7	6,599	82.3	1,421	17.7	23.7	34.2	
	0,020				5.5	0,000	02.0	.,			V	

Adult Nephrology - Urban

December 27, 2023

Access Analysis
Adult_Nephrology - Urban

Member / Provider Groups
Adult Urban Members
(NORTH_URBAN)
Adult_Nephrology
(NORTH_URBAN)

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Catoosa, GA	539	Adult_Nephro	1 in 30 miles	4	134.8		100.0	0	0.0	3.9	7.0			
Clarke, GA	1,311	Adult_Nephro	1 in 30 miles	28			100.0	0	0.0	2.8	2.8			
Floyd, GA	1,306	Adult_Nephro	1 in 30 miles	8	163.3		100.0	0	0.0	4.5	4.7			
Gordon, GA			1 in 30 miles	0			100.0	0	0.0	6.2	20.1			
Hall, GA	2,568	Adult_Nephro	1 in 30 miles	13	197.5	2,568	100.0	0	0.0	6.0	7.1			
Jackson, GA	1,143	Adult_Nephro	1 in 30 miles	3	381.0	1,143	100.0	0	0.0	7.5	9.0			
Walker, GA	1,076	Adult_Nephro	1 in 30 miles	1	1,076.0	1,076	100.0	0	0.0	4.9	8.7			
Whitfield, GA	1,681	Adult_Nephro	1 in 30 miles	9	186.8	1,681	100.0	0	0.0	5.0	5.1			
Grand Totals	10,455	Adult_Nephr	1 in 30 miles	66	158.4	10,455	100.0	0	0.0	5.2	7.3			
							l							

Adult Nephrology - Rural

December 27, 2023

Access Analysis
Adult_Nephrology - Rural

Member / Provider Groups

Adult Rural Members (NORTH_RURAL) Adult_Nephrology (NORTH_RURAL)

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Banks, GA	391	Adult_Nephro	1 in 45 miles	0		391	100.0	0	0.0	14.8	15.4		
Chattooga, GA	424	Adult_Nephro	1 in 45 miles	2	212.0	424	100.0	0	0.0	5.7	5.7		
Dade, GA	184	Adult_Nephro	1 in 45 miles	0		184	100.0	0	0.0	31.5	31.5		
Dawson, GA	341	Adult_Nephro	1 in 45 miles	0		341	100.0	0	0.0	15.0	15.0		
Elbert, GA	303	Adult_Nephro	1 in 45 miles	0		303	100.0	0	0.0	16.8	16.8		
Fannin, GA	352	Adult_Nephro	1 in 45 miles	1	352.0	352	100.0	0	0.0	7.2	23.9		
Franklin, GA	568	Adult_Nephro	1 in 45 miles	4	142.0	568	100.0	0	0.0	5.6	5.8		
Gilmer, GA	378	Adult_Nephro	1 in 45 miles	10	37.8	378	100.0	0	0.0	5.6	5.7		
Habersham, GA	471	Adult_Nephro	1 in 45 miles	7	67.3	471	100.0	0	0.0	4.3	5.2		
Hart, GA	304	Adult_Nephro	1 in 45 miles	3	101.3	304	100.0	0	0.0	4.0	4.0		
Lumpkin, GA	263	Adult_Nephro	1 in 45 miles	2	131.5	263	100.0	0	0.0	5.5	5.5		
Madison, GA	444	Adult_Nephro	1 in 45 miles	0		444	100.0	0	0.0	16.3	16.5		
Morgan, GA	286	Adult_Nephro	1 in 45 miles	0		286	100.0	0	0.0	24.2	24.2		
Murray, GA	585	Adult_Nephro	1 in 45 miles	3	195.0	585	100.0	0	0.0	5.5	5.5		
Oconee, GA	200	Adult_Nephro	1 in 45 miles	8	25.0	200	100.0	0	0.0	7.1	7.1		
Oglethorpe, GA	260	Adult_Nephro	1 in 45 miles	0		260	100.0	0	0.0	17.9	17.9		
Polk, GA	788	Adult_Nephro	1 in 45 miles	3	262.7	788	100.0	0	0.0	7.0	8.7		
Rabun, GA	191	Adult_Nephro	1 in 45 miles	3	63.7	191	100.0	0	0.0	5.1	5.2		
Stephens, GA	462	Adult_Nephro	1 in 45 miles	4	115.5	462	100.0	0	0.0	4.9	4.9		
Towns, GA	178	Adult_Nephro	1 in 45 miles	0		178	100.0	0	0.0	23.2	24.1		
Union, GA	336	Adult_Nephro	1 in 45 miles	0		336	100.0	0	0.0	17.8	25.9		
White, GA	311	Adult_Nephro	1 in 45 miles	0		311	100.0	0	0.0	9.9	11.8		
0 17 11	0.000		4 . 4		400.4	0.000	400.0			40.0	44 =		
Grand Totals	8,020	Adult_Nephr	1 in 45 miles	50	160.4	8,020	100.0	0	0.0	10.2	11.7		

Adult Dermatology - Urban

December 27, 2023

Access Analysis
Adult_Dermatology - Urban

Member / Provider Groups

Adult Urban Members
(NORTH_URBAN)

Adult_Dermatology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Catoosa, GA	539	Adult_Dermat	1 in 30 miles	2	269.5		100.0	0	0.0		8.2		
Clarke, GA			1 in 30 miles	7	187.3		100.0	0	0.0	3.2	4.2		
Floyd, GA			1 in 30 miles	3	435.3		100.0		0.0		5.9		
Gordon, GA			1 in 30 miles	0			100.0		0.0		24.5		
Hall, GA		_	1 in 30 miles	0			100.0		0.0		14.2		
Jackson, GA			1 in 30 miles	0			100.0		0.0		13.7		
Walker, GA			1 in 30 miles	0			100.0	0	0.0		12.1		
Whitfield, GA	1,681	Adult_Dermat	1 in 30 miles	1	1,681.0	1,681	100.0	0	0.0	5.4	21.5		
Grand Totals	10,455	Adult_Derma	1 in 30 miles	13	804.2	10,455	100.0	0	0.0	9.8	13.3		
© 2023 Quest Analytics 11 C													

Adult Dermatology - Rural

December 27, 2023

Access Analysis
Adult_Dermatology - Rural
Member / Provider Groups

Adult Rural Members (NORTH_RURAL) Adult_Dermatology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Banks, GA	391	Adult_Dermat	1 in 45 miles	0		391	100.0	0	0.0	20.9	21.2		
Chattooga, GA	424	Adult_Dermat	1 in 45 miles	0		424	100.0	0	0.0	23.8	23.8		
Dade, GA	184	Adult_Dermat	1 in 45 miles	0		184	100.0	0	0.0	20.3	21.4		
Dawson, GA	341	Adult_Dermat	1 in 45 miles	6	56.8	341	100.0	0	0.0	7.2	7.9		
Elbert, GA	303	Adult_Dermat	1 in 45 miles	0		293	96.7	10	3.3	35.6	36.3		
Fannin, GA	352	Adult_Dermat	1 in 45 miles	2	176.0	352	100.0	0	0.0	7.2	7.2		
Franklin, GA	568	Adult_Dermat	1 in 45 miles	0		568	100.0	0	0.0	24.3	24.3		
Gilmer, GA	378	Adult_Dermat	1 in 45 miles	0		378	100.0	0	0.0	22.9	23.3		
Habersham, GA	471	Adult_Dermat	1 in 45 miles	0		471	100.0	0	0.0	14.1	14.1		
Hart, GA	304	Adult_Dermat	1 in 45 miles	0		304	100.0	0	0.0	35.2	35.2		
Lumpkin, GA	263	Adult_Dermat	1 in 45 miles	1	263.0	263	100.0	0	0.0	5.5	14.0		
Madison, GA	444	Adult_Dermat	1 in 45 miles	0		444	100.0	0	0.0	16.5	17.3		
Morgan, GA	286	Adult_Dermat	1 in 45 miles	0		286	100.0	0	0.0	27.6	28.3		
Murray, GA	585	Adult_Dermat	1 in 45 miles	0		585	100.0	0	0.0	14.1	28.4		
Oconee, GA	200	Adult_Dermat	1 in 45 miles	0		200	100.0	0	0.0	9.1	10.2		
Oglethorpe, GA	260	Adult_Dermat	1 in 45 miles	0		260	100.0	0	0.0	14.7	15.4		
Polk, GA	788	Adult_Dermat	1 in 45 miles	0		788	100.0	0	0.0	20.2	20.2		
Rabun, GA	191	Adult_Dermat	1 in 45 miles	0		191	100.0	0	0.0	21.8	21.8		
Stephens, GA	462	Adult_Dermat	1 in 45 miles	2	231.0	462	100.0	0	0.0	5.4	5.4		
Towns, GA	178	Adult_Dermat	1 in 45 miles	0		178	100.0	0	0.0	31.0	31.0		
Union, GA	336	Adult_Dermat	1 in 45 miles	0		336	100.0	0	0.0	17.8	18.4		
White, GA	311	Adult_Dermat	1 in 45 miles	0		311	100.0	0	0.0	16.6	23.7		
0 17 (1	0.000		4 . 4	44	 4	0.040		40	• •	40.4			
Grand Totals	8,020	Adult_Derma	1 in 45 miles	11	729.1	8,010	99.9	10	0.1	18.4	20.2		
		l		l									

Adult Rheumatology - Urban

December 27, 2023

Access Analysis
Adult_Rheumatology- Urban

Member / Provider Groups

Adult Urban Members
(NORTH_URBAN)

Adult_Rheumatology

Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Catoosa, GA	539	Adult_Rheum	1 in 30 miles	0		539	100.0	0	0.0	11.5	11.5		
Clarke, GA	1,311	Adult_Rheum	1 in 30 miles	2		1,311	100.0	0	0.0	3.8			
Floyd, GA	1,306	Adult_Rheum	1 in 30 miles	1	1,306.0	1,306	100.0	0	0.0	5.7	38.5		
Gordon, GA	831	Adult_Rheum	1 in 30 miles	0			100.0	0	0.0	20.9	21.6		
Hall, GA	2,568	Adult_Rheum	1 in 30 miles	9	285.3		100.0	0	0.0	6.5	6.5		
Jackson, GA			1 in 30 miles	0			100.0	0	0.0	10.5	11.1		
Walker, GA	1,076	Adult_Rheum	1 in 30 miles	0		1,076	100.0	0	0.0	12.7	12.7		
Whitfield, GA	1,681	Adult_Rheum	1 in 30 miles	2	840.5	1,681	100.0	0	0.0	5.4	5.4		
Grand Totals	10,455	Adult_Rheu	1 in 30 miles	14	746.8	10,455	100.0	0	0.0	8.4	12.7		
© 2023 Quest Analytics 11 C		<u> </u>	I	-									

Adult Rheumatology - Rural

December 27, 2023

Access Analysis
Adult_Rheumatology - Rural

Member / Provider Groups

Adult Rural Members
(NORTH_RURAL)

Adult_Rheumatology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Banks, GA	391	Adult_Rheum	1 in 45 miles	0		391	100.0	0	0.0	20.3	20.6	
Chattooga, GA	424	Adult_Rheum	1 in 45 miles	0		424	100.0	0	0.0	22.4	36.9	
Dade, GA		Adult_Rheum	1 in 45 miles	0			100.0	0	0.0		23.7	
Dawson, GA		Adult_Rheum	1 in 45 miles	0			100.0	0	0.0	19.8	20.1	
Elbert, GA	303	Adult_Rheum	1 in 45 miles	0		303	100.0	0	0.0	34.5	36.9	
Fannin, GA		Adult_Rheum	1 in 45 miles	0		352		0	0.0	23.6	41.7	
Franklin, GA	568	Adult_Rheum	1 in 45 miles	0		568	100.0	0	0.0	32.1	37.6	
Gilmer, GA	378	Adult_Rheum	1 in 45 miles	1	378.0	378		0	0.0	6.3	29.0	
Habersham, GA		Adult_Rheum	1 in 45 miles	0		471		0	0.0	30.8	30.8	
Hart, GA	304	Adult_Rheum	1 in 45 miles	0		304	100.0	0	0.0	28.1	47.5	
Lumpkin, GA	263	Adult_Rheum	1 in 45 miles	0		263	100.0	0	0.0	21.9	22.2	
Madison, GA	444	Adult_Rheum	1 in 45 miles	0		444	100.0	0	0.0	17.7	18.1	
Morgan, GA		Adult_Rheum	1 in 45 miles	0			100.0	0	0.0	26.6	28.0	
Murray, GA	585	Adult_Rheum	1 in 45 miles	0		585	100.0	0	0.0	13.9	14.2	
Oconee, GA	200	Adult_Rheum	1 in 45 miles	0		200	100.0	0	0.0	9.7	10.3	
Oglethorpe, GA	260	Adult_Rheum	1 in 45 miles	0		260	100.0	0	0.0	14.9	15.9	
Polk, GA	788	Adult_Rheum	1 in 45 miles	0		788	100.0	0	0.0	22.3	32.4	
Rabun, GA	191	Adult_Rheum	1 in 45 miles	0		8	4.2	183	95.8	51.8	52.6	
Stephens, GA	462	Adult_Rheum	1 in 45 miles	0		462	100.0	0	0.0	37.8	39.6	
Towns, GA	178	Adult_Rheum	1 in 45 miles	0		113	63.5	65	36.5	44.0	44.3	
Union, GA	336	Adult_Rheum	1 in 45 miles	0		336	100.0	0	0.0	34.9	42.9	
White, GA	311	Adult_Rheum	1 in 45 miles	0		311	100.0	0	0.0	21.4	21.4	
Grand Totals	8,020	Adult_Rheu	1 in 45 miles	1	8,020.0	7,772	96.9	248	3.1	24.6	30.1	
	5,0_0				0,0_000	.,						

Adult Infectious Disease - Urban

December 27, 2023

Access Analysis

Adult_Infectious Disease_Urban

Member / Provider Groups

Adult Urban Members (NORTH_URBAN) Adult_Infectious Disease (NORTH_URBAN)

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ad	ccess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Catoosa, GA	539	Adult_Infectio	1 in 30 miles	1	539.0		100.0	0	0.0	4.8	18.9	
Clarke, GA	1,311	Adult_Infectio	1 in 30 miles	3	437.0	1,311	100.0	0	0.0	4.2	4.3	
Floyd, GA	1,306	Adult_Infectio	1 in 30 miles	0		7		1,299	99.5	42.0	42.1	
Gordon, GA	831	Adult_Infectio	1 in 30 miles	0		767	92.3	64	7.7	22.4	22.5	
Hall, GA	2,568	Adult_Infectio	1 in 30 miles	4	642.0	2,568	100.0	0	0.0	6.6	7.1	
Jackson, GA	1,143	Adult_Infectio	1 in 30 miles	0		1,143	100.0	0	0.0	10.7	10.7	
Walker, GA	1,076	Adult_Infectio	1 in 30 miles	0			100.0	0	0.0	11.4	23.5	
Whitfield, GA	1,681	Adult_Infectio	1 in 30 miles	2	840.5	1,681	100.0	0	0.0	5.4	5.4	
Grand Totals	10,455	Adult_Infecti	1 in 30 miles	10	1,045.5	9,092	87.0	1,363	13.0	12.6	14.8	

Adult Infectious Disease - Rural

December 27, 2023

Access Analysis

Adult_Infectious Disease_Rural

Member / Provider Groups

Adult Rural Members (NORTH_RURAL) Adult_Infectious Disease (NORTH_RURAL)

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ad	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Banks, GA	391	Adult_Infectio	1 in 45 miles	0		308	78.8	83	21.2	35.8			
Chattooga, GA	424	Adult_Infectio	1 in 45 miles	0		0	0.0	424	100.0	79.9			
Dade, GA	184	Adult_Infectio	1 in 45 miles	0		0	0.0	184	100.0	92.5			
Dawson, GA	341	Adult_Infectio	1 in 45 miles	0		341	100.0	0	0.0	15.0			
Elbert, GA	303	Adult_Infectio	1 in 45 miles	0		0	0.0	303	100.0	72.0			
Fannin, GA	352	Adult_Infectio	1 in 45 miles	0		257	73.0	95	27.0	40.8			
Franklin, GA	568	Adult_Infectio	1 in 45 miles	0		70	12.3	498	87.7	51.1			
Gilmer, GA	378	Adult_Infectio	1 in 45 miles	0		377	99.7	1	0.3	35.2			
Habersham, GA	471	Adult_Infectio	1 in 45 miles	0		471	100.0	0	0.0	27.3			
Hart, GA	304	Adult_Infectio	1 in 45 miles	0		0	0.0	304	100.0	62.1			
Lumpkin, GA	263	Adult_Infectio	1 in 45 miles	1	263.0	263	100.0	0	0.0	5.5			
Madison, GA	444	Adult_Infectio	1 in 45 miles	0		0	0.0	444	100.0	60.6			
Morgan, GA	286	Adult_Infectio	1 in 45 miles	0		0	0.0	286	100.0	75.1			
Murray, GA	585	Adult_Infectio	1 in 45 miles	0		7	1.2	578	98.8	54.2			
Oconee, GA	200	Adult_Infectio	1 in 45 miles	0		0	0.0	200	100.0	61.8			
Oglethorpe, GA	260	Adult_Infectio	1 in 45 miles	0		0	0.0	260	100.0	72.3			
Polk, GA	788	Adult_Infectio	1 in 45 miles	0		0	0.0	788	100.0	82.0			
Rabun, GA	191	Adult_Infectio	1 in 45 miles	0		36	18.8	155	81.2	49.5			
Stephens, GA	462	Adult_Infectio	1 in 45 miles	0		442	95.7	20	4.3	39.3			
Towns, GA	178	Adult_Infectio	1 in 45 miles	0		178	100.0	0	0.0	35.0			
Union, GA	336	Adult_Infectio	1 in 45 miles	0		336	100.0	0	0.0	26.0			
White, GA	311	Adult_Infectio	1 in 45 miles	0		311	100.0	0	0.0	16.8			
Grand Totals	8 020	Adult_Infecti	1 in 45 miles	1	8,020.0	3,397	42.4	4,623	57.6	50.5			
Giana Totals	0,020	Addit_iiiiecti	1 111 43 1111165	•	8,020.0	3,391	42.4	4,023	37.0	30.3			

Adult General Surgery - Urban

December 27, 2023

Access Analysis
Adult_General Surgery_Urban

Member / Provider Groups
Adult Urban Members
(NORTH_URBAN)
Adult_General Surgery
(NORTH_URBAN)

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	ccess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Catoosa, GA	539	Adult_Genera	1 in 30 miles	12	44.9	539	100.0	0	0.0	2.9	3.0			
Clarke, GA	1,311	Adult_Genera	1 in 30 miles	74		1,311	100.0	0	0.0	2.9				
Floyd, GA	1,306	Adult_Genera	1 in 30 miles	21	62.2	1,306	100.0	0	0.0	4.1	4.5			
Gordon, GA	831	Adult_Genera	1 in 30 miles	0		781	94.0	50	6.0	21.4	21.6			
Hall, GA	2,568	Adult_Genera	1 in 30 miles	92	27.9	2,568	100.0	0	0.0	4.8	4.9			
Jackson, GA	1,143	Adult_Genera	1 in 30 miles	8	142.9	1,143	100.0	0	0.0	4.1	4.3			
Walker, GA	1,076	Adult_Genera	1 in 30 miles	0		1,076	100.0	0	0.0	8.4	8.8			
Whitfield, GA	1,681	Adult_Genera	1 in 30 miles	12	140.1	1,681	100.0	0	0.0	5.0	5.1			
Grand Totals	10,455	Adult_Gener	1 in 30 miles	219	47.7	10,405	99.5	50	0.5	6.0	6.2			
© 2023 Quest Analytics 11 C														

Adult General Surgery - Rural

December 27, 2023

Access Analysis

Adult_General Surgery_Rural

Member / Provider Groups

Adult Rural Members (NORTH_RURAL) Adult_General Surgery (NORTH_RURAL)

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Banks, GA	391	Adult_Genera	1 in 45 miles	0		391	100.0	0	0.0	14.7	16.2
Chattooga, GA	424	Adult_Genera	1 in 45 miles	0		424	100.0	0	0.0	31.1	32.8
Dade, GA	184	Adult_Genera	1 in 45 miles	2	92.0	184	100.0	0	0.0	9.1	10.3
Dawson, GA	341	Adult_Genera	1 in 45 miles	2		341	100.0	0	0.0	7.4	7.4
Elbert, GA	303	Adult_Genera	1 in 45 miles	1	303.0	303	100.0	0	0.0	5.6	17.1
Fannin, GA	352	Adult_Genera	1 in 45 miles	10	35.2	352	100.0	0	0.0	4.7	5.1
Franklin, GA		Adult_Genera	1 in 45 miles	6			100.0	0	0.0	5.5	5.5
Gilmer, GA		Adult_Genera	1 in 45 miles	6	63.0		100.0	0	0.0	4.1	5.1
Habersham, GA	471	Adult_Genera	1 in 45 miles	4	117.8	471		0	0.0	5.1	5.9
Hart, GA	304	Adult_Genera	1 in 45 miles	4	76.0	304		0	0.0	3.4	3.9
Lumpkin, GA	263	Adult_Genera	1 in 45 miles	6	43.8	263	100.0	0	0.0	5.4	5.5
Madison, GA	444	Adult_Genera	1 in 45 miles	0		444	100.0	0	0.0	16.3	16.3
Morgan, GA		Adult_Genera	1 in 45 miles	3			100.0	0	0.0	5.4	6.1
Murray, GA		Adult_Genera	1 in 45 miles	2 9	292.5		100.0	0	0.0	5.1	14.7
Oconee, GA		Adult_Genera	1 in 45 miles			200	100.0	0	0.0	5.2	6.9
Oglethorpe, GA		Adult_Genera	1 in 45 miles	0		260		0	0.0		17.7
Polk, GA	788	Adult_Genera	1 in 45 miles	0		307	39.0	481	61.0	48.3	61.7
Rabun, GA		Adult_Genera	1 in 45 miles	3	63.7	191	100.0	0	0.0	5.2	5.2
Stephens, GA		Adult_Genera	1 in 45 miles	3	154.0	462		0	0.0	3.6	4.6
Towns, GA		Adult_Genera	1 in 45 miles	2	89.0	178	100.0	0	0.0	4.9	6.6
Union, GA		Adult_Genera	1 in 45 miles	7	48.0	336	100.0	0	0.0	6.5	6.5
White, GA	311	Adult_Genera	1 in 45 miles	0		311	100.0	0	0.0	10.6	12.8
Grand Totals	8.020	Adult_Gener	1 in 45 miles	70	114.6	7,539	94.0	481	6.0	12.5	15.6
	0,020			. •		1,000	0 110		0.0		

Adult Neurology- Urban

December 27, 2023

Access Analysis
Adult_Neurology - Urban

Member / Provider Groups

Adult Urban Members (NORTH_URBAN) Adult_Neurology (NORTH_URBAN)

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Catoosa, GA	539	Adult_Neurol	1 in 30 miles	2	269.5	539	100.0	0	0.0	4.8	11.4
Clarke, GA	1,311	Adult_Neurol	1 in 30 miles	92	14.3		100.0	0	0.0	3.5	3.6
Floyd, GA	1,306	Adult_Neurol	1 in 30 miles	14	93.3	1,306	100.0		0.0	4.1	5.0
Gordon, GA	831	Adult_Neurol	1 in 30 miles	0		781	94.0		6.0		22.0
Hall, GA			1 in 30 miles	43	59.7		100.0		0.0		6.4
Jackson, GA			1 in 30 miles	0			100.0		0.0	9.3	9.7
Walker, GA			1 in 30 miles	0			100.0	0	0.0		13.0
Whitfield, GA	1,681	Adult_Neurol	1 in 30 miles	9	186.8	1,681	100.0	0	0.0	5.2	5.3
Grand Totals	10,455	Adult_Neurol	1 in 30 miles	160	65.3	10,405	99.5	50	0.5	7.5	8.2
© 2023 Quest Analytics 11 C		l		L							

Adult Neurology - Rural

December 27, 2023

Access Analysis Adult_Neurology - Rural

Member / Provider Groups
Adult Rural Members
(NORTH_RURAL)

Adult_Neurology (NORTH_RURAL)

			Members W	ith and W	ithout Acces	S					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Banks, GA	391	Adult_Neurol	1 in 45 miles	0		391	100.0	0	0.0	17.6	18.1
Chattooga, GA	424	Adult_Neurol	1 in 45 miles	0		414	97.6	10	2.4	37.5	52.9
Dade, GA	184	Adult_Neurol	1 in 45 miles	0		0	0.0	184	100.0	61.2	61.5
Dawson, GA	341	Adult_Neurol	1 in 45 miles	1	341.0	341	100.0	0	0.0	7.5	15.3
Elbert, GA	303	Adult_Neurol	1 in 45 miles	0		299	98.7	4	1.3	31.2	41.0
Fannin, GA	352	Adult_Neurol	1 in 45 miles	0		352	100.0	0	0.0	23.5	24.5
Franklin, GA	568	Adult_Neurol	1 in 45 miles	1	568.0	568		0	0.0	9.5	32.4
Gilmer, GA	378	Adult_Neurol	1 in 45 miles	12	31.5	378	100.0	0	0.0	6.2	6.2
Habersham, GA	471	Adult_Neurol	1 in 45 miles	3	157.0	471	100.0	0	0.0	5.9	5.9
Hart, GA	304	Adult_Neurol	1 in 45 miles	0		304	100.0	0	0.0	15.5	42.5
Lumpkin, GA	263	Adult_Neurol	1 in 45 miles	1	263.0	263	100.0	0	0.0	5.5	13.9
Madison, GA	444	Adult_Neurol	1 in 45 miles	0		444	100.0	0	0.0	20.7	22.7
Morgan, GA	286	Adult_Neurol	1 in 45 miles	0		286	100.0	0	0.0	20.6	21.3
Murray, GA	585	Adult_Neurol	1 in 45 miles	0		585	100.0	0	0.0	22.7	22.7
Oconee, GA	200	Adult_Neurol	1 in 45 miles	6	33.3	200	100.0	0	0.0	5.4	5.7
Oglethorpe, GA	260	Adult_Neurol	1 in 45 miles	0		260	100.0	0	0.0	17.2	17.3
Polk, GA	788	Adult_Neurol	1 in 45 miles	1	788.0	788	100.0	0	0.0	8.2	67.3
Rabun, GA	191	Adult_Neurol	1 in 45 miles	0		191	100.0	0	0.0	21.8	25.3
Stephens, GA	462	Adult_Neurol	1 in 45 miles	0		462	100.0	0	0.0	13.0	14.9
Towns, GA	178	Adult_Neurol	1 in 45 miles	1	178.0	178	100.0	0	0.0	5.5	31.7
Union, GA	336	Adult_Neurol	1 in 45 miles	0		336	100.0	0	0.0	18.1	26.1
White, GA	311	Adult_Neurol	1 in 45 miles	0		311	100.0	0	0.0	12.8	14.2
Grand Totals	9 020	Adult_Neurol	1 in 45 miles	26	308.5	7,822	97.5	198	2.5	16.5	28.2
Grand Totals	0,020	Aduit_Neuroi	1 in 45 miles	26	300.5	7,022	97.5	190	2.5	16.5	20.2

Adult Ophthalmology - Urban

December 27, 2023

Access Analysis
Adult_Ophthalmology- Urban

Member / Provider Groups

Adult Urban Members
(NORTH_URBAN)

Adult_Ophthalmology

			Members W	ith and W	ithout Acces	S					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Catoosa, GA	539	Adult_Ophtha	1 in 30 miles	2	269.5	539	100.0	0	0.0	6.2	6.6
Clarke, GA	1,311	Adult_Ophtha	1 in 30 miles	12	109.3	1,311	100.0	0	0.0	4.3	4.3
Floyd, GA	1,306	Adult_Ophtha	1 in 30 miles	8	163.3	1,306	100.0	0	0.0	5.5	5.5
Gordon, GA	831	Adult_Ophtha	1 in 30 miles	0		831	100.0	0	0.0	17.3	17.3
Hall, GA	2,568	Adult_Ophtha	1 in 30 miles	10	256.8	2,568	100.0	0	0.0	6.3	6.3
Jackson, GA	1,143	Adult_Ophtha	1 in 30 miles	1	1,143.0	1,143	100.0	0	0.0	6.3	9.9
Walker, GA	1,076	Adult_Ophtha	1 in 30 miles	0		1,076	100.0	0	0.0	8.5	9.0
Whitfield, GA			1 in 30 miles	6	280.2		100.0		0.0	4.6	4.7
Grand Totals	10,455	Adult_Ophth	1 in 30 miles	39	268.1	10,455	100.0	0	0.0	6.8	7.2

Adult Ophthalmology - Rural

December 27, 2023

Access Analysis
Adult_Ophthalmology - Rural
Member / Provider Groups
Adult Rural Members

(NORTH_RURAL)
Adult_Ophthalmology

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Banks, GA	391	Adult_Ophtha	1 in 45 miles	0		391	100.0	0	0.0	8.6	18.1			
Chattooga, GA	424	Adult_Ophtha	1 in 45 miles	0		424	100.0	0	0.0		22.1			
Dade, GA	184	Adult_Ophtha	1 in 45 miles	0		184	100.0	0	0.0	18.4	19.0			
Dawson, GA	341	Adult_Ophtha	1 in 45 miles	0		341	100.0	0	0.0		17.0			
Elbert, GA	303	Adult_Ophtha	1 in 45 miles	0		303	100.0	0	0.0	26.9	29.8			
Fannin, GA	352	Adult_Ophtha	1 in 45 miles	0				0	0.0	-	32.5			
Franklin, GA	568	Adult_Ophtha	1 in 45 miles	2	284.0	568	100.0	0	0.0	9.3	9.5			
Gilmer, GA	378	Adult_Ophtha	1 in 45 miles	0		378	100.0	0	0.0	20.8	20.8			
Habersham, GA	471	Adult_Ophtha	1 in 45 miles	1	471.0	471	100.0	0	0.0	5.9	26.7			
Hart, GA	304	Adult_Ophtha	1 in 45 miles	0		304	100.0	0	0.0	14.2	14.2			
Lumpkin, GA	263	Adult_Ophtha	1 in 45 miles	0		263	100.0	0	0.0	22.0	22.5			
Madison, GA	444	Adult_Ophtha	1 in 45 miles	0		444	100.0	0	0.0	15.0	16.9			
Morgan, GA	286	Adult_Ophtha	1 in 45 miles	0		286	100.0	0	0.0	17.6	17.7			
Murray, GA	585	Adult_Ophtha	1 in 45 miles	4	146.3	585	100.0	0	0.0	5.2	5.8			
Oconee, GA	200	Adult Ophtha	1 in 45 miles	2	100.0	200	100.0	0	0.0	7.1	7.1			
Oglethorpe, GA	260	Adult Ophtha	1 in 45 miles	0		260	100.0	0	0.0	15.7	16.0			
Polk, GA			1 in 45 miles	0		788	100.0	0	0.0	19.0	19.5			
Rabun, GA			1 in 45 miles	0		191	100.0	0	0.0		40.8			
Stephens, GA	462		1 in 45 miles	0		462	100.0	0	0.0		18.5			
Towns, GA			1 in 45 miles	0		161	90.4	17	9.6		44.0			
Union, GA		Adult_Ophtha	1 in 45 miles	0		286	85.1	50	14.9	41.6	41.6			
White, GA		Adult Ophtha	1 in 45 miles	0		311	100.0	0	0.0		20.7			
,									9.0					
Grand Totals	8,020	Adult_Ophth	1 in 45 miles	9	891.1	7,953	99.2	67	0.8	17.4	20.4			

Adult Orthopedics - Urban

December 27, 2023

Access Analysis

Adult_Orhopedics- Urban

Member / Provider Groups

Adult Urban Members
(NORTH_URBAN)

Adult_Orthopedics

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Catoosa, GA	539	Adult_Orthop	1 in 30 miles	6	89.8	539	100.0	0	0.0	3.0	3.9
Clarke, GA	1,311	Adult_Orthop	1 in 30 miles	31	42.3	1,311	100.0	0	0.0	1.7	2.5
Floyd, GA	1,306	Adult_Orthop	1 in 30 miles	17	76.8	1,306	100.0	0	0.0	4.4	4.5
Gordon, GA	831	Adult_Orthop	1 in 30 miles	0		831	100.0	0	0.0	10.7	16.8
Hall, GA	2,568	Adult_Orthop	1 in 30 miles	74	34.7	2,568	100.0	0	0.0	4.3	5.1
Jackson, GA	1,143	Adult_Orthop	1 in 30 miles	1	1,143.0	1,143	100.0	0	0.0	4.4	8.5
Walker, GA	1,076	Adult_Orthop	1 in 30 miles	1	1,076.0	1,076	100.0	0	0.0	7.5	8.3
Whitfield, GA	1,681	Adult_Orthop	1 in 30 miles	14	120.1		100.0		0.0	4.5	4.5
Grand Totals	10,455	Adult_Ortho	1 in 30 miles	144	72.6	10,455	100.0	0	0.0	4.8	6.2
		-	-	-			-				

Adult Orthopedics - Rural

December 27, 2023

Access Analysis
Adult_Orhopedics- Rural
Member / Provider Groups
Adult Rural Members
(NORTH_RURAL)

Adult_Orthopedics

			Members W	ith and W	ithout Acces	S					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Banks, GA	391	Adult_Orthop	1 in 45 miles	1	391.0	391	100.0	0	0.0	7.7	13.0
Chattooga, GA	424	Adult_Orthop	1 in 45 miles	0		424	100.0	0	0.0	5.6	22.2
Dade, GA	184	Adult_Orthop	1 in 45 miles	0		184	100.0	0	0.0	17.1	17.6
Dawson, GA	341	Adult_Orthop	1 in 45 miles	8	42.6	341	100.0	0	0.0	6.1	6.5
Elbert, GA	303	Adult_Orthop	1 in 45 miles	3	101.0	303	100.0	0	0.0	5.5	5.6
Fannin, GA	352	Adult_Orthop	1 in 45 miles	3	117.3		100.0	0	0.0	5.6	7.0
Franklin, GA	568	Adult_Orthop	1 in 45 miles	9	63.1	568	100.0	0	0.0	5.4	5.5
Gilmer, GA	378	Adult_Orthop	1 in 45 miles	1	378.0	378	100.0	0	0.0	5.9	14.7
Habersham, GA	471	Adult_Orthop	1 in 45 miles	8	58.9	471	100.0	0	0.0	4.3	5.7
Hart, GA	304	Adult_Orthop	1 in 45 miles	4	76.0	304	100.0	0	0.0	3.5	3.5
Lumpkin, GA	263	Adult_Orthop	1 in 45 miles	6	43.8	263	100.0	0	0.0	4.4	4.6
Madison, GA	444	Adult_Orthop	1 in 45 miles	0		444	100.0	0	0.0	12.1	12.6
Morgan, GA	286	Adult_Orthop	1 in 45 miles	2	143.0	286	100.0	0	0.0	5.2	5.4
Murray, GA	585	Adult_Orthop	1 in 45 miles	3	195.0	585	100.0	0	0.0	5.4	5.5
Oconee, GA	200	Adult_Orthop	1 in 45 miles	23	8.7	200	100.0	0	0.0	4.0	6.0
Oglethorpe, GA	260	Adult_Orthop	1 in 45 miles	0		260	100.0	0	0.0	10.1	12.2
Polk, GA	788	Adult_Orthop	1 in 45 miles	0		788	100.0	0	0.0	18.8	18.9
Rabun, GA	191	Adult_Orthop	1 in 45 miles	8	23.9	191	100.0	0	0.0	3.6	4.2
Stephens, GA	462	Adult_Orthop	1 in 45 miles	3	154.0	462	100.0	0	0.0	3.7	4.3
Towns, GA	178	Adult_Orthop	1 in 45 miles	0		178	100.0	0	0.0	9.7	13.0
Union, GA	336	Adult_Orthop	1 in 45 miles	3	112.0	336	100.0	0	0.0	5.5	6.7
White, GA	311	Adult_Orthop	1 in 45 miles	2	155.5	311	100.0	0	0.0	6.2	6.4
Grand Totals	0.020	Adult Ortho	1 in 45 miles	07	92.2	9 020	400.0	0	0.0	7.5	9.6
Grand Totals	8,020	Adult_Ortho	1 in 45 miles	87	92.2	8,020	100.0	U	0.0	7.5	9.6

Adult Optometry - Urban

December 27, 2023

Access Analysis
Adult_Optometry - Urban

Member / Provider Groups
Adult Urban Members
(NORTH_URBAN)
Adult_Optometry

County	Member #	Pro	ovider								
•	#		Videi	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance
		Group	Standard	#	to Providers	#	%	#	%	1	2
Catoosa, GA	539	Adult_Optom	1 in 30 miles	6	89.8	539	100.0	0	0.0	5.8	5.8
Clarke, GA	1,311	Adult_Optom	1 in 30 miles	6	218.5	1,311	100.0	0	0.0	2.2	2.8
Floyd, GA	1,306	Adult_Optom	1 in 30 miles	3	435.3	1,306	100.0	0	0.0	5.8	5.8
Gordon, GA	831	Adult_Optom	1 in 30 miles	0		831	100.0	0	0.0	17.7	19.5
Hall, GA	2,568	Adult_Optom	1 in 30 miles	6	428.0	2,568	100.0	0	0.0	6.0	6.6
Jackson, GA	1,143	Adult_Optom	1 in 30 miles	6	190.5	1,143	100.0	0	0.0	4.3	6.5
Walker, GA	1,076	Adult_Optom	1 in 30 miles	0		1,076	100.0	0	0.0	8.2	8.4
Whitfield, GA			1 in 30 miles	5	336.2		100.0		0.0	4.2	5.2
Grand Totals	10,455	Adult_Opto	1 in 30 miles	32	326.7	10,455	100.0	0	0.0	6.2	7.0

Adult Optometry - Rural

December 27, 2023

Access Analysis
Adult_Optometry - Rural
Member / Provider Groups

Adult Rural Members (NORTH_RURAL) Adult_Optometry

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Banks, GA	391	Adult_Optom	1 in 45 miles	0		391	100.0	0	0.0	12.3	13.2
Chattooga, GA	424	Adult_Optom	1 in 45 miles	0		424	100.0	0	0.0	21.6	21.6
Dade, GA		Adult_Optom	1 in 45 miles	2			100.0	0	0.0	5.3	
Dawson, GA		Adult_Optom	1 in 45 miles	4	85.3		100.0	0	0.0		4.8
Elbert, GA	303	Adult_Optom	1 in 45 miles	0		303	100.0	0	0.0	29.2	
Fannin, GA		Adult_Optom	1 in 45 miles	0		352		0	0.0		
Franklin, GA	568	Adult_Optom	1 in 45 miles	2		568	100.0	0	0.0	9.2	9.3
Gilmer, GA	378	Adult_Optom	1 in 45 miles	3	126.0	378	100.0	0	0.0	6.3	6.4
Habersham, GA		Adult_Optom	1 in 45 miles	0		471		0	0.0	14.6	22.9
Hart, GA	304	Adult_Optom	1 in 45 miles	0		304	100.0	0	0.0	14.2	
Lumpkin, GA	263	Adult_Optom	1 in 45 miles	3	87.7	263	100.0	0	0.0	5.3	5.5
Madison, GA		Adult_Optom	1 in 45 miles	0		444	100.0	0	0.0	13.4	13.4
Morgan, GA	286	Adult_Optom	1 in 45 miles	0			100.0	0	0.0	18.1	18.2
Murray, GA	585	Adult_Optom	1 in 45 miles	7		585	100.0	0	0.0	5.3	5.4
Oconee, GA	200	Adult_Optom	1 in 45 miles	2	100.0	200	100.0	0	0.0	5.9	7.2
Oglethorpe, GA	260	Adult_Optom	1 in 45 miles	0		260	100.0	0	0.0	10.7	10.7
Polk, GA	788	Adult_Optom	1 in 45 miles	0		788	100.0	0	0.0	18.9	19.2
Rabun, GA	191	Adult_Optom	1 in 45 miles	3	63.7	191	100.0	0	0.0	5.3	5.3
Stephens, GA		Adult_Optom	1 in 45 miles	1	462.0	462	100.0	0	0.0	4.2	18.3
Towns, GA		Adult_Optom	1 in 45 miles	0		178	100.0	0	0.0	-	24.0
Union, GA	336	Adult_Optom	1 in 45 miles	0		336	100.0	0	0.0	24.7	25.0
White, GA	311	Adult_Optom	1 in 45 miles	0		311	100.0	0	0.0	16.1	16.1
Grand Totals	8 020	Adult_Opto	1 in 45 miles	27	297.0	8,020	100.0	0	0.0	13.4	14.8
Giana Totals	0,020	Addit_Opto	1 111 45 1111165	21	297.0	0,020	100.0		0.0	13.4	14.0

Adult Urology - Urban

December 27, 2023

Access Analysis
Adult_Urology- Urban

Member / Provider Groups

Adult Urban Members
(NORTH_URBAN)

Adult_Urology

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Catoosa, GA	539	Adult_Urology	1 in 30 miles	0		539	100.0	0	0.0	11.4	11.4
Clarke, GA		Adult_Urology	1 in 30 miles	16			100.0	0	0.0		3.6
Floyd, GA		Adult_Urology	1 in 30 miles	5			100.0	0	0.0		5.4
Gordon, GA		Adult_Urology	1 in 30 miles	0			100.0	0	0.0		19.6
Hall, GA		Adult_Urology	1 in 30 miles	31	82.8		100.0				5.6
Jackson, GA		Adult_Urology	1 in 30 miles	0			100.0	0	0.0		9.9
Walker, GA		Adult_Urology	1 in 30 miles	0			100.0	0	0.0		12.4
Whitfield, GA	1,681	Adult_Urology	1 in 30 miles	2	840.5	1,681	100.0	0	0.0	5.5	5.5
Grand Totals	10,455	Adult_Urology	1 in 30 miles	54	193.6	10,455	100.0	0	0.0	7.7	7.9

Adult Urology - Rural

December 27, 2023

Access Analysis

Adult_Urology- Rural

Member / Provider Groups

Adult Rural Members
(NORTH_RURAL)

Adult_Urology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Banks, GA	391	Adult_Urology	1 in 45 miles	0		391	100.0	0	0.0	18.2	18.3		
Chattooga, GA	424	Adult_Urology	1 in 45 miles	0		424	100.0	0	0.0	22.2	24.1		
Dade, GA		Adult_Urology	1 in 45 miles	0			100.0	0	0.0				
Dawson, GA		Adult_Urology	1 in 45 miles	0			100.0	0	0.0	_			
Elbert, GA	303	Adult_Urology	1 in 45 miles	0		303		0	0.0		22.1		
Fannin, GA		Adult_Urology	1 in 45 miles	0			100.0	0	0.0		23.2		
Franklin, GA	568	Adult_Urology	1 in 45 miles	4	142.0		100.0	0	0.0	10.0	10.0		
Gilmer, GA	378	Adult_Urology	1 in 45 miles	2		378	100.0	0	0.0	6.2	6.2		
Habersham, GA	471	Adult_Urology	1 in 45 miles	0		471	100.0	0	0.0	22.1	28.3		
Hart, GA	304	Adult_Urology	1 in 45 miles	0		304	100.0	0	0.0				
Lumpkin, GA	263	Adult_Urology	1 in 45 miles	0		263	100.0	0	0.0	21.2	21.6		
Madison, GA	444	Adult_Urology	1 in 45 miles	0		444		0	0.0	_	13.4		
Morgan, GA	286	Adult_Urology	1 in 45 miles	1	286.0		100.0	0	0.0	5.9	16.8		
Murray, GA	585	Adult_Urology	1 in 45 miles	0		585	100.0	0	0.0	13.9			
Oconee, GA		Adult_Urology	1 in 45 miles	9	22.2	200	100.0	0	0.0	6.4	6.5		
Oglethorpe, GA		Adult_Urology	1 in 45 miles	0		260	100.0	0	0.0	-	15.0		
Polk, GA	788	Adult_Urology	1 in 45 miles	0		788	100.0	0	0.0	18.7	18.7		
Rabun, GA	191	Adult_Urology	1 in 45 miles	1	191.0	191	100.0	0	0.0	6.4	23.2		
Stephens, GA	462	Adult_Urology	1 in 45 miles	0		462	100.0	0	0.0	22.9	26.5		
Towns, GA		Adult_Urology	1 in 45 miles	4	44.5	178	100.0	0	0.0	4.9	7.1		
Union, GA	336	Adult_Urology	1 in 45 miles	0		336	100.0	0	0.0	10.6	16.6		
White, GA	311	Adult_Urology	1 in 45 miles	0		311	100.0	0	0.0	19.5	19.8		
Grand Totals	8.020	Adult_Urology	1 in 45 miles	21	381.9	8,020	100.0	0	0.0	15.6	17.7		
Grana rotalo	0,020	Addit_Grology	1 111 40 1111100		001.0	0,020	100.0	J	0.0	10.0	.,,,		

Adult Vascular Surgery - Urban

December 27, 2023

Access Analysis
Adult_Vascular Surgery- Urban

Member / Provider Groups

Adult Urban Members
(NORTH_URBAN)

Adult_Vascular Surgery

Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Catoosa, GA	539	Adult_Vascula	1 in 30 miles	0		539	100.0	0	0.0	9.6	9.7		
Clarke, GA	1,311	Adult_Vascula	1 in 30 miles	15	87.4	1,311	100.0	0	0.0	3.6			
Floyd, GA	1,306	Adult_Vascula	1 in 30 miles	8	163.3	1,306	100.0	0	0.0	4.7	4.7		
Gordon, GA	831	Adult_Vascula	1 in 30 miles	0			100.0		0.0	18.0			
Hall, GA	2,568	Adult_Vascula	1 in 30 miles	15	171.2	2,568	100.0	0	0.0	6.3	6.5		
Jackson, GA	1,143	Adult_Vascula	1 in 30 miles	8			100.0		0.0	3.9	4.6		
Walker, GA	1,076	Adult_Vascula	1 in 30 miles	0		1,076	100.0	0	0.0	10.6	10.8		
Whitfield, GA	1,681	Adult_Vascula	1 in 30 miles	4	420.3	1,681	100.0	0	0.0	4.8	5.4		
Grand Totals	10,455	Adult_Vascul	1 in 30 miles	50	209.1	10,455	100.0	0	0.0	6.8	7.2		
© 2023 Quest Analytics 11 C		i			L								

Adult Vascular Surgery - Rural

December 27, 2023

Access Analysis

Adult_Vascular Surgery- Rural

Member / Provider Groups

Adult Rural Members (NORTH_RURAL) Adult_Vascular Surgery

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Banks, GA	391	Adult_Vascula	1 in 45 miles	0		391	100.0	0	0.0	12.2	12.2		
Chattooga, GA		Adult_Vascula	1 in 45 miles	2	212.0	424	100.0	0	0.0	5.6			
Dade, GA		Adult_Vascula	1 in 45 miles	0			100.0	0	0.0				
Dawson, GA		Adult_Vascula	1 in 45 miles	0			100.0	0	0.0		12.7		
Elbert, GA		Adult_Vascula	1 in 45 miles	0		303	100.0	0	0.0	31.7	33.8		
Fannin, GA		Adult_Vascula	1 in 45 miles	1	352.0	352		0	0.0	6.9	17.5		
Franklin, GA	568	Adult_Vascula	1 in 45 miles	0		568	100.0	0	0.0	19.5	19.5		
Gilmer, GA	378	Adult_Vascula	1 in 45 miles	4	94.5	378	100.0	0	0.0	5.2	6.9		
Habersham, GA		Adult_Vascula	1 in 45 miles	0		471		0	0.0	15.4	15.4		
Hart, GA	304	Adult_Vascula	1 in 45 miles	0		304	100.0	0	0.0	24.9			
Lumpkin, GA	263	Adult_Vascula	1 in 45 miles	2	131.5	263	100.0	0	0.0	5.5	5.5		
Madison, GA	444	Adult_Vascula	1 in 45 miles	0		444	100.0	0	0.0	15.2			
Morgan, GA	286	Adult_Vascula	1 in 45 miles	0			100.0	0	0.0	18.4	23.8		
Murray, GA	585	Adult_Vascula	1 in 45 miles	0		585	100.0	0	0.0	13.5	13.9		
Oconee, GA	200	Adult_Vascula	1 in 45 miles	5	40.0	200	100.0	0	0.0	6.9	6.9		
Oglethorpe, GA	260	Adult_Vascula	1 in 45 miles	0		260	100.0	0	0.0	15.0	15.4		
Polk, GA	788	Adult_Vascula	1 in 45 miles	0		788	100.0	0	0.0	18.8	18.9		
Rabun, GA	191	Adult_Vascula	1 in 45 miles	0		191	100.0	0	0.0		23.8		
Stephens, GA	462	Adult_Vascula	1 in 45 miles	3	154.0	462	100.0	0	0.0	4.0	4.0		
Towns, GA		Adult_Vascula	1 in 45 miles	0		178	100.0	0	0.0	12.8	13.1		
Union, GA	336	Adult_Vascula	1 in 45 miles	7	48.0	336	100.0	0	0.0	5.8	6.8		
White, GA	311	Adult_Vascula	1 in 45 miles	0		311	100.0	0	0.0	16.6	16.6		
Grand Totals	8 020	Adult_Vascul	1 in 45 miles	24	334.2	8,020	100 0	0	0.0	14.0	15.2		
Grand Totals	0,020	Addit_Vascui	1 111 43 1111163	2-7	334.2	0,020	100.0		0.0	14.0	13.2		

Audiology- Urban

December 27, 2023

Access Analysis
Audiology- Urban

Member / Provider Groups
Urban Members
(NORTH_URBAN)
Audiology

Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance													
	Member	Pr	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Catoosa, GA	2,143	Audiology	1 in 30 miles	0		2,143	100.0	0	0.0	19.1	19.1		
Clarke, GA	5,693	Audiology	1 in 30 miles	3		5,693	100.0	0	0.0	3.8	4.0		
Floyd, GA	6,354	Audiology	1 in 30 miles	2	3,177.0	6,354	100.0	0	0.0	5.3	5.3		
Gordon, GA	3,913	Audiology	1 in 30 miles	0		3,913	100.0	0	0.0	20.1	20.1		
Hall, GA	13,461	Audiology	1 in 30 miles	4	3,365.3	13,461	100.0	0	0.0	5.5	7.3		
Jackson, GA	5,444	Audiology	1 in 30 miles	0			100.0		0.0		15.8		
Walker, GA	4,326	Audiology	1 in 30 miles	0		4,306	99.5	20	0.5	23.8	23.8		
Whitfield, GA	9,145	Audiology	1 in 30 miles	2	4,572.5	9,145	100.0	0	0.0	5.1	5.1		
Grand Totals	50,479	Audiology	1 in 30 miles	11	4,589.0	50,459	99.9	20	0.1	9.1	10.1		
© 2023 Quest Analytics, LLC.			•										

Audiology - Rural

December 27, 2023

Access Analysis
Audiology- Rural

Member / Provider Groups
Rural Members
(NORTH_RURAL)
Audiology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	P	rovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Banks, GA	1,726	Audiology	1 in 45 miles	0		1,726	100.0	0	0.0	15.6	17.1	
Chattooga, GA	1,894	Audiology	1 in 45 miles	0		1,894	100.0	0	0.0	23.2	23.2	
Dade, GA		Audiology	1 in 45 miles	0		825	100.0	0	0.0	32.9	32.9	
Dawson, GA	1,457	Audiology	1 in 45 miles	1	1,457.0	1,457	100.0	0	0.0	7.5	7.5	
Elbert, GA	1,349	Audiology	1 in 45 miles	0		1,295	96.0	54	4.0	35.9	36.0	
Fannin, GA	,	Audiology	1 in 45 miles	0		1,505	97.2	43	2.8		39.6	
Franklin, GA	2,326	Audiology	1 in 45 miles	0		2,326	100.0	0	0.0	30.7	33.0	
Gilmer, GA	1,854	Audiology	1 in 45 miles	0		1,854	100.0	0	0.0	29.5	29.5	
Habersham, GA		Audiology	1 in 45 miles	2	1,004.0	2,008		0	0.0	5.2	9.4	
Hart, GA	1,295	Audiology	1 in 45 miles	0		1,152	89.0	143	11.0	42.1	45.3	
Lumpkin, GA	1,041	Audiology	1 in 45 miles	0		1,041	100.0	0	0.0	13.6	13.9	
Madison, GA	2,192	Audiology	1 in 45 miles	0		2,192	100.0	0	0.0	16.8	16.9	
Morgan, GA	1,210	Audiology	1 in 45 miles	0		1,210	100.0	0	0.0	20.9	20.9	
Murray, GA	2,883	Audiology	1 in 45 miles	0		2,883	100.0	0	0.0	13.8	13.8	
Oconee, GA	998	Audiology	1 in 45 miles	0		998	100.0	0	0.0	9.9	10.2	
Oglethorpe, GA	1,199	Audiology	1 in 45 miles	0		1,199	100.0	0	0.0		14.5	
Polk, GA	3,804	Audiology	1 in 45 miles	0		3,804	100.0	0	0.0	19.7	19.8	
Rabun, GA	924	Audiology	1 in 45 miles	0		924	100.0	0	0.0		30.3	
Stephens, GA	1,916	Audiology	1 in 45 miles	0		1,916	100.0	0	0.0	14.8	19.7	
Towns, GA	681	Audiology	1 in 45 miles	0		681	100.0	0	0.0	30.8	34.9	
Union, GA	1,459	Audiology	1 in 45 miles	0		1,459	100.0	0	0.0	35.3	36.0	
White, GA	1,254	Audiology	1 in 45 miles	0		1,254	100.0	0	0.0	9.2	13.9	
Grand Totals	35 843	Audiology	1 in 45 miles	3	11,947.7	35,603	99.3	240	0.7	21.3	22.6	
Grand Totals	00,040	Addiology	1 111 40 1111163	Ĭ	11,547.7	33,003	33.5	2-10	0.7	21.0	22.0	

Behavioral Health - Urban

December 27, 2023

Access Analysis
Behavioral Health- Urban
Member / Provider Groups
Urban Members

(NORTH URBAN)

Behavioral Health

Members With and Without Access Member Provider Counts **With Access** Without Access Average Distance **Ratio Members** # % # # County Group Standard to Providers 1 in 30 miles 22 Catoosa, GA 2,143 Behavioral He... 97.4 2,143 100.0 0 0.0 1.5 2.1 Clarke, GA 5.693 Behavioral He... 1 in 30 miles 84 67.8 5,693 100.0 0.0 1.1 1.4 129 Floyd, GA 6,354 Behavioral He... 1 in 30 miles 49.3 6,354 100.0 0 0.0 1.8 2.5 Gordon, GA 3,913 Behavioral He... 1 in 30 miles 0 3,913 100.0 0 0.0 4.7 5.6 Hall, GA 13,461 Behavioral He... 1 in 30 miles 156 86.3 13,461 100.0 0 0.0 2.0 2.6 Jackson, GA 5,444 Behavioral He... 1 in 30 miles 29 187.7 5,444 100.0 0 0.0 2.8 3.4 Walker, GA 4,326 Behavioral He.. 1 in 30 miles 19 227.7 4,326 100.0 0 0.0 2.5 3.4 52 Whitfield, GA 9,145 Behavioral He... 1 in 30 miles 175.9 9,145 100.0 0 0.0 2.0 2.7 **Grand Totals** 50.479 Behavioral H... 1 in 30 miles 491 102.8 50.479 100.0 0.0 2.2 2.8

Behavioral Health - Rural

December 27, 2023

Access Analysis
Behavioral Health- Rural
Member / Provider Groups
Rural Members
(NORTH_RURAL)
Behavioral Health

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Banks, GA	1,726	Behavioral He	1 in 45 miles	3	575.3	1,726	100.0	0	0.0	4.8	6.6	
Chattooga, GA	1,894	Behavioral He	1 in 45 miles	37	51.2	1,894	100.0	0	0.0	2.9	3.8	
Dade, GA	825	Behavioral He	1 in 45 miles	3	275.0		100.0	0	0.0	4.3	6.9	
Dawson, GA	1,457	Behavioral He	1 in 45 miles	41	35.5	1,457		0	0.0	2.6	3.5	
Elbert, GA	1,349	Behavioral He	1 in 45 miles	5	269.8	1,349		0	0.0	4.0	5.0	
Fannin, GA	,	Behavioral He	1 in 45 miles	16	96.8	1,548		0	0.0	3.4	5.8	
Franklin, GA	2,326	Behavioral He	1 in 45 miles	7	332.3	2,326	100.0	0	0.0	5.7	7.2	
Gilmer, GA	1,854	Behavioral He	1 in 45 miles	9	206.0	1,854	100.0	0	0.0	4.2	4.7	
Habersham, GA	2,008	Behavioral He	1 in 45 miles	14	143.4	2,008		0	0.0	2.5	3.7	
Hart, GA	1,295	Behavioral He	1 in 45 miles	5	259.0	1,295	100.0	0	0.0	3.2	3.7	
Lumpkin, GA	1,041	Behavioral He	1 in 45 miles	20	52.1	1,041	100.0	0	0.0	3.1	3.6	
Madison, GA	2,192	Behavioral He	1 in 45 miles	8	274.0	2,192	100.0	0	0.0	4.2	6.7	
Morgan, GA	1,210	Behavioral He	1 in 45 miles	3	403.3	1,210	100.0	0	0.0	4.4	5.3	
Murray, GA	2,883	Behavioral He	1 in 45 miles	7	411.9	2,883	100.0	0	0.0	3.3	4.7	
Oconee, GA	998	Behavioral He	1 in 45 miles	41	24.3	998	100.0	0	0.0	2.9	3.3	
Oglethorpe, GA	1,199	Behavioral He	1 in 45 miles	2	599.5	1,199	100.0	0	0.0	5.7	7.8	
Polk, GA	3,804	Behavioral He	1 in 45 miles	22	172.9	3,804	100.0	0	0.0	2.6	2.8	
Rabun, GA	924	Behavioral He	1 in 45 miles	6	154.0	924	100.0	0	0.0	3.3	4.5	
Stephens, GA	1,916	Behavioral He	1 in 45 miles	38	50.4	1,916	100.0	0	0.0	2.2	2.4	
Towns, GA	681	Behavioral He	1 in 45 miles	23	29.6	681	100.0	0	0.0	4.1	4.4	
Union, GA	1,459	Behavioral He	1 in 45 miles	15	97.3	1,459	100.0	0	0.0	2.5	3.8	
White, GA	1,254	Behavioral He	1 in 45 miles	10	125.4	1,254	100.0	0	0.0	3.5	4.1	
Grand Totals	35,843	Behavioral H	1 in 45 miles	335	107.0	35,843	100.0	0	0.0	3.5	4.7	
		L		L								

Behavioral Health Facilities - Urban

December 27, 2023

Access Analysis

Behavioral Health Facilities-Urban

Member / Provider Groups

Urban Members (NORTH_URBAN) Behavioral Health Facilities

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Catoosa, GA	2,143	Behavioral He	1 in 30 miles	4	535.8	2,143	100.0	0	0.0	4.5	5.6
Clarke, GA	5,693	Behavioral He	1 in 30 miles	3	1,897.7	5,693	100.0	0	0.0	2.8	4.5
Floyd, GA	6,354	Behavioral He	1 in 30 miles	38	167.2	6,354	100.0	0	0.0	1.8	2.7
Gordon, GA	3,913	Behavioral He	1 in 30 miles	0		3,913	100.0	0	0.0	4.9	6.4
Hall, GA	13,461	Behavioral He	1 in 30 miles	45	299.1	13,461	100.0	0	0.0	2.7	3.6
Jackson, GA	5,444	Behavioral He	1 in 30 miles	4	1,361.0	5,444	100.0	0	0.0	5.7	6.9
Walker, GA	4,326	Behavioral He	1 in 30 miles	16	270.4	4,326	100.0	0	0.0	3.1	3.9
Whitfield, GA	9,145	Behavioral He	1 in 30 miles	23	397.6		100.0	0	0.0	2.6	3.6
Grand Totals	50,479	Behavioral H	1 in 30 miles	133	379.5	50,479	100.0	0	0.0	3.2	4.3

Behavioral Health Facilities - Rural

December 27, 2023

Access Analysis

Behavioral Health Facilities-

Member / Provider Groups

Rural Members (NORTH_RURAL) Behavioral Health Facilities

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Banks, GA	1,726	Behavioral He	1 in 45 miles	3	575.3	1,726	100.0	0	0.0	5.0	7.0		
Chattooga, GA	1,894	Behavioral He	1 in 45 miles	32	59.2	1,894	100.0	0	0.0	3.1	4.5		
Dade, GA	825	Behavioral He	1 in 45 miles	3	275.0	825	100.0	0	0.0	4.3	6.9		
Dawson, GA	1,457	Behavioral He	1 in 45 miles	13	112.1	1,457	100.0	0	0.0	3.0	4.7		
Elbert, GA	1,349	Behavioral He	1 in 45 miles	3	449.7	1,349	100.0	0	0.0	4.4	7.5		
Fannin, GA	1,548	Behavioral He	1 in 45 miles	4	387.0	1,548	100.0	0	0.0	3.8	6.6		
Franklin, GA	2,326	Behavioral He	1 in 45 miles	2	1,163.0	2,326	100.0	0	0.0	6.0	11.5		
Gilmer, GA	1,854	Behavioral He	1 in 45 miles	3	618.0	1,854		0	0.0		11.1		
Habersham, GA	2,008	Behavioral He	1 in 45 miles	8	251.0	2,008		0	0.0	3.8	4.4		
Hart, GA	1,295	Behavioral He	1 in 45 miles	3	431.7	1,295	100.0	0	0.0		3.8		
Lumpkin, GA	1,041	Behavioral He	1 in 45 miles	2		1,041		0	0.0	3.9	8.8		
Madison, GA	2,192	Behavioral He	1 in 45 miles	3		2,192	100.0	0	0.0		9.0		
Morgan, GA	1,210	Behavioral He	1 in 45 miles	0		1,210		0	0.0		18.6		
Murray, GA	2,883	Behavioral He	1 in 45 miles	4	720.8	2,883		0	0.0		5.3		
Oconee, GA	998	Behavioral He	1 in 45 miles	12	83.2	998		0	0.0	4.6	6.6		
Oglethorpe, GA	1,199	Behavioral He	1 in 45 miles	0		1,199	100.0	0	0.0		14.0		
Polk, GA	3,804	Behavioral He	1 in 45 miles	7	543.4	3,804	100.0	0	0.0	3.2	4.1		
Rabun, GA	924	Behavioral He	1 in 45 miles	0			100.0	0	0.0		16.7		
Stephens, GA	1,916	Behavioral He	1 in 45 miles	21	91.2	1,916		0	0.0		2.7		
Towns, GA	681	Behavioral He	1 in 45 miles	11	61.9		100.0	0	0.0	4.7	6.8		
Union, GA	1,459	Behavioral He	1 in 45 miles	8	182.4	1,459	100.0	0	0.0	3.4	5.6		
White, GA	1,254	Behavioral He	1 in 45 miles	1	1,254.0	1,254	100.0	0	0.0	4.4	9.7		
Grand Totals	35,843	Behavioral H	1 in 45 miles	143	250.7	35,843	100.0	0	0.0	5.1	7.4		

Dental - Urban

December 27, 2023

Access Analysis
Dental- Urban

Member / Provider Groups
Urban Members
(NORTH_URBAN)
Dental

Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance													
	Member	Pr	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Catoosa, GA	2,143	Dental	1 in 30 miles	3	714.3		100.0	0	0.0	5.4	5.5		
Clarke, GA	5,693	Dental	1 in 30 miles	16	355.8	5,693	100.0	0	0.0	1.6	2.5		
Floyd, GA	6,354	Dental	1 in 30 miles	33	192.5	6,354	100.0	0	0.0	3.8	4.1		
Gordon, GA	3,913	Dental	1 in 30 miles	15	260.9	3,913	100.0	0	0.0	4.3	4.5		
Hall, GA		Dental	1 in 30 miles	288	46.7	13,461	100.0	0	0.0	3.6	3.9		
Jackson, GA	5,444	Dental	1 in 30 miles	1	5,444.0	5,444	100.0	0	0.0	6.5	7.5		
Walker, GA		Dental	1 in 30 miles	1	4,326.0	4,326	100.0	0	0.0	9.2	12.6		
Whitfield, GA		Dental	1 in 30 miles	67			100.0	0	0.0	3.1	3.6		
Grand Totals	50,479	Dental	1 in 30 miles	424	119.1	50,479	100.0	0	0.0	4.2	5.0		
© 2023 Quest Analytics, LLC.													

Dental - Rural

December 27, 2023

Access Analysis Dental- Rural

Member / Provider Groups
Rural Members
(NORTH_RURAL)
Dental

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pi	rovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Banks, GA	1,726	Dental	1 in 45 miles	9	191.8	1,726	100.0	0	0.0	6.8	7.2		
Chattooga, GA	1,894	Dental	1 in 45 miles	1	1,894.0	1,894	100.0	0	0.0	5.0	15.2		
Dade, GA	825	Dental	1 in 45 miles	1	825.0	825	100.0	0	0.0	5.9	20.5		
Dawson, GA	1,457	Dental	1 in 45 miles	99	14.7	1,457	100.0	0	0.0	4.3	4.3		
Elbert, GA	1,349	Dental	1 in 45 miles	1	1,349.0	1,349	100.0	0	0.0	5.9	17.6		
Fannin, GA	1,548	Dental	1 in 45 miles	0		1,548	100.0	0	0.0	23.3	25.5		
Franklin, GA	2,326	Dental	1 in 45 miles	4	581.5	2,326	100.0	0	0.0	9.7	9.7		
Gilmer, GA	·	Dental	1 in 45 miles	3	618.0	1,854		0	0.0	4.7	6.1		
Habersham, GA	2,008	Dental	1 in 45 miles	3	669.3	2,008		0	0.0	5.5	5.5		
Hart, GA	1,295	Dental	1 in 45 miles	3		1,295	100.0	0	0.0	3.8	3.8		
Lumpkin, GA	1,041	Dental	1 in 45 miles	2	520.5	1,041		0	0.0	5.3	5.4		
Madison, GA	2,192	Dental	1 in 45 miles	2 2	1,096.0	2,192		0	0.0	6.6	6.7		
Morgan, GA		Dental	1 in 45 miles		605.0	1,210		0	0.0	6.0	6.0		
Murray, GA	2,883	Dental	1 in 45 miles	2	1,441.5	2,883		0	0.0	5.1	5.8		
Oconee, GA		Dental	1 in 45 miles	93	10.7		100.0	0	0.0	4.0	6.0		
Oglethorpe, GA	1,199	Dental	1 in 45 miles	0		1,199	100.0	0	0.0	10.3	12.3		
Polk, GA	3,804	Dental	1 in 45 miles	3		3,804	100.0	0	0.0	7.1	7.1		
Rabun, GA		Dental	1 in 45 miles	2			100.0	0	0.0	5.0	5.0		
Stephens, GA	1,916	Dental	1 in 45 miles	3	638.7	1,916		0	0.0	4.1	4.1		
Towns, GA	681	Dental	1 in 45 miles	0			100.0	0	0.0	15.3	15.3		
Union, GA	1,459	Dental	1 in 45 miles	2	729.5	1,459	100.0	0	0.0	13.9	13.9		
White, GA	1,254	Dental	1 in 45 miles	3	418.0	1,254	100.0	0	0.0	3.9	5.6		
Grand Totals	35.843	Dental	1 in 45 miles	238	150.6	35,843	100.0	0	0.0	7.2	8.9		
Grana rotaio	00,040	Dentai	1 111 40 1111103	200	100.0	00,040	100.0		0.0	,	0.0		

Dental Subspeciality - Urban

December 27, 2023

Access Analysis
Dental Subspeciality- Urban

Member / Provider Groups
Urban Members
(NORTH_URBAN)
Dental Subspecialty

Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ad	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Catoosa, GA	2,143	Dental Subsp	1 in 30 miles	2	1,071.5		100.0	0	0.0	6.0	6.1	
Clarke, GA	5,693	Dental Subsp	1 in 30 miles	1	5,693.0		100.0	0	0.0	5.2	7.9	
Floyd, GA	6,354	Dental Subsp	1 in 30 miles	2	3,177.0		100.0	0	0.0	5.4	5.4	
Gordon, GA	3,913	Dental Subsp	1 in 30 miles	4	978.3		100.0	0	0.0	5.7	5.7	
Hall, GA	13,461	Dental Subsp	1 in 30 miles	22	611.9	13,461	100.0	0	0.0	4.2	5.4	
Jackson, GA	5,444	Dental Subsp	1 in 30 miles	0		5,444	100.0	0	0.0	10.9	14.1	
Walker, GA	4,326	Dental Subsp	1 in 30 miles	0		4,326	100.0	0	0.0	9.1	9.1	
Whitfield, GA	9,145	Dental Subsp	1 in 30 miles	15	609.7	9,145	100.0	0	0.0	3.7	3.8	
Grand Totals	50,479	Dental Subs	1 in 30 miles	46	1,097.4	50,479	100.0	0	0.0	5.7	6.7	

Dental Subspeciality - Rural

December 27, 2023

Access Analysis
Dental Subspeciality- Rural
Member / Provider Groups
Rural Members
(NORTH_RURAL)
Dental Subspecialty

Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Banks, GA	1,726	Dental Subsp	1 in 45 miles	0		1,726	100.0	0	0.0	19.5	21.8
Chattooga, GA	1,894	Dental Subsp	1 in 45 miles	0		1,894	100.0	0	0.0	22.6	22.6
Dade, GA	825	Dental Subsp	1 in 45 miles	0		825	100.0	0	0.0	18.5	18.5
Dawson, GA	1,457	Dental Subsp	1 in 45 miles	7	208.1	1,457		0	0.0	7.1	7.2
Elbert, GA	1,349	Dental Subsp	1 in 45 miles	0		1,349	100.0	0	0.0	33.6	35.4
Fannin, GA	1,548	Dental Subsp	1 in 45 miles	1	1,548.0	1,548	100.0	0	0.0	7.2	38.7
Franklin, GA	2,326	Dental Subsp	1 in 45 miles	0		2,326	100.0	0	0.0	31.0	32.4
Gilmer, GA	1,854	Dental Subsp	1 in 45 miles	0		1,854	100.0	0	0.0	22.6	26.9
Habersham, GA	2,008	Dental Subsp	1 in 45 miles	0		2,008	100.0	0	0.0	30.1	31.4
Hart, GA	1,295	Dental Subsp	1 in 45 miles	0		1,295	100.0	0	0.0	26.2	26.2
Lumpkin, GA	1,041	Dental Subsp	1 in 45 miles	0		1,041	100.0	0	0.0	13.8	14.1
Madison, GA	2,192	Dental Subsp	1 in 45 miles	0		2,192	100.0	0	0.0	16.9	23.5
Morgan, GA	1,210	Dental Subsp	1 in 45 miles	0		1,210	100.0	0	0.0	18.6	18.7
Murray, GA	2,883	Dental Subsp	1 in 45 miles	0		2,883	100.0	0	0.0	11.1	11.1
Oconee, GA	998	Dental Subsp	1 in 45 miles	3	332.7	998	100.0	0	0.0	6.8	6.8
Oglethorpe, GA	1,199	Dental Subsp	1 in 45 miles	0		1,199	100.0	0	0.0	17.0	19.2
Polk, GA	3,804	Dental Subsp	1 in 45 miles	0		3,804	100.0	0	0.0	19.7	19.9
Rabun, GA	924	Dental Subsp	1 in 45 miles	0		67	7.3	857	92.7	50.3	51.5
Stephens, GA	1,916	Dental Subsp	1 in 45 miles	0		1,916	100.0	0	0.0	36.4	36.7
Towns, GA	681	Dental Subsp	1 in 45 miles	0		681	100.0	0	0.0	30.1	43.5
Union, GA	1,459	Dental Subsp	1 in 45 miles	0		1,459	100.0	0	0.0	17.9	36.1
White, GA	1,254	Dental Subsp	1 in 45 miles	0		1,254	100.0	0	0.0	20.7	21.8
One of Tabela	05.040	Davidal Outra	A in AF miles	44	2 252 5	04.000	07.0	0.57	0.4	04.0	04.0
Grand Totals	35,843	Dental Subs	1 in 45 miles	11	3,258.5	34,986	97.6	857	2.4	21.3	24.8

Dialysis - Urban

December 27, 2023

Access Analysis
Dialysis- Urban

Member / Provider Groups
Urban Members
(NORTH_URBAN)
Dialysis

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	ccess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Catoosa, GA		Dialysis	1 in 30 miles	28	76.5		100.0	0	0.0	3.7	6.7			
Clarke, GA		Dialysis	1 in 30 miles	56	101.7		100.0	0	0.0	3.4	3.8			
Floyd, GA		Dialysis	1 in 30 miles	131	48.5		100.0	0	0.0		4.1			
Gordon, GA		Dialysis	1 in 30 miles	0			100.0	0	0.0		21.1			
Hall, GA		Dialysis	1 in 30 miles	132	102.0	13,461			0.0		6.1			
Jackson, GA		Dialysis	1 in 30 miles	1	5,444.0		100.0		0.0		8.9			
Walker, GA		Dialysis	1 in 30 miles	27	160.2		100.0	0	0.0		4.6			
Whitfield, GA	9,145	Dialysis	1 in 30 miles	1	9,145.0	9,145	100.0	0	0.0	5.2	11.8			
Grand Totals	50,479	Dialysis	1 in 30 miles	376	134.3	50,479	100.0	0	0.0	6.3	8.0			
© 2023 Quest Analytics 11 C				<u> </u>										

Dialysis - Rural

December 27, 2023

Access Analysis
Dialysis- Rural

Member / Provider Groups
Rural Members
(NORTH_RURAL)

Dialysis

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Р	rovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Banks, GA	1,726	Dialysis	1 in 45 miles	0		1,726	100.0	0	0.0	14.4	17.9		
Chattooga, GA	1,894	Dialysis	1 in 45 miles	57	33.2	1,894	100.0	0	0.0	_	5.2		
Dade, GA	825	Dialysis	1 in 45 miles	0		825	100.0	0	0.0	16.2	16.2		
Dawson, GA	1,457	Dialysis	1 in 45 miles	0		1,457		0	0.0	14.5	16.0		
Elbert, GA	1,349	Dialysis	1 in 45 miles	1	1,349.0	1,349	100.0	0	0.0	6.1	17.3		
Fannin, GA		Dialysis	1 in 45 miles	0			100.0	0	0.0		32.1		
Franklin, GA	2,326	Dialysis	1 in 45 miles	1	2,326.0		100.0	0	0.0	9.0	16.3		
Gilmer, GA		Dialysis	1 in 45 miles	1	1,854.0		100.0	0	0.0		16.1		
Habersham, GA		Dialysis	1 in 45 miles	1	2,008.0	2,008		0	0.0		14.1		
Hart, GA	1,295	Dialysis	1 in 45 miles	53	24.4	1,295	100.0	0	0.0	4.1	4.2		
Lumpkin, GA	1,041	Dialysis	1 in 45 miles	0		1,041	100.0	0	0.0	18.8	20.1		
Madison, GA	2,192	Dialysis	1 in 45 miles	0		2,192	100.0	0	0.0	_	16.1		
Morgan, GA		Dialysis	1 in 45 miles	0		1,210	100.0	0	0.0	17.3	17.5		
Murray, GA	2,883	Dialysis	1 in 45 miles	1	2,883.0		100.0	0	0.0	5.5	13.9		
Oconee, GA	998	Dialysis	1 in 45 miles	17	58.7	998	100.0	0	0.0	5.1	5.1		
Oglethorpe, GA	1,199	Dialysis	1 in 45 miles	0		1,199	100.0	0	0.0	-	13.9		
Polk, GA	3,804	Dialysis	1 in 45 miles	58	65.6	3,804	100.0	0	0.0	7.7	7.7		
Rabun, GA	924	Dialysis	1 in 45 miles	0		924	100.0	0	0.0	-	26.0		
Stephens, GA	1,916	Dialysis	1 in 45 miles	2	958.0	1,916	100.0	0	0.0	4.9	14.7		
Towns, GA	681	Dialysis	1 in 45 miles	0		681	100.0	0	0.0	34.8	42.0		
Union, GA	1,459	Dialysis	1 in 45 miles	0		1,459	100.0	0	0.0	34.8	39.9		
White, GA	1,254	Dialysis	1 in 45 miles	0		1,254	100.0	0	0.0	13.8	19.4		
Grand Totals	35 8/13	Dialysis	1 in 45 miles	192	186.7	35,843	100.0	0	0.0	11.7	16.3		
Grand Totals	35,043	Dialysis	1 III 45 IIIIles	192	100.7	35,043	100.0	U	0.0	11.7	10.3		

DME - Urban

December 27, 2023

Access Analysis

DME- Urban

Member / Provider Groups
Urban Members
(NORTH_URBAN)
DME

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Catoosa, GA	2,143		1 in 30 miles	12			100.0		0.0		4.8			
Clarke, GA	5,693		1 in 30 miles	23			100.0		0.0	2.8	3.1			
Floyd, GA	6,354		1 in 30 miles	40	158.9		100.0		0.0	2.8	3.2			
Gordon, GA	3,913		1 in 30 miles	0			100.0				14.9			
Hall, GA	13,461		1 in 30 miles	28		13,461				3.6	4.7			
Jackson, GA	5,444		1 in 30 miles	32	170.1		100.0		0.0	5.4	5.6			
Walker, GA	4,326		1 in 30 miles	22	196.6		100.0	0			3.3			
Whitfield, GA	9,145	DME	1 in 30 miles	10	914.5	9,145	100.0	0	0.0	3.2	3.8			
Grand Totals	50,479	DME	1 in 30 miles	167	302.3	50,479	100.0	0	0.0	4.2	5.0			
© 2023 Quest Analytics 11 C								l	<u> </u>					

DME - Rural

December 27, 2023

Access Analysis DME- Rural

Member / Provider Groups
Rural Members
(NORTH_RURAL)
DME

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Patio Mombors	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Banks, GA	1,726	DME	1 in 45 miles	4	431.5	1,726	100.0	0	0.0	6.2	6.9		
Chattooga, GA	1,894	DME	1 in 45 miles	10	189.4	1,894	100.0	0	0.0	2.8	3.9		
Dade, GA	825	DME	1 in 45 miles	11	75.0	825	100.0	0	0.0	3.9	4.1		
Dawson, GA	1,457	DME	1 in 45 miles	11	132.5	1,457	100.0	0	0.0	2.3	3.4		
Elbert, GA	1,349	DME	1 in 45 miles	10	134.9	1,349	100.0	0	0.0	3.6	4.9		
Fannin, GA	1,548	DME	1 in 45 miles	10	154.8	1,548		0	0.0	3.9	6.1		
Franklin, GA	2,326	DME	1 in 45 miles	14	166.1	2,326	100.0	0	0.0	4.4	5.6		
Gilmer, GA	1,854	DME	1 in 45 miles	11	168.5	1,854	100.0	0	0.0	3.5	4.6		
Habersham, GA	2,008	DME	1 in 45 miles	10	200.8	2,008	100.0	0	0.0	3.8	4.3		
Hart, GA	1,295	DME	1 in 45 miles	10	129.5	1,295	100.0	0	0.0	4.2	5.1		
Lumpkin, GA	1,041	DME	1 in 45 miles	13	80.1	1,041	100.0	0	0.0	4.7	4.8		
Madison, GA	2,192	DME	1 in 45 miles	9	243.6	2,192	100.0	0	0.0	5.2	5.8		
Morgan, GA	1,210	DME	1 in 45 miles	10	121.0	1,210	100.0	0	0.0	3.1	4.2		
Murray, GA	2,883	DME	1 in 45 miles	9	320.3	2,883	100.0	0	0.0	8.2	9.0		
Oconee, GA	998	DME	1 in 45 miles	7	142.6	998	100.0	0	0.0	4.5	5.1		
Oglethorpe, GA	1,199	DME	1 in 45 miles	12	99.9	1,199	100.0	0	0.0	7.1	7.8		
Polk, GA	3,804	DME	1 in 45 miles	8	475.5	3,804	100.0	0	0.0	4.8	5.8		
Rabun, GA	924	DME	1 in 45 miles	5	184.8	924	100.0	0	0.0	5.3	6.6		
Stephens, GA	1,916	DME	1 in 45 miles	18	106.4	1,916	100.0	0	0.0	2.4	3.2		
Towns, GA	681	DME	1 in 45 miles	17	40.1	681	100.0	0	0.0	2.2	3.3		
Union, GA	1,459	DME	1 in 45 miles	7	208.4	1,459	100.0	0	0.0	3.1	4.5		
White, GA	1,254	DME	1 in 45 miles	9	139.3	1,254	100.0	0	0.0	7.6	8.5		
								_					
Grand Totals	35,843	DME	1 in 45 miles	225	159.3	35,843	100.0	0	0.0	4.5	5.5		

FQHCs AND RHCs - Urban

December 27, 2023

Access Analysis FQHCs and RHCs- Urban Member / Provider Groups Urban Members (NORTH_URBAN)

FQHCs and RHCs

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ad	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Catoosa, GA	2,143	FQHCs and R	1 in 30 miles	0		1,173		970	45.3	29.4	48.5		
Clarke, GA	5,693	FQHCs and R	1 in 30 miles	1	5,693.0	5,693	100.0	0	0.0	4.8	19.5		
Floyd, GA			1 in 30 miles	0		1,347	21.2	5,007	78.8		37.0		
Gordon, GA			1 in 30 miles	0		3,691	94.3	222	5.7		28.6		
Hall, GA		FQHCs and R		0		119					37.7		
Jackson, GA			1 in 30 miles	0		4,455		989	18.2		22.9		
Walker, GA	4,326	FQHCs and R	1 in 30 miles	0		608	14.1	3,718	85.9	33.9	51.2		
Whitfield, GA	9,145	FQHCs and R…	1 in 30 miles	0		9,145	100.0	0	0.0	13.3	32.1		
Grand Totals	50,479	FQHCs and	1 in 30 miles	1	50,479.0	26,231	52.0	24,248	48.0	25.3	33.9		

FQHCs AND RHCs - Rural

December 27, 2023

Access Analysis
FQHCs and RHCs- Rural
Member / Provider Groups
Rural Members
(NORTH_RURAL)
FQHCs and RHCs

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ad	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Banks, GA	1,726	FQHCs and R…	1 in 45 miles	0		1,726	100.0	0	0.0	26.9	27.5		
Chattooga, GA	1,894	FQHCs and R…	1 in 45 miles	0		974	51.4	920	48.6	44.1	48.9		
Dade, GA			1 in 45 miles	0		528	64.0	297	36.0		61.8		
Dawson, GA			1 in 45 miles	0		1,457		0	0.0	-	33.5		
Elbert, GA	1,349	FQHCs and R…	1 in 45 miles	0		1,349		0	0.0	17.3			
Fannin, GA	,	FQHCs and R…	1 in 45 miles	0		1,548		0	0.0		25.8		
Franklin, GA	2,326	FQHCs and R	1 in 45 miles	0		2,326	100.0	0	0.0	16.0	21.2		
Gilmer, GA	1,854	FQHCs and R	1 in 45 miles	2	927.0	1,854		0	0.0	6.1	6.1		
Habersham, GA	,	FQHCs and R…	1 in 45 miles	0		2,008		0	0.0	34.3	38.7		
Hart, GA	1,295	FQHCs and R	1 in 45 miles	1	1,295.0	1,295	100.0	0	0.0	4.0			
Lumpkin, GA			1 in 45 miles	0		1,041	100.0	0	0.0	26.1	32.9		
Madison, GA	2,192	FQHCs and R	1 in 45 miles	2	1,096.0	2,192	100.0	0	0.0	7.8	8.2		
Morgan, GA	1,210	FQHCs and R	1 in 45 miles	0		1,210	100.0	0	0.0	28.2	37.8		
Murray, GA	2,883	FQHCs and R	1 in 45 miles	1	2,883.0	2,883	100.0	0	0.0	5.8	24.2		
Oconee, GA	998	FQHCs and R	1 in 45 miles	0		998	100.0	0	0.0	11.2	28.4		
Oglethorpe, GA	1,199	FQHCs and R…	1 in 45 miles	0		1,199		0	0.0	11.7	17.7		
Polk, GA	3,804	FQHCs and R	1 in 45 miles	0		3,804	100.0	0	0.0	18.4	20.9		
Rabun, GA	924	FQHCs and R…	1 in 45 miles	0		924	100.0	0	0.0		33.0		
Stephens, GA	· · ·	FQHCs and R	1 in 45 miles	0		1,916	100.0	0	0.0	31.6	31.8		
Towns, GA	681	FQHCs and R…	1 in 45 miles	1	681.0	681	100.0	0	0.0	5.1	13.4		
Union, GA	1,459	FQHCs and R	1 in 45 miles	1	1,459.0	1,459	100.0	0	0.0	6.8	18.6		
White, GA	1,254	FQHCs and R	1 in 45 miles	0		1,254	100.0	0	0.0	25.8	29.8		
Grand Totals	35 8/13	FQHCs and	1 in 45 miles	8	4,480.4	34,626	96.6	1,217	3.4	19.8	26.4		
Grand Totals	35,043	runus anu	i ili 45 ililles	°	4,460.4	34,020	30.0	1,217	3.4	19.0	20.4		

Home Health Infusion Services - Urban

December 27, 2023

Access Analysis

Home Health and Infusion Services- Urban

Member / Provider Groups

Urban Members (NORTH_URBAN)

Home Health and Infusion Services

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Catoosa, GA	2,143	Home Health	1 in 30 miles	39	54.9	2,143	100.0	0	0.0	4.2	4.3
Clarke, GA	5,693	Home Health	1 in 30 miles	7	813.3	5,693	100.0	0	0.0	2.6	3.4
Floyd, GA	6,354	Home Health	1 in 30 miles	42	151.3	6,354	100.0	0	0.0	3.0	4.0
Gordon, GA	3,913	Home Health	1 in 30 miles	0		3,913	100.0	0	0.0		5.8
Hall, GA	13,461	Home Health	1 in 30 miles	40	336.5	13,461	100.0	0	0.0	4.7	5.5
Jackson, GA	5,444	Home Health	1 in 30 miles	10		5,444	100.0	0	0.0	6.3	7.1
Walker, GA	4,326	Home Health	1 in 30 miles	38	113.8	4,326	100.0	0	0.0		4.4
Whitfield, GA	9,145	Home Health	1 in 30 miles	40	228.6	9,145	100.0	0	0.0	3.5	4.4
Grand Totals	50,479	Home Health	1 in 30 miles	216	233.7	50,479	100.0	0	0.0	4.2	4.9
© 2023 Quest Analytics 11 C											

Home Health Infusion Services - Rural

December 27, 2023

Access Analysis

Home Health and Infusion Services- Rural

Member / Provider Groups

Rural Members (NORTH_RURAL)

Home Health and Infusion Services

			Members W	ith and W	/ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Banks, GA	1,726	Home Health	1 in 45 miles	1	1,726.0	1,726	100.0	0	0.0	6.3	7.7
Chattooga, GA	1,894	Home Health	1 in 45 miles	39	48.6	1,894	100.0	0	0.0	3.8	5.0
Dade, GA	825	Home Health	1 in 45 miles	41	20.1	825	100.0	0	0.0	3.7	4.2
Dawson, GA	1,457	Home Health	1 in 45 miles	4	364.3	1,457	100.0	0	0.0	4.0	5.6
Elbert, GA	1,349	Home Health	1 in 45 miles	6	224.8	1,349	100.0	0	0.0	3.6	6.8
Fannin, GA	1,548	Home Health	1 in 45 miles	3	516.0	1,548	100.0	0	0.0	6.2	7.3
Franklin, GA	2,326	Home Health	1 in 45 miles	41	56.7	2,326	100.0	0	0.0	4.4	5.4
Gilmer, GA	1,854	Home Health	1 in 45 miles	3	618.0	1,854	100.0	0	0.0	5.6	7.9
Habersham, GA	2,008	Home Health	1 in 45 miles	41	49.0	2,008	100.0	0	0.0	4.3	4.9
Hart, GA	1,295	Home Health	1 in 45 miles	41	31.6	1,295	100.0	0	0.0	2.5	3.1
Lumpkin, GA	1,041	Home Health	1 in 45 miles	38	27.4	1,041	100.0	0	0.0	4.7	5.0
Madison, GA	2,192	Home Health	1 in 45 miles	3	730.7	2,192	100.0	0	0.0	5.9	6.9
Morgan, GA	1,210	Home Health	1 in 45 miles	4	302.5	1,210	100.0	0	0.0	3.6	5.3
Murray, GA	2,883	Home Health	1 in 45 miles	41	70.3	2,883	100.0	0	0.0	4.2	4.5
Oconee, GA	998	Home Health	1 in 45 miles	40	25.0	998	100.0	0	0.0	3.2	3.8
Oglethorpe, GA	1,199	Home Health	1 in 45 miles	5		1,199	100.0	0	0.0	7.3	8.5
Polk, GA	3,804	Home Health	1 in 45 miles	38	100.1	3,804	100.0	0	0.0	4.3	6.2
Rabun, GA	924	Home Health	1 in 45 miles	39	23.7		100.0	0	0.0	3.8	4.2
Stephens, GA	1,916	Home Health	1 in 45 miles	38	50.4	1,916	100.0	0	0.0	2.4	4.1
Towns, GA	681	Home Health	1 in 45 miles	3		681	100.0	0	0.0	4.9	6.8
Union, GA	1,459	Home Health	1 in 45 miles	39	37.4	1,459	100.0	0	0.0	4.0	5.7
White, GA	1,254	Home Health	1 in 45 miles	5	250.8	1,254	100.0	0	0.0	4.3	8.8
								_			
Grand Totals	35,843	Home Health	1 in 45 miles	513	69.9	35,843	100.0	0	0.0	4.4	5.8

Hospitals - Urban

December 27, 2023

Access Analysis Hospitals- Urban

Member / Provider Groups
Urban Members
(NORTH_URBAN)
Hospitals

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pr	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	ccess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Catoosa, GA	2,143	Hospitals	1 in 30 miles	0		2,143	100.0	0	0.0	7.4	9.5			
Clarke, GA	5,693	Hospitals	1 in 30 miles	2	2,846.5	5,693	100.0	0	0.0	4.0	4.9			
Floyd, GA	6,354	Hospitals	1 in 30 miles	2	3,177.0	6,354	100.0	0	0.0	4.8	5.4			
Gordon, GA	3,913	Hospitals	1 in 30 miles	0		3,913	100.0	0	0.0	5.8	18.1			
Hall, GA	13,461	Hospitals	1 in 30 miles	0		13,461	100.0	0	0.0	6.9	7.1			
Jackson, GA	5,444	Hospitals	1 in 30 miles	0		5,444	100.0	0	0.0	11.4	14.3			
Walker, GA	4,326	Hospitals	1 in 30 miles	0		4,326	100.0	0	0.0	11.4	12.9			
Whitfield, GA		Hospitals	1 in 30 miles	1	9,145.0		100.0		0.0		18.7			
Grand Totals	50,479	Hospitals	1 in 30 miles	5	10,095.8	50,479	100.0	0	0.0	6.8	11.0			
© 2023 Quest Analytics, LLC.		•	•	•			•			•				

Hospitals -Rural

December 27, 2023

Access Analysis Hospitals- Rural

Member / Provider Groups
Rural Members
(NORTH_RURAL)
Hospitals

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member		Provider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Banks, GA	1,726	Hospitals	1 in 45 miles	0		1,726	100.0	0	0.0	18.5	20.6		
Chattooga, GA	1,894	Hospitals	1 in 45 miles	0		1,894	100.0	0	0.0	23.1	23.5		
Dade, GA	825	Hospitals	1 in 45 miles	0		825	100.0	0	0.0	22.3	22.6		
Dawson, GA		Hospitals	1 in 45 miles	0		1,457	100.0	0	0.0	12.9	16.5		
Elbert, GA	1,349	Hospitals	1 in 45 miles	1	1,349.0	1,349	100.0	0	0.0	6.2	31.4		
Fannin, GA	1,548	Hospitals	1 in 45 miles	1	1,548.0		100.0	0	0.0	6.7	21.8		
Franklin, GA	2,326	Hospitals	1 in 45 miles	0		2,326	100.0	0	0.0		32.2		
Gilmer, GA		Hospitals	1 in 45 miles	0			100.0	0	0.0	17.4	22.3		
Habersham, GA	2,008	Hospitals	1 in 45 miles	0		2,008		0	0.0	13.7	26.8		
Hart, GA	1,295	Hospitals	1 in 45 miles	0			100.0	0	0.0		35.2		
Lumpkin, GA	1,041	Hospitals	1 in 45 miles	1	1,041.0		100.0	0	0.0	5.5	13.9		
Madison, GA	2,192	Hospitals	1 in 45 miles	0		2,192		0	0.0	_	17.5		
Morgan, GA		Hospitals	1 in 45 miles	1	,	1,210		0	0.0	6.2	15.9		
Murray, GA		Hospitals	1 in 45 miles	1	2,883.0	2,883		0	0.0		22.5		
Oconee, GA		Hospitals	1 in 45 miles	1	998.0	998		0	0.0	6.8	9.8		
Oglethorpe, GA	1,199	Hospitals	1 in 45 miles	0		1,199	100.0	0	0.0		16.1		
Polk, GA	3,804	Hospitals	1 in 45 miles	1	3,804.0	3,804		0	0.0	7.7	20.1		
Rabun, GA		Hospitals	1 in 45 miles	0		924		0	0.0	20.1	24.7		
Stephens, GA	1,916	Hospitals	1 in 45 miles	1	1,916.0		100.0	0	0.0	5.4	38.7		
Towns, GA		Hospitals	1 in 45 miles	2 2	340.5		100.0	0	0.0	3.7	7.6		
Union, GA		Hospitals	1 in 45 miles	2	729.5		100.0	0	0.0	6.2	11.6		
White, GA	1,254	Hospitals	1 in 45 miles	0		1,254	100.0	0	0.0	15.5	19.2		
Grand Totals	35,843	Hospitals	1 in 45 miles	12	2,986.9	35,843	100.0	0	0.0	12.9	22.3		
		·			·	·							

Outpatient Laboratory Services - Urban

December 27, 2023

Access Analysis

Outpatient Laboratory Services-Urban

Member / Provider Groups

Urban Members (NORTH_URBAN) Outpatient Laboratory Services

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Catoosa, GA	2,143	Outpatient La	1 in 30 miles	6	357.2	2,143	100.0	0	0.0	5.5	6.2		
Clarke, GA	5,693	Outpatient La	1 in 30 miles	9	632.6	5,693	100.0	0	0.0	3.8	4.1		
Floyd, GA	6,354	Outpatient La	1 in 30 miles	13	488.8	6,354	100.0	0	0.0	3.4	4.0		
Gordon, GA	3,913	Outpatient La	1 in 30 miles	0		3,913	100.0	0	0.0	16.7	17.8		
Hall, GA	13,461	Outpatient La	1 in 30 miles	25	538.4	13,461	100.0	0	0.0	5.8	6.8		
Jackson, GA	5,444	Outpatient La	1 in 30 miles	2	2,722.0	5,444	100.0	0	0.0	7.8	10.6		
Walker, GA	4,326	Outpatient La	1 in 30 miles	1		4,326	100.0	0	0.0	7.0	7.7		
Whitfield, GA	9,145	Outpatient La	1 in 30 miles	13	703.5	9,145	100.0	0	0.0	4.0	5.0		
Grand Totals	50,479	Outpatient L	1 in 30 miles	69	731.6	50,479	100.0	0	0.0	6.1	7.1		
2023 Quest Analytics, LLC.				<u> </u>						<u>. </u>			

Outpatient Laboratory Services - Rural

December 27, 2023

Access Analysis

Outpatient Laboratory Services-

Member / Provider Groups

Rural Members (NORTH_RURAL)

Outpatient Laboratory Services

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Banks, GA	1,726	Outpatient La	1 in 45 miles	0		1,726	100.0	0	0.0	8.8	13.3
Chattooga, GA	1,894	Outpatient La	1 in 45 miles	2	947.0	1,894	100.0	0	0.0	4.3	5.9
Dade, GA	825	Outpatient La	1 in 45 miles	2		825	100.0	0	0.0	7.0	9.8
Dawson, GA	1,457	Outpatient La	1 in 45 miles	1		1,457	100.0	0	0.0	6.1	11.8
Elbert, GA	1,349	Outpatient La	1 in 45 miles	1	1,349.0	1,349	100.0	0	0.0	11.7	19.4
Fannin, GA	1,548	Outpatient La	1 in 45 miles	3	516.0	1,548	100.0	0	0.0	5.8	9.5
Franklin, GA	2,326	Outpatient La	1 in 45 miles	1	2,326.0	2,326	100.0	0	0.0	6.9	11.1
Gilmer, GA	1,854	Outpatient La	1 in 45 miles	2	927.0	1,854	100.0	0	0.0	5.1	7.0
Habersham, GA	2,008	Outpatient La	1 in 45 miles	1		2,008	100.0	0	0.0	7.6	13.3
Hart, GA	1,295	Outpatient La	1 in 45 miles	1	1,295.0	1,295	100.0	0	0.0	8.3	11.1
Lumpkin, GA	1,041	Outpatient La	1 in 45 miles	0		1,041	100.0	0	0.0	17.0	18.1
Madison, GA	2,192	Outpatient La	1 in 45 miles	0		2,192	100.0	0	0.0	12.9	15.2
Morgan, GA	1,210	Outpatient La	1 in 45 miles	1	1,210.0	1,210	100.0	0	0.0	5.6	17.3
Murray, GA	2,883	Outpatient La	1 in 45 miles	2	1,441.5	2,883	100.0	0	0.0	10.0	11.8
Oconee, GA	998	Outpatient La	1 in 45 miles	1	998.0	998	100.0	0	0.0	6.0	8.8
Oglethorpe, GA	1,199	Outpatient La	1 in 45 miles	1	1,199.0	1,199	100.0	0	0.0	10.6	13.9
Polk, GA	3,804	Outpatient La	1 in 45 miles	2	1,902.0	3,804	100.0	0	0.0	6.3	7.1
Rabun, GA	924	Outpatient La	1 in 45 miles	1	924.0	924	100.0	0	0.0	6.5	16.9
Stephens, GA	1,916	Outpatient La	1 in 45 miles	2	958.0	1,916	100.0	0	0.0	4.3	5.6
Towns, GA	681	Outpatient La	1 in 45 miles	1	681.0	681	100.0	0	0.0	7.1	12.6
Union, GA	1,459	Outpatient La	1 in 45 miles	4	364.8	1,459	100.0	0	0.0	4.8	6.7
White, GA	1,254	Outpatient La	1 in 45 miles	1	1,254.0	1,254	100.0	0	0.0	8.9	11.7
Grand Totals	35,843	Outpatient L	1 in 45 miles	30	1,194.8	35,843	100.0	0	0.0	7.7	11.1

Obstetrics/Gynecology -Urban

December 27, 2023

Access Analysis
Obstetrics/Gynecology- Urban

Member / Provider Groups
Female Urban Members
(NORTH_URBAN)
Obstetrics/Gynecology

Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance														
	Member	Pro	ovider	Counts	Patio Mombors	With Acc	ess	Without Ac	cess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Catoosa, GA	662	Obstetrics/Gy	2 in 30 miles	4	165.5	662	100.0	0	0.0	4.1	4.2			
Clarke, GA	1,712	Obstetrics/Gy	2 in 30 miles	69	24.8	1,712	100.0	0	0.0	2.7	2.7			
Floyd, GA	1,787	Obstetrics/Gy	2 in 30 miles	35	51.1	1,787	100.0	0	0.0	4.3	4.4			
Gordon, GA	1,096	Obstetrics/Gy	2 in 30 miles	0		1,096	100.0	0	0.0	17.9	19.1			
Hall, GA	3,558	Obstetrics/Gy	2 in 30 miles	142	25.1	3,558	100.0	0	0.0	4.8	5.5			
Jackson, GA	1,553	Obstetrics/Gy	2 in 30 miles	2	776.5	1,553	100.0	0	0.0	5.6	9.2			
Walker, GA	1,312	Obstetrics/Gy	2 in 30 miles	0		1,312	100.0	0	0.0	7.7	8.4			
Whitfield, GA	2,503	Obstetrics/Gy	2 in 30 miles	33	75.8	2,503	100.0	0	0.0	4.2	5.0			
Grand Totals	14,183	Obstetrics/G	2 in 30 miles	285	49.8	14,183	100.0	0	0.0	5.7	6.6			

Obstetrics/Gynecology -Rural

December 27, 2023

Access Analysis

Obstetrics/Gynecology- Rural

Member / Provider Groups Female Rural Members (NORTH_RURAL)

Obstetrics/Gynecology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Banks, GA	486	Obstetrics/Gy	2 in 45 miles	1	486.0	486	100.0	0	0.0	6.9	12.1			
Chattooga, GA	529	Obstetrics/Gy	2 in 45 miles	1	529.0	529	100.0	0	0.0	5.3	22.2			
Dade, GA	228	Obstetrics/Gy	2 in 45 miles	0		228	100.0	0	0.0	16.1	17.6			
Dawson, GA	427	Obstetrics/Gy	2 in 45 miles	13	32.8	427	100.0	0	0.0	6.6	6.6			
Elbert, GA	377	Obstetrics/Gy	2 in 45 miles	0		377	100.0	0	0.0	27.1	28.7			
Fannin, GA	428	Obstetrics/Gy	2 in 45 miles	9	47.6	428	100.0	0	0.0	5.5	5.5			
Franklin, GA	689	Obstetrics/Gy	2 in 45 miles	2	344.5	689	100.0	0	0.0	9.1	9.4			
Gilmer, GA	526	Obstetrics/Gy	2 in 45 miles	12	43.8	526	100.0	0	0.0	4.9	5.0			
Habersham, GA	583	Obstetrics/Gy	2 in 45 miles	29	20.1	583	100.0	0	0.0	4.2	4.3			
Hart, GA	381	Obstetrics/Gy	2 in 45 miles	0		381	100.0	0	0.0	15.5	15.5			
Lumpkin, GA	337	Obstetrics/Gy	2 in 45 miles	7	48.1	337	100.0	0	0.0	5.2	5.3			
Madison, GA	596	Obstetrics/Gy	2 in 45 miles	0		596	100.0	0	0.0	11.8	12.4			
Morgan, GA	381	Obstetrics/Gy	2 in 45 miles	1	381.0	381	100.0	0	0.0	5.9	17.2			
Murray, GA	817	Obstetrics/Gy	2 in 45 miles	1	817.0	817	100.0	0	0.0	5.4	12.5			
Oconee, GA	281	Obstetrics/Gy	2 in 45 miles	15	18.7	281	100.0	0	0.0	6.4	6.5			
Oglethorpe, GA	349	Obstetrics/Gy	2 in 45 miles	0		349	100.0	0	0.0	13.5	13.8			
Polk, GA	1,038	Obstetrics/Gy	2 in 45 miles	0		1,038	100.0	0	0.0	17.8	18.3			
Rabun, GA	265	Obstetrics/Gy	2 in 45 miles	1	265.0	265	100.0	0	0.0	5.0	21.1			
Stephens, GA	575	Obstetrics/Gy	2 in 45 miles	7	82.1	575	100.0	0	0.0	3.3	3.7			
Towns, GA	209	Obstetrics/Gy	2 in 45 miles	0		209	100.0	0	0.0	12.7	12.8			
Union, GA	414	Obstetrics/Gy	2 in 45 miles	10	41.4	414	100.0	0	0.0	6.8	6.8			
White, GA	391	Obstetrics/Gy	2 in 45 miles	1	391.0	391	100.0	0	0.0	6.3	6.3			
Grand Totals	10.307	Obstetrics/G	2 in 45 miles	110	93.7	10,307	100.0	ا	0.0	9.1	11.9			
	,				33	10,001								

Pediatric Allergy/Immunology - Urban

December 27, 2023

Access Analysis

Pediatric Allergy/Immunology-Urban

Member / Provider Groups

Pediatric Urban Members (NORTH_URBAN) Pediatric_Allergy/Immunology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Catoosa, GA	1,604	Pediatric_Alle	1 in 30 miles	7	229.1	1,604	100.0	0	0.0	4.1	4.2			
Clarke, GA	4,382	Pediatric_Alle	1 in 30 miles	0		4,382	100.0	0	0.0		7.9			
Floyd, GA	5,048	Pediatric_Alle	1 in 30 miles	1	5,048.0		100.0	0	0.0	5.6	38.9			
Gordon, GA	3,082	Pediatric_Alle	1 in 30 miles	0		3,048	98.9	34	1.1	21.2	22.1			
Hall, GA		Pediatric_Alle	1 in 30 miles	8	1,361.6	10,893	100.0	0	0.0	5.6	6.1			
Jackson, GA	4,301	Pediatric_Alle	1 in 30 miles	0			100.0	0	0.0		12.8			
Walker, GA	3,250	Pediatric_Alle	1 in 30 miles	0			100.0	0	0.0	9.9	10.0			
Whitfield, GA	7,464	Pediatric_Alle	1 in 30 miles	8	933.0	7,464	100.0	0	0.0	5.0	5.2			
Grand Totals	40,024	Pediatric_All	1 in 30 miles	24	1,667.7	39,990	99.9	34	0.1	7.8	12.5			
		<u> </u>												

Pediatric Allergy/Immunology -Rural

December 27, 2023

Access Analysis

Pediatric Allergy/Immunology-Rural

Member / Provider Groups

Pediatric Rural Members (NORTH_RURAL) Pediatric_Allergy/Immunology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Banks, GA	1,335	Pediatric_Alle	1 in 45 miles	0		1,335	100.0	0	0.0	21.5	22.1			
Chattooga, GA	1,470	Pediatric_Alle	1 in 45 miles	0		1,470	100.0	0	0.0	25.4	33.5			
Dade, GA	641	Pediatric_Alle	1 in 45 miles	0		641	100.0	0	0.0	16.2	16.8			
Dawson, GA	1,116	Pediatric_Alle	1 in 45 miles	0		1,116	100.0	0	0.0	12.4	15.3			
Elbert, GA	1,046	Pediatric_Alle	1 in 45 miles	0		1,046	100.0	0	0.0	32.4	41.2			
Fannin, GA	1,196	Pediatric_Alle	1 in 45 miles	0		1,196	100.0	0	0.0	32.7	37.0			
Franklin, GA	1,758	Pediatric_Alle	1 in 45 miles	0		1,490	84.8	268	15.2	39.8	40.3			
Gilmer, GA	1,476	Pediatric_Alle	1 in 45 miles	0		1,476	100.0	0	0.0	29.2	30.7			
Habersham, GA	1,537	Pediatric_Alle	1 in 45 miles	0		1,537	100.0	0	0.0	26.8	29.8			
Hart, GA	991	Pediatric_Alle	1 in 45 miles	0		221	22.3	770	77.7	46.8	50.9			
Lumpkin, GA	778	Pediatric_Alle	1 in 45 miles	1	778.0	778	100.0	0	0.0	5.6	21.3			
Madison, GA	1,748	Pediatric_Alle	1 in 45 miles	0		1,748	100.0	0	0.0	22.5	22.5			
Morgan, GA	924	Pediatric_Alle	1 in 45 miles	0		924	100.0	0	0.0	22.8	23.0			
Murray, GA	2,298	Pediatric_Alle	1 in 45 miles	0		2,298	100.0	0	0.0	13.8	14.0			
Oconee, GA	798	Pediatric_Alle	1 in 45 miles	4	199.5	798	100.0	0	0.0	4.9	6.8			
Oglethorpe, GA	939	Pediatric_Alle	1 in 45 miles	0		939	100.0	0	0.0	17.2	17.5			
Polk, GA	3,016	Pediatric_Alle	1 in 45 miles	0		3,016	100.0	0	0.0	18.9	26.8			
Rabun, GA	733	Pediatric Alle	1 in 45 miles	0		733	100.0	0	0.0	23.0	49.4			
Stephens, GA	1,454	Pediatric_Alle	1 in 45 miles	0		1,417	97.5	37	2.5	38.6	40.0			
Towns, GA	503	Pediatric Alle	1 in 45 miles	1	503.0	503	100.0	0	0.0	5.7	34.8			
Union, GA	1,123	Pediatric Alle	1 in 45 miles	0		1,123	100.0	0	0.0	18.0	26.3			
White, GA	943	Pediatric_Alle	1 in 45 miles	0		943	100.0	0	0.0	16.0	20.6			
Grand Totals	27,823	Pediatric_All	1 in 45 miles	6	4,637.2	26,748	96.1	1,075	3.9	23.3	28.0			

Pediatric Cardiology - Urban

December 27, 2023

Access Analysis

Pediatric Cardiology- Urban

Member / Provider Groups

Pediatric Urban Members (NORTH_URBAN) Pediatric_Cardiology

Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance														
	Member	Pro	ovider	Counts	Patio Mombors	With Acc	ess	Without Ac	cess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Catoosa, GA	1,604	Pediatric_Car	1 in 30 miles	21	76.4	1,604	100.0	0	0.0	3.3	4.2			
Clarke, GA	4,382	Pediatric_Car	1 in 30 miles	30	146.1	4,382	100.0	0	0.0	3.7	3.9			
Floyd, GA	5,048	Pediatric_Car	1 in 30 miles	9	560.9	5,048	100.0	0	0.0	4.2	4.7			
Gordon, GA	3,082	Pediatric_Car	1 in 30 miles	0		3,082	100.0	0	0.0	5.8	18.9			
Hall, GA	10,893	Pediatric_Car	1 in 30 miles	133	81.9	10,893	100.0	0	0.0	4.9	5.0			
Jackson, GA	4,301	Pediatric_Car	1 in 30 miles	32	134.4	4,301	100.0	0	0.0	4.0	5.8			
Walker, GA	3,250	Pediatric_Car	1 in 30 miles	0		3,250	100.0	0	0.0	9.1	10.3			
Whitfield, GA	7,464	Pediatric_Car	1 in 30 miles	35	213.3	7,464	100.0	0	0.0	4.8	4.9			
Grand Totals	40,024	Pediatric_Ca	1 in 30 miles	260	153.9	40,024	100.0	0	0.0	4.9	6.4			

Pediatric Cardiology - Rural

December 27, 2023

Access Analysis
Pediatric Cardiology- Rural

Member / Provider Groups
Pediatric Rural Members
(NORTH_RURAL)

Pediatric_Cardiology

			Members W	ith and W	ithout Access	S					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Banks, GA	1,335	Pediatric_Car	1 in 45 miles	0		1,335	100.0	0	0.0	8.1	8.7
Chattooga, GA		Pediatric_Car	1 in 45 miles	1	1,470.0	1,470	100.0	0	0.0	5.1	22.3
Dade, GA	641	Pediatric_Car	1 in 45 miles	0		641	100.0	0	0.0	17.0	19.8
Dawson, GA	1,116	Pediatric_Car	1 in 45 miles	15	74.4	1,116	100.0	0	0.0	6.4	6.4
Elbert, GA	1,046	Pediatric_Car	1 in 45 miles	11	95.1	1,046	100.0	0	0.0	5.5	5.6
Fannin, GA	1,196	Pediatric_Car	1 in 45 miles	8	149.5	1,196	100.0	0	0.0	4.5	5.2
Franklin, GA	1,758	Pediatric_Car	1 in 45 miles	32	54.9	1,758	100.0	0	0.0	5.0	5.5
Gilmer, GA	1,476	Pediatric_Car	1 in 45 miles	16	92.3	1,476	100.0	0	0.0	4.6	5.1
Habersham, GA	1,537	Pediatric_Car	1 in 45 miles	6	256.2	1,537	100.0	0	0.0	5.0	5.6
Hart, GA	991	Pediatric_Car	1 in 45 miles	0		991	100.0	0	0.0	13.0	13.2
Lumpkin, GA	778	Pediatric_Car	1 in 45 miles	40	19.5	778	100.0	0	0.0	5.4	5.4
Madison, GA	1,748	Pediatric_Car	1 in 45 miles	0		1,748	100.0	0	0.0	12.4	12.9
Morgan, GA	924	Pediatric_Car	1 in 45 miles	13	71.1	924	100.0	0	0.0	5.4	5.4
Murray, GA	2,298	Pediatric_Car	1 in 45 miles	2	1,149.0	2,298	100.0	0	0.0	5.4	5.4
Oconee, GA	798	Pediatric_Car	1 in 45 miles	17	46.9	798	100.0	0	0.0	5.7	6.2
Oglethorpe, GA	939	Pediatric_Car	1 in 45 miles	0		939	100.0	0	0.0	13.6	13.7
Polk, GA	3,016	Pediatric_Car	1 in 45 miles	1	3,016.0	3,016	100.0	0	0.0	7.6	18.3
Rabun, GA	733	Pediatric_Car	1 in 45 miles	29	25.3	733	100.0	0	0.0	4.5	4.5
Stephens, GA	1,454	Pediatric_Car	1 in 45 miles	25	58.2	1,454	100.0	0	0.0	3.6	3.9
Towns, GA	503	Pediatric_Car	1 in 45 miles	4	125.8	503	100.0	0	0.0	4.5	4.8
Union, GA	1,123	Pediatric Car	1 in 45 miles	47	23.9	1,123	100.0	0	0.0	5.4	5.6
White, GA	943	Pediatric_Car	1 in 45 miles	1	943.0	943	100.0	0	0.0	6.1	6.4
Grand Totals	27,823	Pediatric_Ca	1 in 45 miles	268	103.8	27,823	100.0	0	0.0	6.8	9.2

Pediatric Dermatology - Urban

December 27, 2023

Access Analysis

Pediatric Dermatology- Urban

Member / Provider Groups

Pediatric Urban Members (NORTH_URBAN) Pediatric_Dermatology

Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Catoosa, GA	1,604	Pediatric_Der	1 in 30 miles	2			100.0		0.0	4.6	8.1		
Clarke, GA		_	1 in 30 miles	7			100.0		0.0	3.4	4.3		
Floyd, GA			1 in 30 miles	3	1,682.7		100.0				5.8		
Gordon, GA		_	1 in 30 miles	0			100.0		0.0		24.5		
Hall, GA		_	1 in 30 miles	0		10,893			0.0		14.6		
Jackson, GA			1 in 30 miles	0			100.0		0.0		13.6		
Walker, GA			1 in 30 miles	0			100.0		0.0		12.2		
Whitfield, GA	7,464	Pediatric_Der	1 in 30 miles	1	7,464.0	7,464	100.0	0	0.0	5.1	21.8		
Grand Totals	40,024	Pediatric_De	1 in 30 miles	13	3,078.8	40,024	100.0	0	0.0	9.9	13.9		

Pediatric Dermatology - Rural

December 27, 2023

Access Analysis

Pediatric Dermatology- Rural

Member / Provider Groups

Pediatric Rural Members (NORTH_RURAL) Pediatric_Dermatology

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Banks, GA	1,335	Pediatric_Der	1 in 45 miles	0		1,335	100.0	0	0.0	21.0	21.4
Chattooga, GA	1,470	Pediatric_Der	1 in 45 miles	0		1,470		0	0.0	23.9	23.9
Dade, GA		Pediatric_Der	1 in 45 miles	0			100.0	0	0.0	19.8	
Dawson, GA		Pediatric_Der	1 in 45 miles	6	186.0		100.0	0	0.0	-	7.3
Elbert, GA	1,046	Pediatric_Der	1 in 45 miles	0		1,020	97.5	26	2.5	35.2	
Fannin, GA		Pediatric_Der	1 in 45 miles	2	598.0	1,196		0	0.0	7.1	7.1
Franklin, GA		Pediatric_Der	1 in 45 miles	0		1,758	100.0	0	0.0	24.6	24.7
Gilmer, GA	1,476	Pediatric_Der	1 in 45 miles	0		1,476	100.0	0	0.0	23.0	23.3
Habersham, GA		Pediatric_Der	1 in 45 miles	0		1,537		0	0.0	13.9	13.9
Hart, GA	991	Pediatric_Der	1 in 45 miles	0		991	100.0	0	0.0		
Lumpkin, GA	778	Pediatric_Der	1 in 45 miles	1	778.0	778	100.0	0	0.0	5.6	13.9
Madison, GA	1,748	Pediatric_Der	1 in 45 miles	0		1,748		0	0.0		16.8
Morgan, GA	924	Pediatric_Der	1 in 45 miles	0		924	100.0	0	0.0	27.7	28.4
Murray, GA	2,298	Pediatric_Der	1 in 45 miles	0		2,298	100.0	0	0.0	13.9	28.4
Oconee, GA	798	Pediatric_Der	1 in 45 miles	0		798	100.0	0	0.0	9.0	10.1
Oglethorpe, GA	939	Pediatric_Der	1 in 45 miles	0		939	100.0	0	0.0	15.0	15.8
Polk, GA	3,016	Pediatric_Der	1 in 45 miles	0		3,016	100.0	0	0.0	20.6	20.6
Rabun, GA	733	Pediatric_Der	1 in 45 miles	0		733	100.0	0	0.0		21.7
Stephens, GA	1,454	Pediatric_Der	1 in 45 miles	2	727.0	1,454	100.0	0	0.0	5.3	5.3
Towns, GA	503	Pediatric_Der	1 in 45 miles	0		503	100.0	0	0.0	30.6	30.6
Union, GA	1,123	Pediatric_Der	1 in 45 miles	0		1,123	100.0	0	0.0		18.5
White, GA	943	Pediatric_Der	1 in 45 miles	0		943	100.0	0	0.0	16.2	23.6
Grand Totals	27 022	Pediatric_De	1 in 45 miles	11	2,529.4	27,797	99.9	26	0.1	18.3	20.3
Grand Totals	21,023	Pediatric_De	1 in 45 miles	11	2,529.4	21,191	99.9	20	0.1	10.3	20.3
			l								

Pediatric Endocrinology - Urban

December 27, 2023

Access Analysis

Pediatric Endocrinology- Urban

Member / Provider Groups

Pediatric Urban Members (NORTH_URBAN) Pediatric_Endocrinology

Members With and Without Access Member Provider Counts Patic Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Catoosa, GA	1,604	Pediatric_End	1 in 30 miles	0		1,604	100.0	0	0.0	7.8	8.5		
Clarke, GA	4,382	Pediatric_End	1 in 30 miles	3	1,460.7		100.0	0	0.0	4.0			
Floyd, GA	5,048	Pediatric_End	1 in 30 miles	1	5,048.0	5,048	100.0	0	0.0	5.1	22.6		
Gordon, GA	3,082	Pediatric_End	1 in 30 miles	0		3,082	100.0	0	0.0	19.3	20.5		
Hall, GA	10,893	Pediatric_End	1 in 30 miles	13	837.9	10,893	100.0	0	0.0	4.6	5.9		
Jackson, GA	4,301	Pediatric_End	1 in 30 miles	0		4,301	100.0	0	0.0	10.0	10.5		
Walker, GA	3,250	Pediatric_End	1 in 30 miles	0		3,245	99.8	5	0.2	12.6	14.9		
Whitfield, GA	7,464	Pediatric_End	1 in 30 miles	2	3,732.0	7,464	100.0	0	0.0	4.5	5.4		
Grand Totals	40,024	Pediatric_En	1 in 30 miles	19	2,106.5	40,019	99.9	5	0.1	7.1	10.2		
© 2023 Quest Analytics 11 C		L											

Pediatric Endocrinology - Rural

December 27, 2023

Access Analysis

Pediatric Endocrinology- Rural

Member / Provider Groups

Pediatric Rural Members (NORTH_RURAL) Pediatric_Endocrinology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Banks, GA	1,335	Pediatric_End	1 in 45 miles	0		1,335	100.0	0	0.0	20.4	20.7			
Chattooga, GA	1,470	Pediatric_End	1 in 45 miles	0		1,470	100.0	0	0.0	24.2	36.2			
Dade, GA	641	Pediatric_End	1 in 45 miles	0		641	100.0	0	0.0	23.1	25.9			
Dawson, GA	1,116	Pediatric_End	1 in 45 miles	0		1,116	100.0	0	0.0	13.8	19.0			
Elbert, GA	1,046	Pediatric_End	1 in 45 miles	0		1,046	100.0	0	0.0	31.3	36.1			
Fannin, GA	1,196	Pediatric_End	1 in 45 miles	0		1,196	100.0	0	0.0	37.0	40.5			
Franklin, GA	1,758	Pediatric_End	1 in 45 miles	1	1,758.0	1,532	87.1	226	12.9	37.6	37.6			
Gilmer, GA	1,476	Pediatric_End	1 in 45 miles	0		1,476	100.0	0	0.0	29.0	31.0			
Habersham, GA	1,537	Pediatric_End	1 in 45 miles	0		1,537	100.0	0	0.0	27.3	31.6			
Hart, GA	991	Pediatric_End	1 in 45 miles	0		317	32.0	674	68.0	46.1	47.3			
Lumpkin, GA	778	Pediatric_End	1 in 45 miles	1	778.0	778	100.0	0	0.0	5.6	22.5			
Madison, GA	1,748	Pediatric_End	1 in 45 miles	0		1,748		0	0.0	17.1	17.1			
Morgan, GA	924	Pediatric_End	1 in 45 miles	0		924	100.0	0	0.0	26.4	27.0			
Murray, GA	2,298	Pediatric_End	1 in 45 miles	0		2,298	100.0	0	0.0	13.1	14.1			
Oconee, GA	798	Pediatric_End	1 in 45 miles	0		798	100.0	0	0.0	8.9	8.9			
Oglethorpe, GA	939	Pediatric_End	1 in 45 miles	0		939	100.0	0	0.0	15.3	15.8			
Polk, GA	3,016	Pediatric_End	1 in 45 miles	1	3,016.0	3,016	100.0	0	0.0	15.0	21.0			
Rabun, GA	733	Pediatric_End	1 in 45 miles	0		133	18.1	600	81.9	49.4	53.0			
Stephens, GA	1,454	Pediatric_End	1 in 45 miles	0		1,412	97.1	42	2.9	38.8	40.7			
Towns, GA	503	Pediatric_End	1 in 45 miles	0		503	100.0	0	0.0	34.8	45.5			
Union, GA	1,123	Pediatric_End	1 in 45 miles	0		1,123	100.0	0	0.0	25.8	43.7			
White, GA	943	Pediatric_End	1 in 45 miles	0		943	100.0	0	0.0	16.5	22.0			
Grand Totals	27.823	Pediatric_En	1 in 45 miles	3	9,274.3	26,281	94.5	1,542	5.5	24.3	28.5			
Grana Fotalo	2.,020		1 1000		0,21	20,20	0 110	.,0.2	0.0	20	20.0			

Pediatric ENT - Urban

December 27, 2023

Access Analysis
Pediatric ENT- Urban

Member / Provider Groups
Pediatric Urban Members
(NORTH_URBAN)
Pediatric_ENT

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Catoosa, GA	1,604	Pediatric_ENT	1 in 30 miles	1	1,604.0	1,604	100.0	0	0.0	4.8	12.5			
Clarke, GA	4,382	Pediatric_ENT	1 in 30 miles	9	486.9	4,382	100.0	0	0.0	4.2	4.2			
Floyd, GA		Pediatric_ENT	1 in 30 miles	2	2,524.0		100.0	0	0.0		6.5			
Gordon, GA		Pediatric_ENT	1 in 30 miles	0		3,008		74	2.4		22.4			
Hall, GA		Pediatric_ENT	1 in 30 miles	13		10,893		0	0.0					
Jackson, GA		Pediatric_ENT	1 in 30 miles	0			100.0	0	0.0					
Walker, GA		Pediatric_ENT	1 in 30 miles	0			100.0	0	0.0					
Whitfield, GA	7,464	Pediatric_ENT	1 in 30 miles	0		7,325	98.1	139	1.9	21.8	23.0			
Grand Totals	40,024	Pediatric_ENT	1 in 30 miles	25	1,601.0	39,811	99.5	213	0.5	10.5	11.9			
© 2023 Quest Analytics 11 C														

Pediatric ENT - Rural

December 27, 2023

Access Analysis
Pediatric ENT- Rural

Member / Provider Groups
Pediatric Rural Members
(NORTH_RURAL)
Pediatric_ENT

	Members With and Without Access											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Banks, GA	1,335	Pediatric_ENT	1 in 45 miles	0		1,335	100.0	0	0.0	15.8	19.9	
Chattooga, GA	1,470	Pediatric_ENT	1 in 45 miles	0		1,470	100.0	0	0.0	22.4	23.9	
Dade, GA	641	Pediatric_ENT	1 in 45 miles	0		641	100.0	0	0.0	19.9	20.6	
Dawson, GA	1,116	Pediatric_ENT	1 in 45 miles	2		1,116	100.0	0	0.0	5.1	7.1	
Elbert, GA	1,046	Pediatric_ENT	1 in 45 miles	1	1,046.0	1,046	100.0	0	0.0	6.1	29.9	
Fannin, GA	1,196	Pediatric_ENT	1 in 45 miles	1	1,196.0	1,196	100.0	0	0.0		40.3	
Franklin, GA	1,758	Pediatric_ENT	1 in 45 miles	0		1,758	100.0	0	0.0	25.2	30.7	
Gilmer, GA		Pediatric_ENT	1 in 45 miles	0			100.0	0	0.0		30.1	
Habersham, GA	1,537	Pediatric_ENT	1 in 45 miles	1	1,537.0	1,537	100.0	0	0.0		24.5	
Hart, GA	991	Pediatric_ENT	1 in 45 miles	0		991	100.0	0	0.0		24.0	
Lumpkin, GA	778	Pediatric_ENT	1 in 45 miles	0			100.0	0	0.0		14.0	
Madison, GA		Pediatric_ENT	1 in 45 miles	0		1,748		0	0.0		16.8	
Morgan, GA	924	Pediatric_ENT	1 in 45 miles	0		924	100.0	0	0.0		25.0	
Murray, GA	2,298	Pediatric_ENT	1 in 45 miles	0			100.0	0	0.0		30.0	
Oconee, GA		Pediatric_ENT	1 in 45 miles	0		798		0	0.0		9.8	
Oglethorpe, GA	939	Pediatric_ENT	1 in 45 miles	0		939	100.0	0	0.0		15.7	
Polk, GA	3,016	Pediatric_ENT	1 in 45 miles	0			100.0	0	0.0	19.2	20.7	
Rabun, GA	733	Pediatric_ENT	1 in 45 miles	2			100.0	0	0.0		4.9	
Stephens, GA		Pediatric_ENT	1 in 45 miles	0			100.0	0	0.0	14.9	24.6	
Towns, GA		Pediatric_ENT	1 in 45 miles	0			100.0	0	0.0		25.4	
Union, GA	1,123	Pediatric_ENT	1 in 45 miles	0			100.0	0	0.0	18.5	33.4	
White, GA	943	Pediatric_ENT	1 in 45 miles	0		943	100.0	0	0.0	13.8	20.1	
Grand Totals	27,823	Pediatric_ENT	1 in 45 miles	7	3,974.7	27,823	100.0	0	0.0	16.8	23.3	
	,-				- 7-	,-						

Pediatric Gastroenterology - Urban

December 27, 2023

Access Analysis

Pediatric Gastroenterology-Urban

Member / Provider Groups

Pediatric Urban Members (NORTH_URBAN) Pediatric_Gastroenterology

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Catoosa, GA	1,604	Pediatric_Gas	1 in 30 miles	5	320.8	1,604	100.0	0	0.0	3.5	4.6
Clarke, GA	4,382	Pediatric_Gas	1 in 30 miles	15	292.1	4,382	100.0	0	0.0	3.5	3.7
Floyd, GA	5,048	Pediatric_Gas	1 in 30 miles	4	1,262.0	5,048	100.0	0	0.0	4.7	5.3
Gordon, GA	3,082	Pediatric_Gas	1 in 30 miles	0		3,082	100.0	0		19.6	19.6
Hall, GA	10,893	Pediatric_Gas	1 in 30 miles	22	495.1	10,893	100.0	0	0.0	5.4	6.2
Jackson, GA	4,301	Pediatric_Gas	1 in 30 miles	0		4,301	100.0	0	0.0		10.0
Walker, GA	3,250	Pediatric_Gas	1 in 30 miles	0		3,250	100.0	0	0.0	10.4	10.4
Whitfield, GA	7,464	Pediatric_Gas	1 in 30 miles	10	746.4	7,464	100.0	0	0.0	4.7	4.8
Grand Totals	40,024	Pediatric_Ga	1 in 30 miles	56	714.7	40,024	100.0	0	0.0	6.8	7.3
© 2023 Quest Analytics II C											

Pediatric Gastroenterology - Rural

December 27, 2023

Access Analysis

Pediatric Gastroenterology-Rural

Member / Provider Groups

Pediatric Rural Members (NORTH_RURAL) Pediatric_Gastroenterology

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Banks, GA	1,335	Pediatric_Gas	1 in 45 miles	0		1,335	100.0	0	0.0	14.5	15.6
Chattooga, GA	1,470	Pediatric_Gas	1 in 45 miles	0		1,470	100.0	0	0.0	22.6	22.6
Dade, GA	641	Pediatric_Gas	1 in 45 miles	0		641	100.0	0	0.0	20.2	20.2
Dawson, GA	1,116	Pediatric_Gas	1 in 45 miles	11	101.5	1,116	100.0	0	0.0	6.4	6.9
Elbert, GA	1,046	Pediatric_Gas	1 in 45 miles	0		1,046	100.0	0	0.0	31.2	35.8
Fannin, GA	1,196	Pediatric_Gas	1 in 45 miles	6	199.3	1,196	100.0	0	0.0	4.9	4.9
Franklin, GA	1,758	Pediatric_Gas	1 in 45 miles	0		1,758	100.0	0	0.0	30.9	31.0
Gilmer, GA	1,476	Pediatric_Gas	1 in 45 miles	0		1,476	100.0	0	0.0	18.0	18.0
Habersham, GA	1,537	Pediatric_Gas	1 in 45 miles	4	384.3	1,537	100.0	0	0.0	5.2	5.8
Hart, GA	991	Pediatric_Gas	1 in 45 miles	0		974	98.3	17	1.7	41.9	42.2
Lumpkin, GA	778	Pediatric_Gas	1 in 45 miles	1	778.0	778	100.0	0	0.0	5.6	13.6
Madison, GA	1,748	Pediatric_Gas	1 in 45 miles	0		1,748	100.0	0	0.0	16.6	16.7
Morgan, GA	924	Pediatric_Gas	1 in 45 miles	8	115.5	924	100.0	0	0.0	6.2	6.2
Murray, GA	2,298	Pediatric_Gas	1 in 45 miles	0		2,298	100.0	0	0.0	13.5	13.6
Oconee, GA	798	Pediatric_Gas	1 in 45 miles	17	46.9	798	100.0	0	0.0	6.3	6.4
Oglethorpe, GA	939	Pediatric_Gas	1 in 45 miles	0		939	100.0	0	0.0	15.0	15.4
Polk, GA	3,016	Pediatric Gas	1 in 45 miles	0		3,016	100.0	0	0.0	19.1	19.3
Rabun, GA	733	Pediatric_Gas	1 in 45 miles	8	91.6	733	100.0	0	0.0	4.5	5.0
Stephens, GA	1,454	Pediatric Gas	1 in 45 miles	0		1,454	100.0	0	0.0	14.9	14.9
Towns, GA	503	Pediatric_Gas	1 in 45 miles	1	503.0	503	100.0	0	0.0	5.0	12.6
Union, GA	1,123	Pediatric_Gas	1 in 45 miles	7	160.4	1,123	100.0	0	0.0	4.8	5.7
White, GA	943	Pediatric_Gas	1 in 45 miles	0		943	100.0	0	0.0	11.2	13.3
Grand Totals	27,823	Pediatric_Ga	1 in 45 miles	63	441.6	27,806	99.9	17	0.1	15.5	16.4

Pediatric General Surgery - Urban

December 27, 2023

Access Analysis

Pediatric General Surgery-Urban

Member / Provider Groups

Pediatric Urban Members (NORTH_URBAN) Pediatric_General Surgery

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	ccess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Catoosa, GA	1,604	Pediatric_Ge	1 in 30 miles	12	133.7	1,604	100.0	0	0.0	2.8	2.9	
Clarke, GA	4,382	Pediatric_Ge	1 in 30 miles	74	59.2	4,382	100.0	0	0.0	3.1	3.4	
Floyd, GA	5,048	Pediatric_Ge	1 in 30 miles	21	240.4	5,048	100.0	0	0.0	3.7	4.2	
Gordon, GA	3,082	Pediatric_Ge	1 in 30 miles	0		3,082	100.0	0	0.0	11.2	11.4	
Hall, GA	10,893	Pediatric_Ge	1 in 30 miles	92	118.4	10,893	100.0	0	0.0	4.3	4.3	
Jackson, GA	4,301	Pediatric_Ge	1 in 30 miles	8	537.6	4,301	100.0	0	0.0	4.0	4.2	
Walker, GA	3,250	Pediatric_Ge	1 in 30 miles	0		3,250	100.0	0	0.0	7.9	8.4	
Whitfield, GA	7,464	Pediatric_Ge	1 in 30 miles	12	622.0	7,464	100.0	0	0.0	4.6	4.9	
Grand Totals	40,024	Pediatric_Ge	1 in 30 miles	219	182.8	40,024	100.0	0	0.0	4.9	5.1	
© 2023 Quest Analytics, LLC.		<u> </u>										

Pediatric General Surgery - Rural

December 27, 2023

Access Analysis

Pediatric General Surgery-Rural

Member / Provider Groups

Pediatric Rural Members (NORTH_RURAL) Pediatric_General Surgery

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Banks, GA	1,335	Pediatric_Ge	1 in 45 miles	0		1,335	100.0	0	0.0	8.5	8.9
Chattooga, GA	1,470	Pediatric_Ge	1 in 45 miles	0		1,470	100.0	0	0.0	21.1	22.0
Dade, GA		Pediatric_Ge	1 in 45 miles	2	320.5	641	100.0	0	0.0	8.7	9.9
Dawson, GA	1,116	Pediatric_Ge	1 in 45 miles	2	558.0		100.0	0	0.0	4.3	6.1
Elbert, GA	1,046	Pediatric_Ge	1 in 45 miles	1	1,046.0	1,046	100.0	0	0.0	5.4	16.7
Fannin, GA	1,196	Pediatric_Ge	1 in 45 miles	10	119.6	1,196	100.0	0	0.0	4.6	4.9
Franklin, GA	1,758	Pediatric_Ge	1 in 45 miles	6	293.0	1,758	100.0	0	0.0	5.3	5.4
Gilmer, GA	1,476	Pediatric_Ge	1 in 45 miles	6	246.0	1,476	100.0	0	0.0	3.7	4.5
Habersham, GA	1,537	Pediatric_Ge	1 in 45 miles	4	384.3	1,537	100.0	0	0.0	4.6	5.5
Hart, GA	991	Pediatric_Ge	1 in 45 miles	4	247.8	991	100.0	0	0.0	3.3	3.8
Lumpkin, GA	778	Pediatric_Ge	1 in 45 miles	6	129.7	778	100.0	0	0.0	5.5	5.6
Madison, GA	1,748	Pediatric_Ge	1 in 45 miles	0		1,748	100.0	0	0.0	12.7	12.7
Morgan, GA	924	Pediatric_Ge	1 in 45 miles	3	308.0	924	100.0	0	0.0	5.4	6.0
Murray, GA	2,298	Pediatric_Ge	1 in 45 miles	2 9	1,149.0	2,298	100.0	0	0.0	5.0	12.0
Oconee, GA	798	Pediatric_Ge	1 in 45 miles	9	88.7	798	100.0	0	0.0	4.4	6.1
Oglethorpe, GA	939	Pediatric_Ge	1 in 45 miles	0		939	100.0	0	0.0		14.4
Polk, GA	3,016	Pediatric_Ge	1 in 45 miles	0		3,016	100.0	0	0.0	18.4	18.8
Rabun, GA	733	Pediatric_Ge	1 in 45 miles	3	244.3	733	100.0	0	0.0	4.9	4.9
Stephens, GA	1,454	Pediatric_Ge	1 in 45 miles	3	484.7	1,454	100.0	0	0.0	3.6	4.5
Towns, GA	503	Pediatric_Ge	1 in 45 miles	2 7	251.5	503	100.0	0	0.0	4.8	6.4
Union, GA	1,123	Pediatric_Ge	1 in 45 miles	7	160.4	1,123	100.0	0	0.0	6.4	6.5
White, GA	943	Pediatric_Ge	1 in 45 miles	0		943	100.0	0	0.0	10.3	12.1
Grand Totals	27,823	Pediatric_Ge	1 in 45 miles	70	397.5	27,823	100.0	0	0.0	8.3	9.9

Pediatric Hematology/Oncology - Urban

December 27, 2023

Access Analysis

Pediatric Hematology/Oncology- Urban

Member / Provider Groups

Pediatric Urban Members (NORTH_URBAN) Pediatric_Hematology/Oncology

Members With and Without Access Member Provider Counts Patic Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Catoosa, GA	1,604	Pediatric_He	1 in 30 miles	6	267.3	1,604	100.0	0	0.0	4.0	4.6	
Clarke, GA	4,382	Pediatric_He	1 in 30 miles	29	151.1	4,382	100.0	0	0.0	3.6	3.6	
Floyd, GA	5,048	Pediatric_He	1 in 30 miles	4	1,262.0	5,048	100.0	0	0.0	4.6	5.1	
Gordon, GA	3,082	Pediatric_He	1 in 30 miles	0		3,082	100.0	0	0.0	19.4	19.6	
Hall, GA	10,893	Pediatric_He	1 in 30 miles	26	419.0	10,893	100.0	0	0.0	5.6	5.9	
Jackson, GA	4,301	Pediatric_He	1 in 30 miles	1	4,301.0	4,301	100.0	0	0.0	6.4	9.5	
Walker, GA	3,250	Pediatric_He	1 in 30 miles	0		3,250	100.0	0	0.0	8.4	10.5	
Whitfield, GA	7,464	Pediatric_He	1 in 30 miles	7	1,066.3	7,464	100.0	0	0.0	5.0	5.0	
Grand Totals	40,024	Pediatric_He	1 in 30 miles	73	548.3	40,024	100.0	0	0.0	6.5	7.1	
© 2023 Quest Analytics, LLC.												

Pediatric Hematology/Oncology -Rural

December 27, 2023

Access Analysis

Pediatric Hematology/Oncology- Rural

Member / Provider Groups

Pediatric Rural Members (NORTH_RURAL) Pediatric_Hematology/Oncology

	Members With and Without Access											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Banks, GA	1,335	Pediatric_He	1 in 45 miles	0		1,335	100.0	0	0.0	11.3	17.1	
Chattooga, GA	1,470	Pediatric_He	1 in 45 miles	0		1,470	100.0	0	0.0	22.1	24.0	
Dade, GA	641	Pediatric_He	1 in 45 miles	0		641	100.0	0	0.0	17.5	20.1	
Dawson, GA	1,116	Pediatric_He	1 in 45 miles	0		1,116	100.0	0	0.0	15.8	16.0	
Elbert, GA	1,046	Pediatric_He	1 in 45 miles	0		1,046	100.0	0	0.0	17.1	22.2	
Fannin, GA	1,196	Pediatric_He	1 in 45 miles	1	,	1,196	100.0	0	0.0	_	21.8	
Franklin, GA	1,758	Pediatric_He	1 in 45 miles	2	879.0	1,758	100.0	0	0.0	5.4	11.8	
Gilmer, GA	1,476	Pediatric_He	1 in 45 miles	0		1,476	100.0	0	0.0	18.5	19.3	
Habersham, GA	1,537	Pediatric_He	1 in 45 miles	0		1,537	100.0	0	0.0	13.4	13.7	
Hart, GA	991	Pediatric_He	1 in 45 miles	1	991.0	991	100.0	0	0.0	3.8	13.2	
Lumpkin, GA	778	Pediatric_He	1 in 45 miles	0		778	100.0	0	0.0	20.8	21.1	
Madison, GA	1,748	Pediatric_He	1 in 45 miles	0		1,748	100.0	0	0.0	12.8	15.0	
Morgan, GA	924	Pediatric_He	1 in 45 miles	0			100.0	0	0.0	16.6	17.7	
Murray, GA	2,298	Pediatric_He	1 in 45 miles	0		2,298	100.0	0	0.0	13.8	13.9	
Oconee, GA	798	Pediatric_He	1 in 45 miles	8	99.8	798		0	0.0	6.4	6.4	
Oglethorpe, GA		Pediatric_He	1 in 45 miles	0		939	100.0	0	0.0		15.5	
Polk, GA	3,016	Pediatric_He	1 in 45 miles	0		3,016		0	0.0	19.0	19.2	
Rabun, GA	733	Pediatric_He	1 in 45 miles	1	733.0	733	100.0	0	0.0	5.2	21.1	
Stephens, GA	1,454	Pediatric_He	1 in 45 miles	6	242.3		100.0	0	0.0	3.6	5.6	
Towns, GA	503	Pediatric_He	1 in 45 miles	0			100.0	0	0.0	11.5	12.5	
Union, GA	1,123	Pediatric_He	1 in 45 miles	4	280.8	1,123	100.0	0	0.0	6.1	6.7	
White, GA	943	Pediatric_He	1 in 45 miles	0		943	100.0	0	0.0	18.1	19.4	
Grand Totals	27 022	Pediatric_He	1 in 45 miles	22	1,209.7	27,823	100.0	٥	0.0	13.7	16.0	
Grand Totals	21,023	Pediatric_He	1 in 45 innes	23	1,209.7	21,023	100.0	U	0.0	13.7	16.0	
			I	I								

Pediatric Infectious Disease - Urban

December 27, 2023

Access Analysis

Pediatric Infectious Disease-Urban

Member / Provider Groups

Pediatric Urban Members (NORTH_URBAN) Pediatric_Infectious Disease

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Catoosa, GA	1,604	Pediatric_Infe	1 in 30 miles	1	1,604.0	1,604	100.0	0	0.0	4.7	11.4		
Clarke, GA	4,382	Pediatric_Infe	1 in 30 miles	3	1,460.7	4,382	100.0	0	0.0	4.3	4.5		
Floyd, GA	5,048	Pediatric_Infe	1 in 30 miles	0		4,651	92.1	397	7.9	25.6	25.6		
Gordon, GA	3,082	Pediatric_Infe	1 in 30 miles	0		3,082	100.0	0	0.0	19.9	19.9		
Hall, GA	10,893	Pediatric_Infe	1 in 30 miles	4	2,723.3	10,893	100.0	0	0.0	6.0	6.5		
Jackson, GA	4,301	Pediatric_Infe	1 in 30 miles	0		4,301	100.0	0	0.0	10.1	10.7		
Walker, GA	3,250	Pediatric_Infe	1 in 30 miles	0		3,250	100.0	0	0.0	10.7	12.1		
Whitfield, GA	7,464	Pediatric_Infe	1 in 30 miles	2	3,732.0	7,464	100.0	0	0.0	5.1	5.2		
Grand Totals	40,024	Pediatric_Inf	1 in 30 miles	10	4,002.4	39,627	99.0	397	1.0	10.0	10.6		

Pediatric Infectious Disease - Rural

December 27, 2023

Access Analysis

Pediatric Infectious Disease-

Member / Provider Groups

Pediatric Rural Members (NORTH_RURAL) Pediatric_Infectious Disease

	Members With and Without Access											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Banks, GA	1,335	Pediatric_Infe	1 in 45 miles	0		1,335	100.0	0	0.0	20.2	20.3	
Chattooga, GA	1,470	Pediatric_Infe	1 in 45 miles	0		1,469	99.9	1	0.1	33.9	36.4	
Dade, GA		Pediatric_Infe	1 in 45 miles	0		641	100.0	0	0.0	20.1	22.0	
Dawson, GA	1,116	Pediatric_Infe	1 in 45 miles	0		1,116	100.0	0	0.0	12.9	16.2	
Elbert, GA	1,046	Pediatric_Infe	1 in 45 miles	0		1,046	100.0	0	0.0	31.3	36.2	
Fannin, GA	1,196	Pediatric_Infe	1 in 45 miles	0		1,196	100.0	0	0.0	34.7	35.9	
Franklin, GA	1,758	Pediatric_Infe	1 in 45 miles	0		1,535	87.3	223	12.7	37.5	37.6	
Gilmer, GA	1,476	Pediatric_Infe	1 in 45 miles	0		1,476	100.0	0	0.0	18.3	18.4	
Habersham, GA	1,537	Pediatric_Infe	1 in 45 miles	0		1,537	100.0	0	0.0	27.3	31.0	
Hart, GA	991	Pediatric_Infe	1 in 45 miles	0		317	32.0	674	68.0	46.1	47.3	
Lumpkin, GA	778	Pediatric_Infe	1 in 45 miles	1	778.0	778	100.0	0	0.0	5.6	22.2	
Madison, GA	1,748	Pediatric_Infe	1 in 45 miles	0		1,748	100.0	0	0.0	17.1	17.1	
Morgan, GA	924	Pediatric_Infe	1 in 45 miles	0		924	100.0	0	0.0	20.7	22.5	
Murray, GA	2,298	Pediatric_Infe	1 in 45 miles	0		2,298	100.0	0	0.0	14.1	14.1	
Oconee, GA	798	Pediatric_Infe	1 in 45 miles	0		798	100.0	0	0.0	9.7	10.0	
Oglethorpe, GA	939	Pediatric_Infe	1 in 45 miles	0		939	100.0	0	0.0	15.5	16.1	
Polk, GA	3,016	Pediatric_Infe	1 in 45 miles	0		3,016	100.0	0	0.0	28.0	29.1	
Rabun, GA	733	Pediatric_Infe	1 in 45 miles	0		133	18.1	600	81.9	49.4	52.5	
Stephens, GA	1,454	Pediatric_Infe	1 in 45 miles	0		1,417	97.5	37	2.5	38.6	40.1	
Towns, GA	503	Pediatric_Infe	1 in 45 miles	0		503	100.0	0	0.0	34.8	45.1	
Union, GA	1,123	Pediatric_Infe	1 in 45 miles	0		1,123	100.0	0	0.0	25.8	42.9	
White, GA	943	Pediatric_Infe	1 in 45 miles	0		943	100.0	0	0.0	16.5	21.5	
Grand Totals	27,823	Pediatric_Inf	1 in 45 miles	1	27,823.0	26,288	94.5	1,535	5.5	25.4	28.0	

Pediatric Nephrology - Urban

December 27, 2023

Access Analysis
Pediatric Nephrology- Urban

Member / Provider Groups
Pediatric Urban Members
(NORTH_URBAN)
Pediatric_Nephrology

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Catoosa, GA	1,604	Pediatric_Nep	1 in 30 miles	4	401.0	1,604	100.0	0	0.0	3.7	6.5
Clarke, GA	4,382	Pediatric_Nep	1 in 30 miles	28	156.5	4,382	100.0	0	0.0	2.8	2.8
Floyd, GA	5,048	Pediatric_Nep	1 in 30 miles	8	631.0	5,048	100.0	0	0.0	4.0	4.3
Gordon, GA	3,082	Pediatric_Nep	1 in 30 miles	0		3,082	100.0	0	0.0	5.8	5.8
Hall, GA	10,893	Pediatric_Nep	1 in 30 miles	13	837.9	10,893	100.0	0	0.0	5.6	6.7
Jackson, GA	4,301	Pediatric_Nep	1 in 30 miles	3	1,433.7	4,301	100.0	0	0.0	7.3	8.7
Walker, GA	3,250	Pediatric_Nep	1 in 30 miles	1	3,250.0	3,250	100.0	0	0.0	4.5	7.5
Whitfield, GA			1 in 30 miles	9	829.3		100.0	0	0.0	4.7	4.7
Grand Totals	40,024	Pediatric_Ne	1 in 30 miles	66	606.4	40,024	100.0	0	0.0	4.9	5.8
<u> </u>			L	L							

Pediatric Nephrology - Rural

December 27, 2023

Access Analysis
Pediatric Nephrology- Rural

Member / Provider Groups
Pediatric Rural Members
(NORTH_RURAL)
Pediatric_Nephrology

Chattooga, GA		Members With and Without Access										
County # Group Standard # to Providers # % # % 1 2 Banks, GA 1,335 Pediatric_Nep 1 in 45 miles 0 1,335 100.0 0 0.0 13.4 12 Chattooga, GA 1,470 Pediatric_Nep 1 in 45 miles 2 735.0 1,470 100.0 0 0.0 5.1 52 Dawson, GA 641 Pediatric_Nep 1 in 45 miles 0 641 100.0 0 0.0 12.5 12 Elbert, GA 1,046 Pediatric_Nep 1 in 45 miles 0 1,046 100.0 0 0.0 16.5 16 Fannin, GA 1,758 Pediatric_Nep 1 in 45 miles 1 1,196.0 1,196.100.0 0 0.0 7.7 23 Gilmer, GA 1,476 Pediatric_Nep 1 in 45 miles 1 1,476 100.0 0 0.0 4.4 439.5 </th <th></th> <th>Member</th> <th>Pro</th> <th>ovider</th> <th>Counts</th> <th>Patio Members</th> <th>With Acc</th> <th>ess</th> <th>Without Ac</th> <th>cess</th> <th>Average</th> <th>Distance</th>		Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance
Chattooga, GA	County	#	Group	Standard	#		#	%	#	%	1	2
Dade, GA 641 Dawson, GA 1 in 45 miles 0 641 do.0. 0 0.0 14.8 17 do.0. Elbert, GA 1,046 Pediatric Nep 1 in 45 miles 0 1,046 do.0. 0 0.0 12.5 12 Fannin, GA 1,046 Pediatric Nep 1 in 45 miles 0 1,046 do.0. 0 0.0 16.5 16 Fannin, GA 1,196 Pediatric Nep 1 in 45 miles 1 1,196.0 1,196 do.0. 0 0.0 7.1 23 Franklin, GA 1,758 Pediatric Nep 1 in 45 miles 4 439.5 1,758 l00.0 0 0.0 5.4 5 Gilmer, GA 1,476 Pediatric Nep 1 in 45 miles 10 147.6 1,476 l00.0 0 0.0 4.9 5 Habersham, GA 1,537 Pediatric Nep 1 in 45 miles 7 219.6 1,537 l00.0 0 0.0 4.9 5 Ham, GA 991 Pediatric Nep 1 in 45 miles 3 303.3 </td <td>Banks, GA</td> <td>1,335</td> <td>Pediatric_Nep</td> <td>1 in 45 miles</td> <td>0</td> <td></td> <td>1,335</td> <td>100.0</td> <td>0</td> <td>0.0</td> <td>13.4</td> <td>14.1</td>	Banks, GA	1,335	Pediatric_Nep	1 in 45 miles	0		1,335	100.0	0	0.0	13.4	14.1
Dawson, GA 1,116 Pediatric_Nep 1 in 45 miles 0 1,116 100.0 0 0.0 12.5 12 Elbert, GA 1,046 Pediatric_Nep 1 in 45 miles 0 1,046 100.0 0 0.0 16.5 16 Fannin, GA 1,196 Pediatric_Nep 1 in 45 miles 1 1,196.0 1,196 100.0 0 0.0 7.1 23 Franklin, GA 1,758 Pediatric_Nep 1 in 45 miles 1 1,196.0 1,196 100.0 0 0.0 7.1 23 Gilmer, GA 1,476 Pediatric_Nep 1 in 45 miles 10 147.6 1,00.0 0 0.0 4.9 5 5 5 5 5 5 6	Chattooga, GA	1,470	Pediatric_Nep	1 in 45 miles		735.0	1,470	100.0	0	0.0	5.1	5.3
Elbert, GA	Dade, GA	641	Pediatric_Nep	1 in 45 miles	0		641	100.0	0	0.0	14.8	17.2
Fannin, GA 1,196 Pediatric_Nep 1 in 45 miles 1 1,196.0 1,196 100.0 0 0.0 7.1 23 100.0 1,196 100.0 0 0.0 7.1 23 100.0 1,196 100.0 0 0.0 7.1 23 100.0 1,196 100.0 0 0.0 5.4 5.4 5.5 1,196 100.0 0 0.0 5.4 5.5 1,196 100.0 0 0.0 5.4 5.5 1,196 100.0 0 0.0 5.4 5.5 1,196 100.0 0 0.0 5.4 5.5 1,196 100.0 0 0.0 0.0 5.4 5.5 1,196 100.0 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0	Dawson, GA	1,116	Pediatric_Nep	1 in 45 miles			1,116	100.0		0.0	12.5	12.8
Franklin, GA 1,758 Pediatric_Nep 1 in 45 miles 4 439.5 1,758 100.0 0 0.0 5.4 5.6 Gilmer, GA 1,476 Pediatric_Nep 1 in 45 miles 10 147.6 1,476 100.0 0 0.0 4.9 5.8 Habersham, GA 1,537 Pediatric_Nep 1 in 45 miles 7 219.6 1,537 100.0 0 0.0 4.9 5.8 Hart, GA 991 Pediatric_Nep 1 in 45 miles 3 330.3 991 100.0 0 0.0 4.0 4 Lumpkin, GA 778 Pediatric_Nep 1 in 45 miles 2 389.0 778 100.0 0 0.0 5.6 5.6 Madison, GA 1,748 Pediatric_Nep 1 in 45 miles 0 1,748 100.0 0 0.0 12.8 12.8 12.9 100.0 0 0.0 12.8 12.9 12.9 100.0 0 0.0 1	Elbert, GA	1,046	Pediatric_Nep	1 in 45 miles	0		1,046	100.0	0	0.0	16.5	16.6
Gilmer, GA	Fannin, GA	1,196	Pediatric_Nep	1 in 45 miles	1	1,196.0	1,196	100.0		0.0	7.1	23.8
Habersham, GA 1,537 Pediatric_Nep 1 in 45 miles 7 219.6 1,537 100.0 0 0.0 4.3 5 Hart, GA 991 Pediatric_Nep 1 in 45 miles 3 330.3 991 100.0 0 0.0 4.0 4 Lumpkin, GA 778 Pediatric_Nep 1 in 45 miles 2 389.0 778 100.0 0 0.0 5.6 5 Madison, GA 1,748 Pediatric_Nep 1 in 45 miles 0 1,748 100.0 0 0.0 12.8 12 Morgan, GA 924 Pediatric_Nep 1 in 45 miles 0 924 100.0 0 0.0 12.8 12 Murray, GA 2,298 Pediatric_Nep 1 in 45 miles 3 766.0 2,298 100.0 0 0.0 5.4 5 Oglethorpe, GA 939 Pediatric_Nep 1 in 45 miles 8 99.8 798 100.0 0 0.0 5.9 5 Rabun, GA 3,016 Pediatric_Nep	Franklin, GA	1,758	Pediatric_Nep	1 in 45 miles	4	439.5	1,758	100.0	0	0.0	5.4	5.6
Hart, GA 991 Pediatric_Nep 1 in 45 miles 3 330.3 991 100.0 0 0.0 4.0 4.0 4.0 Lumpkin, GA 778 Pediatric_Nep 1 in 45 miles 2 389.0 778 100.0 0 0.0 5.6 5.6 5.6 Madison, GA 1,748 Pediatric_Nep 1 in 45 miles 0 1,748 100.0 0 0.0 12.8 12.8 Morgan, GA 924 Pediatric_Nep 1 in 45 miles 0 924 100.0 0 0.0 12.8 12.8 Morgan, GA 2,298 Pediatric_Nep 1 in 45 miles 3 766.0 2,298 100.0 0 0.0 5.4 5.5 0.0 0.0 0.0 5.4 5.5 0.0 0.0 0.0 5.4 5.5 0.0 0.0 0.0 5.9 5.5 0.0 0.0 0.0 5.9 5.5 0.0 0.0 0.0 0.0 5.9 5.5 0.0 0.0 0.0 0.0 0.0 5.9 5.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0	Gilmer, GA			1 in 45 miles						0.0	-	5.0
Lumpkin, GA 778 Pediatric_Nep 1 in 45 miles 2 389.0 778 100.0 0 0.0 5.6 5 Madison, GA 1,748 Pediatric_Nep 1 in 45 miles 0 1,748 100.0 0 0.0 12.8 12 Morgan, GA 924 Pediatric_Nep 1 in 45 miles 0 924 100.0 0 0.0 14.2 14 Murray, GA 2,298 Pediatric_Nep 1 in 45 miles 3 766.0 2,298 100.0 0 0.0 5.4 5 Oconee, GA 798 Pediatric_Nep 1 in 45 miles 8 99.8 798 100.0 0 0.0 5.9 5 Oglethorpe, GA 939 Pediatric_Nep 1 in 45 miles 0 939 100.0 0 0.0 5.9 5 Rabun, GA 3,016 Pediatric_Nep 1 in 45 miles 3 1,005.3 3,016 100.0 0 0.0 4.7 4 Stephens, GA 1,454 Pediatric_Nep	Habersham, GA	1,537	Pediatric_Nep	1 in 45 miles	7	219.6			0	0.0	4.3	5.1
Madison, GA 1,748 Pediatric_Nep 1 in 45 miles 0 1,748 100.0 0 0.0 12.8 12 Morgan, GA 924 Pediatric_Nep 1 in 45 miles 0 924 100.0 0 0.0 14.2 14 Murray, GA 2,298 Pediatric_Nep 1 in 45 miles 3 766.0 2,298 100.0 0 0.0 5.4 5 Oconee, GA 798 Pediatric_Nep 1 in 45 miles 8 99.8 798 100.0 0 0.0 5.9 5 Oglethorpe, GA 939 Pediatric_Nep 1 in 45 miles 0 939 100.0 0 0.0 5.9 5 Oglethorpe, GA 939 Pediatric_Nep 1 in 45 miles 3 1,005.3 3,016 100.0 0 0.0 13.1 13 Polk, GA 3,016 Pediatric_Nep 1 in 45 miles 3 1,005.3 3,016 100.0 0 0.0 0.0 4.7 4 Stephens, GA 1,454 <t< td=""><td>Hart, GA</td><td>991</td><td>Pediatric_Nep</td><td>1 in 45 miles</td><td></td><td></td><td>991</td><td>100.0</td><td></td><td></td><td></td><td>4.1</td></t<>	Hart, GA	991	Pediatric_Nep	1 in 45 miles			991	100.0				4.1
Morgan, GA 924 Pediatric_Nep 1 in 45 miles 0 924 100.0 0 0.0 14.2 14.2 Murray, GA 2,298 Pediatric_Nep 1 in 45 miles 3 766.0 2,298 100.0 0 0.0 5.4 5.8 Oconee, GA 798 Pediatric_Nep 1 in 45 miles 8 99.8 798 100.0 0 0.0 5.9 5.9 Oglethorpe, GA 939 Pediatric_Nep 1 in 45 miles 0 939 100.0 0 0.0 5.9 5.0 Polk, GA 3,016 Pediatric_Nep 1 in 45 miles 3 1,005.3 3,016 100.0 0 0.0 0.0 5.3 6.0 Rabun, GA 733 Pediatric_Nep 1 in 45 miles 3 244.3 733 100.0 0 0.0 4.7 4.0 Stephens, GA 1,454 Pediatric_Nep 1 in 45 miles 0 503 100.0 <td>Lumpkin, GA</td> <td>778</td> <td>Pediatric_Nep</td> <td>1 in 45 miles</td> <td></td> <td>389.0</td> <td></td> <td></td> <td>0</td> <td></td> <td>5.6</td> <td>5.6</td>	Lumpkin, GA	778	Pediatric_Nep	1 in 45 miles		389.0			0		5.6	5.6
Murray, GA 2,298 Pediatric_Nep 1 in 45 miles 3 766.0 2,298 100.0 0 0.0 5.4 5.8 Oconee, GA 798 Pediatric_Nep 1 in 45 miles 8 99.8 798 100.0 0 0.0 5.9 5.9 Oglethorpe, GA 939 Pediatric_Nep 1 in 45 miles 0 939 100.0 0 0.0 13.1 13 Polk, GA 3,016 Pediatric_Nep 1 in 45 miles 3 1,005.3 3,016 100.0 0 0.0 5.3 6 Rabun, GA 733 Pediatric_Nep 1 in 45 miles 3 244.3 733 100.0 0 0.0 4.7 4 Stephens, GA 1,454 Pediatric_Nep 1 in 45 miles 4 363.5 1,454 100.0 0 0.0 4.8 4 Towns, GA 503 Pediatric_Nep 1 in 45 miles 0 503 100.0 0 0.0 17.9 25 Union, GA 943 Pediatric_Nep	Madison, GA	1,748	Pediatric_Nep	1 in 45 miles								12.9
Oconee, GA 798 Pediatric_Nep 1 in 45 miles 8 99.8 798 100.0 0 0.0 5.9 <th< td=""><td>Morgan, GA</td><td>924</td><td>Pediatric_Nep</td><td>1 in 45 miles</td><td>0</td><td></td><td>924</td><td>100.0</td><td>0</td><td>0.0</td><td>14.2</td><td>14.2</td></th<>	Morgan, GA	924	Pediatric_Nep	1 in 45 miles	0		924	100.0	0	0.0	14.2	14.2
Oglethorpe, GA 939 Pediatric_Nep 1 in 45 miles 0 939 100.0 0 0.0 13.1 13 Polk, GA 3,016 Pediatric_Nep 1 in 45 miles 3 1,005.3 3,016 100.0 0 0.0 5.3 6 Rabun, GA 733 Pediatric_Nep 1 in 45 miles 3 244.3 733 100.0 0 0.0 4.7 4 Stephens, GA 1,454 Pediatric_Nep 1 in 45 miles 4 363.5 1,454 100.0 0 0.0 4.8 4 Towns, GA 503 Pediatric_Nep 1 in 45 miles 0 503 100.0 0 0.0 23.1 24 Union, GA 1,123 Pediatric_Nep 1 in 45 miles 0 1,123 100.0 0 0.0 17.9 25 White, GA 943 Pediatric_Nep 1 in 45 miles 0 943 100.0 0 0.0 9.8 11	Murray, GA	2,298	Pediatric_Nep	1 in 45 miles						0.0	5.4	5.4
Polk, GA 3,016 Pediatric_Nep 1 in 45 miles 3 1,005.3 3,016 100.0 0 0.0 5.3 6 Rabun, GA 733 Pediatric_Nep 1 in 45 miles 3 244.3 733 100.0 0 0.0 4.7 2 Stephens, GA 1,454 Pediatric_Nep 1 in 45 miles 4 363.5 1,454 100.0 0 0.0 4.8 4 Towns, GA 503 Pediatric_Nep 1 in 45 miles 0 503 100.0 0 0.0 23.1 24 Union, GA 1,123 Pediatric_Nep 1 in 45 miles 0 1,123 100.0 0 0.0 17.9 25 White, GA 943 Pediatric_Nep 1 in 45 miles 0 943 100.0 0 0.0 9.8 1	Oconee, GA		_ '	1 in 45 miles					0		5.9	5.9
Rabun, GA 733 Pediatric_Nep 1 in 45 miles 3 244.3 733 100.0 0 0.0 4.7 4 Stephens, GA 1,454 Pediatric_Nep 1 in 45 miles 4 363.5 1,454 100.0 0 0.0 4.8 4 Towns, GA 503 Pediatric_Nep 1 in 45 miles 0 503 100.0 0 0.0 23.1 24 Union, GA 1,123 Pediatric_Nep 1 in 45 miles 0 1,123 100.0 0 0.0 17.9 25 White, GA 943 Pediatric_Nep 1 in 45 miles 0 943 100.0 0 0.0 9.8 14	, , ,	939	Pediatric_Nep	1 in 45 miles						0.0		13.1
Stephens, GA 1,454 Pediatric_Nep 1 in 45 miles 4 363.5 1,454 100.0 0 0.0 4.8 4 Towns, GA 503 Pediatric_Nep 1 in 45 miles 0 503 100.0 0 0.0 23.1 24 Union, GA 1,123 Pediatric_Nep 1 in 45 miles 0 1,123 100.0 0 0.0 17.9 25 White, GA 943 Pediatric_Nep 1 in 45 miles 0 943 100.0 0 0.0 9.8 14	Polk, GA	3,016	Pediatric_Nep	1 in 45 miles			3,016		0	0.0		6.2
Towns, GA 503 Pediatric_Nep 1 in 45 miles 0 503 100.0 0 0.0 23.1 24 Union, GA 1,123 Pediatric_Nep 1 in 45 miles 0 1,123 100.0 0 0.0 17.9 25 White, GA 943 Pediatric_Nep 1 in 45 miles 0 943 100.0 0 0.0 9.8 1		733	Pediatric_Nep	1 in 45 miles							4.7	4.9
Union, GA 1,123 Pediatric_Nep 1 in 45 miles 0 1,123 100.0 0 0.0 17.9 25 White, GA 943 Pediatric_Nep 1 in 45 miles 0 943 100.0 0 0.0 9.8 1				1 in 45 miles	4	363.5			0	0.0		4.9
White, GA 943 Pediatric_Nep 1 in 45 miles 0 943 100.0 0 0.0 9.8 11	Towns, GA			1 in 45 miles							23.1	24.3
	Union, GA	1,123	Pediatric_Nep	1 in 45 miles	0				0	0.0	17.9	25.8
Grand Totals 27,823 Pediatric_Ne 1 in 45 miles 50 556.5 27,823 100.0 0 0.0 8.6 10	White, GA	943	Pediatric_Nep	1 in 45 miles	0		943	100.0	0	0.0	9.8	11.6
	Grand Totals	27,823	Pediatric_Ne	1 in 45 miles	50	556.5	27,823	100.0	0	0.0	8.6	10.0

Pediatric Neurology - Urban

December 27, 2023

Access Analysis
Pediatric Neurology- Urban

Member / Provider Groups
Pediatric Urban Members
(NORTH_URBAN)
Pediatric_Neurology

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Catoosa, GA	1,604	Pediatric_Neu	1 in 30 miles	2	802.0	1,604	100.0	0	0.0	4.6	7.7	
Clarke, GA	4,382	Pediatric_Neu	1 in 30 miles	93	47.1	4,382	100.0	0	0.0	3.5	3.6	
Floyd, GA	5,048	Pediatric_Neu	1 in 30 miles	14	360.6	5,048	100.0	0	0.0	3.8	4.7	
Gordon, GA	3,082	Pediatric_Neu	1 in 30 miles	0		3,082	100.0	0	0.0	19.2	19.5	
Hall, GA	10,893	Pediatric_Neu	1 in 30 miles	43	253.3	10,893	100.0	0	0.0	5.5	5.8	
Jackson, GA	4,301	Pediatric_Neu	1 in 30 miles	0		4,301	100.0	0	0.0	9.1	9.2	
Walker, GA	3,250	Pediatric_Neu	1 in 30 miles	0		3,250	100.0	0	0.0	10.6	11.9	
Whitfield, GA	7,464	Pediatric_Neu	1 in 30 miles	9	829.3	7,464	100.0	0	0.0	4.9	5.0	
Grand Totals	40,024	Pediatric_Ne	1 in 30 miles	161	248.6	40,024	100.0	0	0.0	6.8	7.2	
			I .									

Pediatric Neurology - Rural

December 27, 2023

Access Analysis
Pediatric Neurology- Rural

Member / Provider Groups
Pediatric Rural Members
(NORTH_RURAL)
Pediatric_Neurology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Banks, GA	1,335	Pediatric_Neu	1 in 45 miles	0		1,335	100.0	0	0.0	14.5	15.3		
Chattooga, GA	1,470	Pediatric_Neu	1 in 45 miles	0		1,470	100.0	0	0.0	22.3	22.4		
Dade, GA	641	Pediatric_Neu	1 in 45 miles	0		641	100.0	0	0.0	20.1	21.8		
Dawson, GA	1,116	Pediatric_Neu	1 in 45 miles	1	1,116.0	1,116	100.0	0	0.0	6.7	13.2		
Elbert, GA	1,046	Pediatric_Neu	1 in 45 miles	0		1,046	100.0	0	0.0	21.3	27.9		
Fannin, GA	1,196	Pediatric_Neu	1 in 45 miles	0		1,196	100.0	0	0.0	23.3	24.4		
Franklin, GA	1,758	Pediatric_Neu	1 in 45 miles	1	1,758.0	1,758	100.0	0	0.0	5.6	13.5		
Gilmer, GA	1,476	Pediatric_Neu	1 in 45 miles	12	123.0	1,476	100.0	0	0.0	5.4	5.4		
Habersham, GA	1,537	Pediatric_Neu	1 in 45 miles	3	512.3	1,537	100.0	0	0.0	5.8	5.8		
Hart, GA	991	Pediatric_Neu	1 in 45 miles	0		991	100.0	0	0.0	13.4	16.8		
Lumpkin, GA	778	Pediatric_Neu	1 in 45 miles	1	778.0	778	100.0	0	0.0	5.6	13.8		
Madison, GA	1,748	Pediatric_Neu	1 in 45 miles	0		1,748	100.0	0	0.0	13.2	16.1		
Morgan, GA	924	Pediatric_Neu	1 in 45 miles	0		924	100.0	0	0.0	16.7	19.8		
Murray, GA	2,298	Pediatric_Neu	1 in 45 miles	0		2,298	100.0	0	0.0	13.5	13.7		
Oconee, GA	798	Pediatric_Neu	1 in 45 miles	6	133.0	798	100.0		0.0	4.9	5.2		
Oglethorpe, GA	939	Pediatric_Neu	1 in 45 miles	0		939	100.0	0	0.0	14.4	15.3		
Polk, GA	3,016	Pediatric_Neu	1 in 45 miles	1	3,016.0	3,016	100.0	0	0.0	7.1	17.1		
Rabun, GA	733	Pediatric Neu	1 in 45 miles	0		733	100.0	0	0.0	21.7	25.2		
Stephens, GA	1,454	Pediatric Neu	1 in 45 miles	0		1,454	100.0	0	0.0	13.0	14.8		
Towns, GA	503	Pediatric Neu	1 in 45 miles	1	503.0	503	100.0	0	0.0	5.7	31.6		
Union, GA	1,123	Pediatric Neu	1 in 45 miles	0		1,123	100.0	0	0.0	18.0	26.1		
White, GA		Pediatric_Neu	1 in 45 miles	0			100.0		0.0	12.7	13.9		
		_											
Grand Totals	27,823	Pediatric_Ne	1 in 45 miles	26	1,070.1	27,823	100.0	0	0.0	12.4	16.3		
				<u> </u>									

Pediatric Ophthalmology - Urban

December 27, 2023

Access Analysis

Pediatric Ophthalmology- Urban

Member / Provider Groups

Pediatric Urban Members (NORTH_URBAN) Pediatric_Ophthalmology

Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Catoosa, GA	1,604	Pediatric_Op	1 in 30 miles	2	802.0	1,604	100.0	0	0.0	6.0	6.4	
Clarke, GA	4,382	Pediatric_Op	1 in 30 miles	12	365.2	4,382	100.0	0	0.0	4.3		
Floyd, GA	5,048	Pediatric_Op	1 in 30 miles	8	631.0	5,048	100.0	0	0.0	5.1	5.1	
Gordon, GA	3,082	Pediatric_Op	1 in 30 miles	0		3,082	100.0	0	0.0	17.2	17.2	
Hall, GA	10,893	Pediatric_Op	1 in 30 miles	10	1,089.3	10,893	100.0	0	0.0	5.8	5.9	
Jackson, GA	4,301	Pediatric_Op	1 in 30 miles	1	4,301.0	4,301	100.0	0	0.0	6.4	9.8	
Walker, GA			1 in 30 miles	0		3,250	100.0	0	0.0	8.4	8.9	
Whitfield, GA	7,464	Pediatric_Op	1 in 30 miles	6	1,244.0	7,464	100.0	0	0.0	4.4	4.4	
Grand Totals	40,024	Pediatric_Op	1 in 30 miles	39	1,026.3	40,024	100.0	0	0.0	6.5	6.9	

Pediatric Ophthalmology - Rural

December 27, 2023

Access Analysis

Pediatric Ophthalmology- Rural

Member / Provider Groups

Pediatric Rural Members (NORTH_RURAL) Pediatric_Ophthalmology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Banks, GA	1,335	Pediatric_Op	1 in 45 miles	0		1,335	100.0	0	0.0	8.5	18.2		
Chattooga, GA	1,470	Pediatric_Op	1 in 45 miles	0		1,470		0	0.0	22.2	22.2		
Dade, GA		Pediatric_Op	1 in 45 miles	0			100.0	0	0.0		18.5		
Dawson, GA	1,116	Pediatric_Op	1 in 45 miles	0			100.0	0	0.0	_	16.7		
Elbert, GA	1,046	Pediatric_Op	1 in 45 miles	0		1,046	100.0	0	0.0		29.6		
Fannin, GA		Pediatric_Op	1 in 45 miles	0		1,196		0	0.0		32.3		
Franklin, GA		Pediatric_Op	1 in 45 miles	2	879.0	1,758	100.0	0	0.0	9.2	9.4		
Gilmer, GA	1,476	Pediatric_Op	1 in 45 miles	0		1,476	100.0	0	0.0	_	20.4		
Habersham, GA	1,537	Pediatric_Op	1 in 45 miles	1	1,537.0	1,537	100.0	0	0.0	5.5	26.4		
Hart, GA	991	Pediatric_Op	1 in 45 miles	0		991	100.0	0	0.0	14.3	14.3		
Lumpkin, GA	778	Pediatric_Op	1 in 45 miles	0		778	100.0	0	0.0	21.8	22.4		
Madison, GA	1,748	Pediatric_Op	1 in 45 miles	0		1,748		0	0.0	-	16.5		
Morgan, GA	924	Pediatric_Op	1 in 45 miles	0		924	100.0	0	0.0	17.4	17.4		
Murray, GA	2,298	Pediatric_Op	1 in 45 miles	4	574.5	2,298	100.0	0	0.0	5.1	5.7		
Oconee, GA	798	Pediatric_Op	1 in 45 miles	2	399.0	798	100.0	0	0.0	6.7	6.7		
Oglethorpe, GA	939	Pediatric_Op	1 in 45 miles	0		939	100.0	0	0.0	15.9	16.4		
Polk, GA	3,016	Pediatric_Op	1 in 45 miles	0		3,016	100.0	0	0.0	19.3	19.7		
Rabun, GA	733	Pediatric_Op	1 in 45 miles	0		733	100.0	0	0.0		40.9		
Stephens, GA	1,454	Pediatric_Op	1 in 45 miles	0		1,454	100.0	0	0.0	13.9	18.5		
Towns, GA	503	Pediatric_Op	1 in 45 miles	0		446	88.7	57	11.3		44.2		
Union, GA	1,123	Pediatric_Op	1 in 45 miles	0		921	82.0	202	18.0	41.7	41.7		
White, GA	943	Pediatric_Op	1 in 45 miles	0		943	100.0	0	0.0	15.0	20.4		
Grand Totals	27 823	Pediatric_Op	1 in 45 miles	9	3,091.4	27,564	99.1	259	0.9	17.1	20.1		
Giana Totals	21,023	rediatric_Op	1 111 43 1111163	9	3,091.4	21,504	33.1	239	0.9	17.1	20.1		
			l										

Pediatric Optometry - Urban

December 27, 2023

Access Analysis
Pediatric Optometry- Urban

Member / Provider Groups
Pediatric Urban Members
(NORTH_URBAN)
Pediatric_Optometry

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Catoosa, GA	1,604	Pediatric_Opt	1 in 30 miles	6	267.3	1,604	100.0	0	0.0	5.6	5.6		
Clarke, GA	4,382	Pediatric_Opt	1 in 30 miles	6	730.3	4,382	100.0	0	0.0	2.4	3.0		
Floyd, GA	5,048	Pediatric_Opt	1 in 30 miles	3	1,682.7		100.0		0.0	5.4	5.4		
Gordon, GA	3,082	Pediatric_Opt	1 in 30 miles	0			100.0				19.5		
Hall, GA	10,893	Pediatric_Opt	1 in 30 miles	6	1,815.5	10,893					6.2		
Jackson, GA			1 in 30 miles	6			100.0		0.0		6.6		
Walker, GA			1 in 30 miles	0			100.0	0			8.4		
Whitfield, GA	7,464	Pediatric_Opt	1 in 30 miles	5	1,492.8	7,464	100.0	0	0.0	3.9	5.0		
Grand Totals	40,024	Pediatric_Op	1 in 30 miles	32	1,250.8	40,024	100.0	0	0.0	5.9	6.7		
© 2023 Quest Analytics II C													

Pediatric Optometry - Rural

December 27, 2023

Access Analysis
Pediatric Optometry- Rural

Member / Provider Groups
Pediatric Rural Members
(NORTH_RURAL)
Pediatric_Optometry

Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Banks, GA	1,335	Pediatric_Opt	1 in 45 miles	0		1,335	100.0	0	0.0	12.1	12.9		
Chattooga, GA	1,470	Pediatric_Opt	1 in 45 miles	0		1,470	100.0	0	0.0	21.8	21.8		
Dade, GA	641	Pediatric_Opt	1 in 45 miles	2	320.5	641	100.0	0	0.0	5.6	5.6		
Dawson, GA	1,116	Pediatric_Opt	1 in 45 miles	4	279.0	1,116	100.0	0	0.0	4.2	4.6		
Elbert, GA	1,046	Pediatric_Opt	1 in 45 miles	0		1,046	100.0	0	0.0	29.0	29.0		
Fannin, GA	1,196	Pediatric_Opt	1 in 45 miles	0		1,196	100.0	0	0.0	23.2	23.2		
Franklin, GA	1,758	Pediatric_Opt	1 in 45 miles	2	879.0	1,758	100.0	0	0.0	9.1	9.2		
Gilmer, GA	1,476	Pediatric_Opt	1 in 45 miles	3	492.0	1,476	100.0	0	0.0	5.6	5.6		
Habersham, GA	1,537	Pediatric_Opt	1 in 45 miles	0		1,537	100.0	0	0.0	14.4	22.9		
Hart, GA	991	Pediatric_Opt	1 in 45 miles	0		991	100.0	0	0.0	14.3	14.3		
Lumpkin, GA	778	Pediatric_Opt	1 in 45 miles	3	259.3	778	100.0	0	0.0	5.3	5.5		
Madison, GA	1,748	Pediatric_Opt	1 in 45 miles	0		1,748	100.0	0	0.0	12.9	12.9		
Morgan, GA	924	Pediatric_Opt	1 in 45 miles	0		924	100.0	0	0.0	17.9	18.0		
Murray, GA	2,298	Pediatric_Opt	1 in 45 miles	7	328.3	2,298	100.0	0	0.0	5.3	5.3		
Oconee, GA	798	Pediatric_Opt	1 in 45 miles	2	399.0	798	100.0	0	0.0	5.6	6.9		
Oglethorpe, GA	939	Pediatric_Opt	1 in 45 miles	0		939	100.0	0	0.0	11.2	11.2		
Polk, GA	3,016	Pediatric_Opt	1 in 45 miles	0		3,016	100.0	0	0.0	19.1	19.4		
Rabun, GA	733	Pediatric_Opt	1 in 45 miles	3	244.3	733	100.0	0	0.0	5.0	5.0		
Stephens, GA	1,454	Pediatric_Opt	1 in 45 miles	1	1,454.0	1,454	100.0	0	0.0	4.1	18.3		
Towns, GA	503	Pediatric_Opt	1 in 45 miles	0		503	100.0	0	0.0	24.1	24.2		
Union, GA	1,123	Pediatric_Opt	1 in 45 miles	0		1,123	100.0	0	0.0	24.6	24.9		
White, GA	943	Pediatric_Opt	1 in 45 miles	0		943	100.0	0	0.0	15.8	15.8		
Grand Totals	27,823	Pediatric_Op	1 in 45 miles	27	1,030.5	27,823	100.0	0	0.0	13.2	14.6		
© 2023 Quest Analytics 11 C													

Pediatric Orthopedics - Urban

December 27, 2023

Access Analysis

Pediatric Othopedics- Urban

Member / Provider Groups

Pediatric Urban Members (NORTH_URBAN) Pediatric_Orthopedics

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Catoosa, GA	1,604	Pediatric_Ort	1 in 30 miles	6	267.3	1,604	100.0	0	0.0	3.0	3.8		
Clarke, GA	4,382	Pediatric_Ort	1 in 30 miles	31	141.4	4,382	100.0	0	0.0	1.8	2.6		
Floyd, GA	5,048	Pediatric_Ort	1 in 30 miles	17	296.9	5,048	100.0	0	0.0	4.2	4.2		
Gordon, GA	3,082	Pediatric_Ort	1 in 30 miles	0		3,082	100.0	0		10.7	16.8		
Hall, GA	10,893	Pediatric_Ort	1 in 30 miles	74	147.2	10,893	100.0	0	0.0	4.0	4.8		
Jackson, GA	4,301	Pediatric_Ort	1 in 30 miles	1	4,301.0	4,301	100.0	0			8.5		
Walker, GA	3,250	Pediatric_Ort	1 in 30 miles	1	3,250.0	3,250	100.0	0	0.0	7.4	8.3		
Whitfield, GA	7,464	Pediatric_Ort	1 in 30 miles	14	533.1	7,464	100.0	0	0.0	4.2	4.3		
Grand Totals	40,024	Pediatric_Ort	1 in 30 miles	144	277.9	40,024	100.0	0	0.0	4.6	5.9		
© 2023 Quest Analytics 11 C													

Pediatric Orthopedics - Rural

December 27, 2023

Access Analysis

Pediatric Orthopedics- Rural

Member / Provider Groups

Pediatric Rural Members (NORTH_RURAL) Pediatric_Orthopedics

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Banks, GA	1,335	Pediatric_Ort	1 in 45 miles	1	1,335.0	1,335	100.0	0	0.0	7.5	13.1	
Chattooga, GA	1,470	Pediatric_Ort	1 in 45 miles	0		1,470	100.0	0	0.0	5.1	22.3	
Dade, GA	641	Pediatric_Ort	1 in 45 miles	0		641	100.0	0	0.0	16.6	17.1	
Dawson, GA	1,116	Pediatric_Ort	1 in 45 miles	8	139.5		100.0	0	0.0	5.7	6.1	
Elbert, GA	1,046	Pediatric_Ort	1 in 45 miles	3	348.7	1,046	100.0	0	0.0	5.4	5.5	
Fannin, GA	1,196	Pediatric_Ort	1 in 45 miles	3	398.7	1,196	100.0	0	0.0	5.3	6.6	
Franklin, GA	1,758	Pediatric_Ort	1 in 45 miles	9	195.3	1,758	100.0	0	0.0	5.2	5.3	
Gilmer, GA	1,476	Pediatric_Ort	1 in 45 miles	1	1,476.0	1,476	100.0	0	0.0	5.4	15.0	
Habersham, GA	1,537	Pediatric_Ort	1 in 45 miles	8	192.1	1,537	100.0	0	0.0	3.9	5.5	
Hart, GA	991	Pediatric_Ort	1 in 45 miles	4	247.8	991	100.0	0	0.0	3.4	3.4	
Lumpkin, GA	778	Pediatric_Ort	1 in 45 miles	6	129.7	778	100.0	0	0.0	4.5	4.6	
Madison, GA	1,748	Pediatric_Ort	1 in 45 miles	0		1,748	100.0	0	0.0	11.9	12.4	
Morgan, GA	924	Pediatric_Ort	1 in 45 miles	2	462.0	924	100.0	0	0.0	5.4	5.6	
Murray, GA	2,298	Pediatric_Ort	1 in 45 miles	3	766.0	2,298	100.0	0	0.0	5.3	5.4	
Oconee, GA	798	Pediatric_Ort	1 in 45 miles	23	34.7	798	100.0	0	0.0	3.9	5.7	
Oglethorpe, GA	939	Pediatric_Ort	1 in 45 miles	0		939	100.0	0	0.0	10.2	12.1	
Polk, GA	3,016	Pediatric_Ort	1 in 45 miles	0		3,016	100.0	0	0.0	19.0	19.1	
Rabun, GA	733	Pediatric_Ort	1 in 45 miles	9	81.4	733	100.0	0	0.0	2.7	3.9	
Stephens, GA	1,454	Pediatric_Ort	1 in 45 miles	3	484.7	1,454	100.0	0	0.0	3.6	4.3	
Towns, GA	503	Pediatric_Ort	1 in 45 miles	0		503	100.0	0	0.0	9.5	12.6	
Union, GA	1,123	Pediatric_Ort	1 in 45 miles	3	374.3	1,123	100.0	0	0.0	5.4	6.7	
White, GA	943	Pediatric_Ort	1 in 45 miles	2	471.5	943	100.0	0	0.0	6.3	6.4	
0 17 11	o= 000		4 . 45 . 11		242.0	07.000	400.0					
Grand Totals	27,823	Pediatric_Ort	1 in 45 miles	88	316.2	27,823	100.0	0	0.0	7.5	9.7	

Pediatric Rheumatology - Urban

December 27, 2023

Access Analysis

Pediatric Rheumatology- Urban

Member / Provider Groups

Pediatric Urban Members (NORTH_URBAN) Pediatric_Rheumatology

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Catoosa, GA	1,604	Pediatric_Rhe	1 in 30 miles	0		1,604	100.0	0	0.0	11.4	11.4		
Clarke, GA	4,382	Pediatric_Rhe	1 in 30 miles	2	2,191.0	4,382	100.0	0	0.0	4.0	4.8		
Floyd, GA	5,048	Pediatric_Rhe	1 in 30 miles	1	5,048.0		100.0		0.0	5.4	39.0		
Gordon, GA	3,082	Pediatric_Rhe	1 in 30 miles	0			100.0				21.5		
Hall, GA	10,893	Pediatric_Rhe	1 in 30 miles	9	1,210.3	10,893					6.1		
Jackson, GA			1 in 30 miles	0			100.0		0.0		11.1		
Walker, GA			1 in 30 miles	0			100.0	0		12.6	12.6		
Whitfield, GA	7,464	Pediatric_Rhe	1 in 30 miles	2	3,732.0	7,464	100.0	0	0.0	5.1	5.1		
Grand Totals	40,024	Pediatric_Rh	1 in 30 miles	14	2,858.9	40,024	100.0	0	0.0	7.9	12.4		
© 2023 Quest Analytics II C													

Pediatric Rheumatology - Rural

December 27, 2023

Access Analysis

Pediatric Rheumatology- Rural

Member / Provider Groups

Pediatric Rural Members (NORTH_RURAL) Pediatric_Rheumatology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Banks, GA	1,335	Pediatric_Rhe	1 in 45 miles	0		1,335	100.0	0	0.0	20.2	20.5		
Chattooga, GA	1,470	Pediatric_Rhe	1 in 45 miles	0		1,470	100.0	0	0.0	22.4	36.8		
Dade, GA	641	Pediatric_Rhe	1 in 45 miles	0		641	100.0	0	0.0	23.1	23.1		
Dawson, GA	1,116	Pediatric_Rhe	1 in 45 miles	0		1,116	100.0	0	0.0	19.4	19.7		
Elbert, GA	1,046	Pediatric_Rhe	1 in 45 miles	0		1,046	100.0	0	0.0	34.6	36.5		
Fannin, GA	1,196	Pediatric_Rhe	1 in 45 miles	0		1,196	100.0	0	0.0	23.5	41.5		
Franklin, GA	1,758	Pediatric_Rhe	1 in 45 miles	0		1,758	100.0	0	0.0	32.2	37.7		
Gilmer, GA		Pediatric_Rhe	1 in 45 miles	1	1,476.0	1,476		0	0.0	5.6	29.0		
Habersham, GA		Pediatric_Rhe	1 in 45 miles	0		1,536	99.9	1	0.1	30.8	30.8		
Hart, GA	991	Pediatric_Rhe	1 in 45 miles	0		991	100.0	0	0.0	28.3	47.3		
Lumpkin, GA	778	Pediatric_Rhe	1 in 45 miles	0		778		0	0.0	21.9	22.2		
Madison, GA	1,748	Pediatric_Rhe	1 in 45 miles	0		1,748		0	0.0	17.1	17.5		
Morgan, GA	924	Pediatric_Rhe	1 in 45 miles	0		924	100.0	0	0.0	26.7	28.1		
Murray, GA	2,298	Pediatric_Rhe	1 in 45 miles	0		2,298		0	0.0	13.8	14.1		
Oconee, GA		Pediatric_Rhe	1 in 45 miles	0		798	100.0	0	0.0	9.5	10.1		
Oglethorpe, GA	939	Pediatric_Rhe	1 in 45 miles	0		939		0	0.0	15.3	16.3		
Polk, GA	3,016	Pediatric_Rhe	1 in 45 miles	0		3,016	100.0	0	0.0	22.0	33.0		
Rabun, GA	733	Pediatric_Rhe	1 in 45 miles	0		37	5.0	696	95.0	51.9	52.4		
Stephens, GA		Pediatric_Rhe	1 in 45 miles	0			100.0	0	0.0	37.9	39.7		
Towns, GA		Pediatric_Rhe	1 in 45 miles	0		335	66.6	168	33.4	43.9	44.4		
Union, GA	1,123	Pediatric_Rhe	1 in 45 miles	0		1,123	100.0	0	0.0	35.0	42.8		
White, GA	943	Pediatric_Rhe	1 in 45 miles	0		943	100.0	0	0.0	21.1	21.1		
Grand Totals	27,823	Pediatric_Rh	1 in 45 miles	1	27,823.0	26,958	96.9	865	3.1	24.0	29.6		
	·	_				·							
		L		l									

Pediatric Vascular Surgery - Urban

December 27, 2023

Access Analysis

Pediatric Vascular Surgery-Urban

Member / Provider Groups

Pediatric Urban Members (NORTH_URBAN) Pediatric_Vascular Surgery

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Catoosa, GA	1,604	Pediatric_Vas	1 in 30 miles	0		1,604	100.0	0	0.0	9.5	9.6		
Clarke, GA	4,382	Pediatric_Vas	1 in 30 miles	15	292.1	4,382	100.0	0	0.0		3.9		
Floyd, GA	5,048	Pediatric_Vas	1 in 30 miles	8	631.0	5,048	100.0	0	0.0	4.4	4.5		
Gordon, GA	3,082	Pediatric_Vas	1 in 30 miles	0		3,082	100.0	0	0.0		19.4		
Hall, GA	10,893	Pediatric_Vas	1 in 30 miles	15	726.2	10,893	100.0	0	0.0	5.9	6.0		
Jackson, GA		Pediatric_Vas	1 in 30 miles	8			100.0	0	0.0		4.6		
Walker, GA	3,250	Pediatric_Vas	1 in 30 miles	0		3,250	100.0	0	0.0	10.4	10.7		
Whitfield, GA	7,464	Pediatric_Vas	1 in 30 miles	4	1,866.0	7,464	100.0	0	0.0	4.6	5.1		
Grand Totals	40,024	Pediatric_Va	1 in 30 miles	50	800.5	40,024	100.0	0	0.0	6.5	6.8		
				<u> </u>									

Pediatric Vascular Surgery -Rural

December 27, 2023

Access Analysis

Pediatric Vascular Surgery-Rural

Member / Provider Groups

Pediatric Rural Members (NORTH_RURAL) Pediatric_Vascular Surgery

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Banks, GA	1,335	Pediatric_Vas	1 in 45 miles	0		1,335	100.0	0	0.0	11.9	12.0		
Chattooga, GA	1,470	Pediatric_Vas	1 in 45 miles	2	735.0	1,470	100.0	0	0.0	5.1	5.1		
Dade, GA	641	Pediatric_Vas	1 in 45 miles	0		641	100.0	0	0.0	21.6	21.6		
Dawson, GA	1,116	Pediatric_Vas	1 in 45 miles	0		1,116	100.0	0	0.0	12.6	12.6		
Elbert, GA	1,046	Pediatric_Vas	1 in 45 miles	0		1,046	100.0	0	0.0	31.9	33.6		
Fannin, GA	1,196	Pediatric_Vas	1 in 45 miles	1	1,196.0	1,196	100.0	0	0.0	6.8	17.5		
Franklin, GA	1,758	Pediatric_Vas	1 in 45 miles	0		1,758	100.0	0	0.0	19.8	19.8		
Gilmer, GA		Pediatric_Vas	1 in 45 miles	4	369.0	1,476		0	0.0	4.6	6.2		
Habersham, GA	1,537	Pediatric_Vas	1 in 45 miles	0		1,537		0	0.0	15.1	15.1		
Hart, GA	991	Pediatric_Vas	1 in 45 miles	0		991	100.0	0	0.0		32.1		
Lumpkin, GA	778	Pediatric_Vas	1 in 45 miles	2	389.0		100.0	0	0.0	5.6	5.6		
Madison, GA	1,748	Pediatric_Vas	1 in 45 miles	0		1,748		0	0.0		14.9		
Morgan, GA	924	Pediatric_Vas	1 in 45 miles	0			100.0	0	0.0	18.1	24.0		
Murray, GA	2,298	Pediatric_Vas	1 in 45 miles	0		2,298		0	0.0		13.8		
Oconee, GA		Pediatric_Vas	1 in 45 miles	5	159.6	798		0	0.0	6.4	6.5		
Oglethorpe, GA		Pediatric_Vas	1 in 45 miles	0			100.0	0	0.0	15.3	15.8		
Polk, GA	3,016	Pediatric_Vas	1 in 45 miles	0		3,016		0	0.0		19.1		
Rabun, GA	733	Pediatric_Vas	1 in 45 miles	0			100.0	0	0.0	23.8	23.8		
Stephens, GA		Pediatric_Vas	1 in 45 miles	3	484.7		100.0	0	0.0	4.0	4.0		
Towns, GA		Pediatric_Vas	1 in 45 miles	0			100.0	0	0.0	12.4	12.7		
Union, GA	1,123	Pediatric_Vas	1 in 45 miles	7	160.4		100.0	0	0.0	5.6	6.7		
White, GA	943	Pediatric_Vas	1 in 45 miles	0		943	100.0	0	0.0	16.3	16.3		
Grand Totals	27.823	Pediatric_Va	1 in 45 miles	24	1,159.3	27,823	100.0	o	0.0	13.9	15.1		
					,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,								

Pediatric Urology - Urban

December 27, 2023

Access Analysis
Pediatric Urology- Urban

Member / Provider Groups
Pediatric Urban Members
(NORTH_URBAN)
Pediatric_Urology

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Catoosa, GA	1,604	Pediatric_Urol	1 in 30 miles	0			100.0	0	0.0	11.3	11.3		
Clarke, GA			1 in 30 miles	16	273.9		100.0	0	0.0	3.7	3.7		
Floyd, GA			1 in 30 miles	5	1,009.6		100.0				5.2		
Gordon, GA			1 in 30 miles	0			100.0	0	0.0	19.6	19.6		
Hall, GA			1 in 30 miles	31	351.4	10,893			0.0	4.7	5.2		
Jackson, GA			1 in 30 miles	0			100.0	0	0.0	9.8	9.8		
Walker, GA			1 in 30 miles	0			100.0		0.0	12.1	12.3		
Whitfield, GA	7,464	Pediatric_Urol	1 in 30 miles	2	3,732.0	7,464	100.0	0	0.0	5.3	5.3		
Grand Totals	40,024	Pediatric_Ur	1 in 30 miles	54	741.2	40,024	100.0	0	0.0	7.3	7.5		

Pediatric Urology -Rural

December 27, 2023

Access Analysis
Pediatric Urology- Rural

Member / Provider Groups
Pediatric Rural Members
(NORTH_RURAL)
Pediatric_Urology

			Members W	ith and W	ithout Acces	S					
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Banks, GA	1,335	Pediatric_Urol	1 in 45 miles	0		1,335	100.0	0	0.0	18.1	18.2
Chattooga, GA	1,470	Pediatric_Urol	1 in 45 miles	0		1,470	100.0	0	0.0	22.3	24.2
Dade, GA	641	Pediatric_Urol	1 in 45 miles	0		641	100.0	0	0.0	22.0	22.5
Dawson, GA	1,116	Pediatric_Urol	1 in 45 miles	0		1,116	100.0	0	0.0	14.4	15.7
Elbert, GA	1,046	Pediatric_Urol	1 in 45 miles	0		1,046	100.0	0	0.0	22.1	22.1
Fannin, GA	1,196	Pediatric_Urol	1 in 45 miles	0		1,196	100.0	0	0.0	17.6	23.0
Franklin, GA	1,758	Pediatric_Urol	1 in 45 miles	4	439.5	1,758	100.0	0	0.0	9.7	9.7
Gilmer, GA	1,476	Pediatric_Urol	1 in 45 miles	2	738.0	1,476	100.0	0	0.0	5.5	5.5
Habersham, GA	1,537	Pediatric_Urol	1 in 45 miles	0		1,537	100.0	0	0.0	22.3	28.5
Hart, GA	991	Pediatric_Urol	1 in 45 miles	0		991	100.0	0	0.0	14.7	14.7
Lumpkin, GA	778	Pediatric_Urol	1 in 45 miles	0		778	100.0	0	0.0	21.1	21.4
Madison, GA	1,748	Pediatric_Urol	1 in 45 miles	0		1,748	100.0	0	0.0	13.3	13.3
Morgan, GA	924	Pediatric_Urol	1 in 45 miles	1	924.0	924	100.0	0	0.0	6.1	16.5
Murray, GA	2,298	Pediatric_Urol	1 in 45 miles	0		2,298	100.0	0	0.0	13.8	14.0
Oconee, GA	798	Pediatric_Urol	1 in 45 miles	9	88.7	798	100.0	0	0.0	6.1	6.2
Oglethorpe, GA		_	1 in 45 miles	0		939	100.0	0	0.0	15.2	15.3
Polk, GA		_	1 in 45 miles	0		3,016	100.0	0	0.0	19.0	19.0
Rabun, GA			1 in 45 miles	1	733.0		100.0	0	0.0	6.1	23.0
Stephens, GA		_	1 in 45 miles	0			100.0	0	0.0	22.8	26.6
Towns, GA	503	Pediatric Urol	1 in 45 miles	4	125.8		100.0	0	0.0	4.9	7.2
Union, GA		_	1 in 45 miles	0		1,123		0	0.0	10.5	16.4
White, GA		Pediatric_Urol	1 in 45 miles	0			100.0	0	0.0	19.5	19.7
,		_									

Pharmacy - Urban

December 27, 2023

Access Analysis
Pharmacy- Urban

Member / Provider Groups
Urban Members
(NORTH_URBAN)
PHARMACY

	Members With and Without Access Member Provider Counts Patic Members With Access Without Access Average Distance											
	Member	Pr	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Catoosa, GA	2,143	PHARMACY	1 in 15 miles	12	178.6	2,143	100.0	0	0.0	2.2	2.8	
Clarke, GA	5,693	PHARMACY	1 in 15 miles	30		5,693	100.0	0	0.0	1.1	1.6	
Floyd, GA	6,354	PHARMACY	1 in 15 miles	22	288.8	6,354	100.0	0	0.0	1.7	2.9	
Gordon, GA	3,913	PHARMACY	1 in 15 miles	0		3,757	96.0	156	4.0	10.6	11.0	
Hall, GA	13,461	PHARMACY	1 in 15 miles	42	320.5	13,461	100.0	0	0.0	2.4	3.2	
Jackson, GA	5,444	PHARMACY	1 in 15 miles	11	494.9	5,444	100.0	0	0.0	2.7	3.2	
Walker, GA	4,326	PHARMACY	1 in 15 miles	9	480.7	4,326	100.0	0	0.0	2.7	3.6	
Whitfield, GA	9,145	PHARMACY	1 in 15 miles	20	457.3	9,145	100.0	0	0.0	2.2	2.9	
Grand Totals	50,479	PHARMACY	1 in 15 miles	146	345.7	50,323	99.7	156	0.3	2.8	3.5	
		l		l								

Pharmacy -Rural

December 27, 2023

Access Analysis
Pharmacy- Rural

Member / Provider Groups
Rural Members
(NORTH_RURAL)
PHARMACY

			Members W	ith and W	ithout Acces	s					
	Member	Pı	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Banks, GA	1,726	PHARMACY	1 in 30 miles	3	575.3	1,726	100.0	0	0.0	4.6	6.8
Chattooga, GA	1,894	PHARMACY	1 in 30 miles	5	378.8	1,894	100.0	0	0.0	2.9	3.9
Dade, GA	825	PHARMACY	1 in 30 miles	4	206.3	825	100.0	0	0.0	4.7	5.0
Dawson, GA	1,457	PHARMACY	1 in 30 miles	6	242.8	1,457		0	0.0	-	6.1
Elbert, GA	1,349	PHARMACY	1 in 30 miles	7	192.7	1,349	100.0	0	0.0	3.5	5.1
Fannin, GA	1,548	PHARMACY	1 in 30 miles	7		1,548		0	0.0		4.8
Franklin, GA	2,326	PHARMACY	1 in 30 miles	5	465.2	2,326	100.0	0	0.0	4.2	6.6
Gilmer, GA	1,854	PHARMACY	1 in 30 miles	4	463.5	1,854	100.0	0	0.0	4.5	5.0
Habersham, GA	2,008	PHARMACY	1 in 30 miles	11	182.5	2,008	100.0	0	0.0	2.8	3.5
Hart, GA	1,295	PHARMACY	1 in 30 miles	5		1,295	100.0	0	0.0	3.1	3.4
Lumpkin, GA	1,041	PHARMACY	1 in 30 miles	3	347.0	1,041	100.0	0	0.0	4.0	5.0
Madison, GA	2,192	PHARMACY	1 in 30 miles	5	438.4	2,192	100.0	0	0.0	4.3	5.9
Morgan, GA	1,210	PHARMACY	1 in 30 miles	4	302.5	1,210	100.0	0	0.0	4.8	5.2
Murray, GA	2,883	PHARMACY	1 in 30 miles	8	360.4	2,883	100.0	0	0.0	3.8	4.7
Oconee, GA	998	PHARMACY	1 in 30 miles	8	124.8	998	100.0	0	0.0	3.6	4.3
Oglethorpe, GA	1,199	PHARMACY	1 in 30 miles	1	1,199.0	1,199	100.0	0	0.0	5.4	9.1
Polk, GA	3,804	PHARMACY	1 in 30 miles	7	543.4	3,804	100.0	0	0.0	3.2	3.9
Rabun, GA	924	PHARMACY	1 in 30 miles	5	184.8	924	100.0	0	0.0	4.2	4.7
Stephens, GA	1,916	PHARMACY	1 in 30 miles	8	239.5	1,916	100.0	0	0.0	2.9	3.1
Towns, GA	681	PHARMACY	1 in 30 miles	2	340.5	681	100.0	0	0.0	4.7	5.0
Union, GA	1,459	PHARMACY	1 in 30 miles	2 5	291.8	1,459	100.0	0	0.0	5.4	6.4
White, GA	1,254	PHARMACY	1 in 30 miles	3	418.0	1,254	100.0	0	0.0	4.2	5.0
Grand Totals	35 843	PHARMACY	1 in 30 miles	116	309.0	35,843	100.0	0	0.0	4.0	5.0
Grand Totals	33,043	TIANNACT	1 III 30 IIIIles	110	303.0	33,043	100.0	, i	0.0	4.0	5.0

24 Hour Pharmacy - Urban

December 27, 2023

Access Analysis 24 Hour Pharmacy- Urban

Member / Provider Groups
Urban Members
(NORTH_URBAN)
24 Hour Pharmacy

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Catoosa, GA	2,143	24 Hour Phar	1 in 15 miles	1	2,143.0	2,091	97.6	52	2.4	6.8	16.7		
Clarke, GA	5,693	24 Hour Phar	1 in 15 miles	0		0	0.0	5,693	100.0	43.4	46.6		
Floyd, GA	6,354	24 Hour Phar	1 in 15 miles	1	6,354.0	6,174	97.2	180	2.8	5.2	25.4		
Gordon, GA	3,913	24 Hour Phar	1 in 15 miles	0		31	0.8	3,882	99.2	25.4	30.0		
Hall, GA	13,461	24 Hour Phar	1 in 15 miles	1	13,461.0	12,975	96.4	486	3.6	6.8	41.8		
Jackson, GA	5,444	24 Hour Phar	1 in 15 miles	0		814	15.0	4,630		25.0	44.6		
Walker, GA	4,326	24 Hour Phar	1 in 15 miles	0		3,134	72.4	1,192	27.6	9.3	19.3		
Whitfield, GA	9,145	24 Hour Phar	1 in 15 miles	0		128	1.4	9,017	98.6	25.8	34.5		
Grand Totals	50,479	24 Hour Phar	1 in 15 miles	3	16,826.3	25,347	50.2	25,132	49.8	17.8	35.3		

24 Hour Pharmacy - Rural

December 27, 2023

Access Analysis 24 Hour Pharmacy- Rural Member / Provider Groups Rural Members (NORTH_RURAL)

24 Hour Pharmacy

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Banks, GA	1,726	24 Hour Phar	1 in 30 miles	0		1,628	94.3	98	5.7	23.7	52.2
Chattooga, GA	1,894	24 Hour Phar	1 in 30 miles	0		1,827	96.5	67	3.5		
Dade, GA	825	24 Hour Phar	1 in 30 miles	0		812	98.4	13	1.6	18.5	29.3
Dawson, GA	1,457	24 Hour Phar	1 in 30 miles	0		1,353	92.9	104	7.1	21.0	
Elbert, GA	1,349	24 Hour Phar	1 in 30 miles	0		0	0.0	1,349	100.0	56.8	73.9
Fannin, GA	1,548	24 Hour Phar	1 in 30 miles	0		1,525	98.5		1.5	21.8	52.4
Franklin, GA	2,326	24 Hour Phar	1 in 30 miles	0		58	2.5	2,268	97.5	41.4	67.2
Gilmer, GA	1,854	24 Hour Phar	1 in 30 miles	0		66	3.6	1,788	96.4	36.8	41.3
Habersham, GA	2,008	24 Hour Phar	1 in 30 miles	0		762	37.9	1,246	62.1	31.9	42.1
Hart, GA	1,295	24 Hour Phar	1 in 30 miles	0		0	0.0	1,295	100.0	51.9	75.4
Lumpkin, GA	1,041	24 Hour Phar	1 in 30 miles	0		1,016	97.6	25	2.4	21.7	27.6
Madison, GA	2,192	24 Hour Phar	1 in 30 miles	0		17	0.8	2,175	99.2	41.8	58.9
Morgan, GA	1,210	24 Hour Phar	1 in 30 miles	0		1,064	87.9	146	12.1	23.6	51.7
Murray, GA	2,883	24 Hour Phar	1 in 30 miles	0		607	21.1	2,276	78.9	32.7	39.4
Oconee, GA	998	24 Hour Phar	1 in 30 miles	0		32	3.2	966	96.8	36.8	44.6
Oglethorpe, GA	1,199	24 Hour Phar	1 in 30 miles	0		0	0.0	1,199	100.0	50.1	55.8
Polk, GA	3,804	24 Hour Phar	1 in 30 miles	0		3,790	99.6	14	0.4	19.5	26.3
Rabun, GA	924	24 Hour Phar	1 in 30 miles	0		116	12.6	808	87.4	33.2	53.9
Stephens, GA	1,916	24 Hour Phar	1 in 30 miles	0		0	0.0	1,916	100.0	41.4	51.0
Towns, GA	681	24 Hour Phar	1 in 30 miles	0		681	100.0	0	0.0	13.0	45.9
Union, GA	1,459	24 Hour Phar	1 in 30 miles	1	1,459.0	1,459	100.0	0	0.0	6.7	43.9
White, GA	1,254	24 Hour Phar	1 in 30 miles	0		1,254	100.0	0	0.0	22.2	30.2
Grand Totals	25 042	24 Hour Phar	1 in 30 miles	4	25 942 0	18,067	50.4	47 776	40.6	30.8	46.1
Grand Totals	35,843	24 Hour Phar	1 in 30 miles	1	35,843.0	18,067	50.4	17,776	49.6	30.8	46.1

Occupational Therapy - Urban

December 27, 2023

Access Analysis
Occupational Therapy- Urban

Member / Provider Groups
Urban Members
(NORTH_URBAN)
Occupational Therapy

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Catoosa, GA	2,143	Occupational	1 in 30 miles	11	194.8	2,143	100.0	0	0.0	5.7	6.0	
Clarke, GA	5,693	Occupational	1 in 30 miles	10	569.3		100.0		0.0	3.0	3.2	
Floyd, GA	6,354	Occupational	1 in 30 miles	10	635.4	6,354	100.0	0	0.0	4.2	5.1	
Gordon, GA			1 in 30 miles	0			100.0		0.0	6.0		
Hall, GA	13,461	Occupational	1 in 30 miles	51	263.9	13,461	100.0	0	0.0	3.7	4.2	
Jackson, GA	5,444	Occupational	1 in 30 miles	13	418.8	5,444	100.0	0	0.0	5.8	6.3	
Walker, GA	4,326	Occupational	1 in 30 miles	0		4,326	100.0	0	0.0	8.4	9.2	
Whitfield, GA	9,145	Occupational	1 in 30 miles	1	9,145.0	9,145	100.0	0	0.0	5.0	11.9	
Grand Totals	50,479	Occupationa	1 in 30 miles	96	525.8	50,479	100.0	0	0.0	4.8	7.5	

Occupational Therapy - Rural

December 27, 2023

Access Analysis
Occupational Therapy- Rural
Member / Provider Groups
Rural Members
(NORTH_RURAL)
Occupational Therapy

			Members W	ith and W	ithout Acces	S					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Banks, GA	1,726	Occupational	1 in 45 miles	0		1,726	100.0	0	0.0	10.9	12.3
Chattooga, GA	1,894	Occupational	1 in 45 miles	0		1,894	100.0	0	0.0	22.5	24.1
Dade, GA	825	Occupational	1 in 45 miles	0		825	100.0	0	0.0	17.8	18.6
Dawson, GA	1,457	Occupational	1 in 45 miles	6	242.8		100.0	0	0.0	4.7	6.2
Elbert, GA	1,349	Occupational	1 in 45 miles	0		1,349	100.0	0	0.0	21.7	21.7
Fannin, GA	1,548	Occupational	1 in 45 miles	1	1,548.0	1,548		0	0.0	8.2	15.3
Franklin, GA	2,326	Occupational	1 in 45 miles	5	465.2	2,326	100.0	0	0.0	7.9	8.4
Gilmer, GA	1,854	Occupational	1 in 45 miles	3	618.0	1,854	100.0	0	0.0	5.0	8.6
Habersham, GA	2,008	Occupational	1 in 45 miles	2	1,004.0	2,008	100.0	0	0.0	4.6	5.7
Hart, GA	1,295	Occupational	1 in 45 miles	0		1,295	100.0	0	0.0	14.2	14.6
Lumpkin, GA	1,041	Occupational	1 in 45 miles	8	130.1	1,041	100.0	0	0.0	4.6	5.4
Madison, GA	2,192	Occupational	1 in 45 miles	0		2,192	100.0	0	0.0	12.0	12.6
Morgan, GA	1,210	Occupational	1 in 45 miles	1	1,210.0	1,210	100.0	0	0.0	6.3	20.2
Murray, GA	2,883	Occupational	1 in 45 miles	1	2,883.0	2,883	100.0	0	0.0	5.4	13.7
Oconee, GA	998	Occupational	1 in 45 miles	5	199.6	998	100.0	0	0.0	4.3	6.1
Oglethorpe, GA	1,199	Occupational	1 in 45 miles	0		1,199	100.0	0	0.0	13.7	13.9
Polk, GA	3,804	Occupational	1 in 45 miles	1	3,804.0	3,804	100.0	0	0.0	7.5	18.0
Rabun, GA	924	Occupational	1 in 45 miles	5	184.8	924	100.0	0	0.0	5.3	5.3
Stephens, GA	1,916	Occupational	1 in 45 miles	0		1,916	100.0	0	0.0	14.0	14.3
Towns, GA	681	Occupational	1 in 45 miles	0		681	100.0	0	0.0	13.5	13.5
Union, GA	1,459	Occupational	1 in 45 miles	4	364.8	1,459	100.0	0	0.0	6.4	6.4
White, GA	1,254	Occupational	1 in 45 miles	3	418.0	1,254	100.0	0	0.0	4.4	4.8
Crond Totala	25 042	Occupations	4 in 45 miles	45	706 F	25 042	100.0	•	0.0	0.5	42.7
Grand Totals	35,843	Occupationa	1 in 45 miles	45	796.5	35,843	100.0	0	0.0	9.5	12.7

Physical Therapy - Urban

December 27, 2023

Access Analysis
Physical Therapy- Urban

Member / Provider Groups
Urban Members
(NORTH_URBAN)
Physical Therapy

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Catoosa, GA	2,143	Physical Ther	1 in 30 miles	17	126.1	2,143	100.0	0	0.0	2.8	3.0	
Clarke, GA	5,693	Physical Ther	1 in 30 miles	17	334.9	5,693	100.0	0	0.0	1.9	2.4	
Floyd, GA	6,354	Physical Ther	1 in 30 miles	15	423.6	6,354	100.0	0	0.0	3.8	4.4	
Gordon, GA	3,913	Physical Ther	1 in 30 miles	1	3,913.0	3,913	100.0	0	0.0	5.9	6.0	
Hall, GA	13,461	Physical Ther	1 in 30 miles	81	166.2	13,461	100.0	0	0.0	3.3	3.8	
Jackson, GA	5,444	Physical Ther	1 in 30 miles	12	453.7	5,444	100.0	0	0.0	3.7	4.3	
Walker, GA	4,326	Physical Ther	1 in 30 miles	0		4,326	100.0	0	0.0	7.6	8.4	
Whitfield, GA	9,145	Physical Ther	1 in 30 miles	10	914.5	9,145	100.0	0	0.0	4.2	4.9	
Grand Totals	50,479	Physical The	1 in 30 miles	153	329.9	50,479	100.0	0	0.0	4.0	4.5	

Physical Therapy - Rural

December 27, 2023

Access Analysis
Physical Therapy- Rural

Member / Provider Groups
Rural Members
(NORTH_RURAL)
Physical Therapy

			Members W	ith and W	ithout Acces	S					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Banks, GA	1,726	Physical Ther	1 in 45 miles	0		1,726	100.0	0	0.0	7.7	7.8
Chattooga, GA	1,894	Physical Ther	1 in 45 miles	2	947.0	1,894	100.0	0	0.0	5.2	5.2
Dade, GA	825	Physical Ther	1 in 45 miles	0		825	100.0	0	0.0	16.1	17.6
Dawson, GA	1,457	Physical Ther	1 in 45 miles	7	208.1	1,457		0	0.0	5.3	6.1
Elbert, GA	1,349	Physical Ther	1 in 45 miles	0		1,349	100.0	0	0.0	20.0	20.0
Fannin, GA	1,548	Physical Ther	1 in 45 miles	1	1,548.0	1,548		0	0.0	6.7	12.3
Franklin, GA	2,326	Physical Ther	1 in 45 miles	0		2,326	100.0	0	0.0	16.6	16.6
Gilmer, GA	1,854	Physical Ther	1 in 45 miles	4	463.5	1,854	100.0	0	0.0	4.8	5.4
Habersham, GA	2,008	Physical Ther	1 in 45 miles	7	286.9	2,008	100.0	0	0.0	4.5	4.6
Hart, GA	1,295	Physical Ther	1 in 45 miles	0		1,295	100.0	0	0.0	28.4	28.4
Lumpkin, GA	1,041	Physical Ther	1 in 45 miles	7	148.7	1,041	100.0	0	0.0	4.1	5.0
Madison, GA	2,192	Physical Ther	1 in 45 miles	2	1,096.0	2,192	100.0	0	0.0	7.4	7.5
Morgan, GA	1,210	Physical Ther	1 in 45 miles	0		1,210	100.0	0	0.0	16.8	17.3
Murray, GA	2,883	Physical Ther	1 in 45 miles	0		2,883	100.0	0	0.0	12.7	13.6
Oconee, GA	998	Physical Ther	1 in 45 miles	8	124.8	998	100.0	0	0.0	4.2	4.3
Oglethorpe, GA	1,199	Physical Ther	1 in 45 miles	0		1,199	100.0	0	0.0	11.3	11.4
Polk, GA	3,804	Physical Ther	1 in 45 miles	9	422.7	3,804	100.0	0	0.0	4.2	7.1
Rabun, GA	924	Physical Ther	1 in 45 miles	2	462.0	924	100.0	0	0.0	5.2	5.3
Stephens, GA	1,916	Physical Ther	1 in 45 miles	8	239.5	1,916	100.0	0	0.0	3.9	3.9
Towns, GA	681	Physical Ther	1 in 45 miles	0		681	100.0	0	0.0	12.5	13.8
Union, GA	1,459	Physical Ther	1 in 45 miles	2	729.5	1,459	100.0	0	0.0	5.4	8.0
White, GA	1,254	Physical Ther	1 in 45 miles	5	250.8	1,254	100.0	0	0.0	4.6	4.7
			4 . 4								
Grand Totals	35,843	Physical The	1 in 45 miles	64	560.0	35,843	100.0	0	0.0	8.9	9.9

Speech Therapy - Urban

December 27, 2023

Access Analysis
SpeechTherapy- Urban

Member / Provider Groups
Urban Members
(NORTH_URBAN)
Speech Therapy

			Members V	Vith and W	lithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Catoosa, GA	2,143	Speech Therapy	1 in 30 miles	7	306.1	2,143	100.0	0	0.0	5.7	6.0
Clarke, GA	5,693	Speech Therapy	1 in 30 miles	19	299.6	5,693	100.0	0	0.0	2.0	2.6
Floyd, GA	6,354	Speech Therapy	1 in 30 miles	15	423.6	6,354	100.0	0	0.0	4.6	5.0
Gordon, GA	3,913	Speech Therapy	1 in 30 miles	0		3,913	100.0	0	0.0	11.0	16.9
Hall, GA	13,461	Speech Therapy	1 in 30 miles	44	305.9	13,461	100.0	0	0.0	3.8	4.4
Jackson, GA	5,444	Speech Therapy	1 in 30 miles	11	494.9	5,444	100.0	0	0.0	5.5	6.1
Walker, GA	4,326	Speech Therapy	1 in 30 miles	0		4,326	100.0	0	0.0	9.4	9.5
Whitfield, GA	9,145	Speech Therapy	1 in 30 miles	4	2,286.3	9,145	100.0	0	0.0	4.0	5.0
Grand Totals	50,479	Speech Ther	1 in 30 miles	100	504.8	50,479	100.0	0	0.0	5.0	6.1
© 2023 Quest Analytics 11 C											

Speech Therapy - Rural

December 27, 2023

Access Analysis
Speech Therapy- Rural
Member / Provider Groups
Rural Members
(NORTH_RURAL)
Speech Therapy

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Banks, GA	1,726	Speech Therapy	1 in 45 miles	0		1,726	100.0	0	0.0	11.5	13.0
Chattooga, GA	1,894	Speech Therapy	1 in 45 miles	0		1,894	100.0	0	0.0	23.9	24.4
Dade, GA	825	Speech Therapy	1 in 45 miles	0			100.0	0	0.0	18.9	19.0
Dawson, GA	1,457	Speech Therapy	1 in 45 miles	4	364.3	1,457		0	0.0	5.0	
Elbert, GA	1,349	Speech Therapy	1 in 45 miles	0		1,349		0	0.0	20.9	21.6
Fannin, GA		Speech Therapy		0		1,548		0	0.0	21.5	21.6
Franklin, GA	2,326	Speech Therapy	1 in 45 miles	4	581.5	2,326		0	0.0	8.8	9.7
Gilmer, GA	1,854	Speech Therapy	1 in 45 miles	0		1,854		0	0.0	15.4	15.9
Habersham, GA		Speech Therapy		1	2,008.0	2,008		0	0.0	4.5	6.7
Hart, GA	1,295	Speech Therapy	1 in 45 miles	0		1,295	100.0	0	0.0	14.2	14.2
Lumpkin, GA	1,041	Speech Therapy	1 in 45 miles	1	1,041.0	1,041	100.0	0	0.0	5.4	11.0
Madison, GA	2,192	Speech Therapy	1 in 45 miles	0		2,192	100.0	0	0.0	11.9	
Morgan, GA	1,210	Speech Therapy	1 in 45 miles	1	1,210.0	1,210	100.0	0	0.0	5.8	14.8
Murray, GA	2,883	Speech Therapy	1 in 45 miles	3	961.0	2,883	100.0	0	0.0	5.3	
Oconee, GA	998	Speech Therapy	1 in 45 miles	15	66.5	998	100.0	0	0.0	2.6	3.8
Oglethorpe, GA	1,199	Speech Therapy	1 in 45 miles	1	1,199.0	1,199	100.0	0	0.0	8.0	
Polk, GA	3,804	Speech Therapy	1 in 45 miles	1	3,804.0	3,804	100.0	0	0.0	9.3	17.7
Rabun, GA	924	Speech Therapy	1 in 45 miles	2	462.0	924	100.0	0	0.0	4.4	9.1
Stephens, GA	1,916	Speech Therapy	1 in 45 miles	1	1,916.0	1,916	100.0	0	0.0	3.9	14.3
Towns, GA	681	Speech Therapy	1 in 45 miles	1	681.0	681	100.0	0	0.0	5.2	12.9
Union, GA	1,459	Speech Therapy	1 in 45 miles	4	364.8	1,459	100.0	0	0.0	6.4	6.5
White, GA	1,254	Speech Therapy	1 in 45 miles	4	313.5	1,254	100.0	0	0.0	4.7	4.8
Grand Totals	35.843	Speech Ther	1 in 45 miles	43	833.6	35,843	100.0	0	0.0	10.0	12.7
	00,010	оросон инсин			333.3	00,010				10.0	

Outpatient Radiology Services - Urban

December 27, 2023

Access Analysis

Outpatient Radiology Services-Urban

Member / Provider Groups

Urban Members (NORTH_URBAN) Outpatient Radiology

Services

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Catoosa, GA	2,143	Outpatient Ra	1 in 30 miles	60	35.7	2,143	100.0	0	0.0	4.0	4.0	
Clarke, GA			1 in 30 miles	68	83.7		100.0		0.0	2.9	3.0	
Floyd, GA	6,354	Outpatient Ra	1 in 30 miles	67	94.8	6,354	100.0	0	0.0	4.0	4.0	
Gordon, GA	3,913	Outpatient Ra	1 in 30 miles	0			100.0		0.0		18.9	
Hall, GA			1 in 30 miles	159	84.7	13,461			0.0	4.0	4.4	
Jackson, GA			1 in 30 miles	1	5,444.0		100.0		0.0	8.0	8.4	
Walker, GA		Outpatient Ra	1 in 30 miles	0			100.0		0.0		8.4	
Whitfield, GA	9,145	Outpatient Ra	1 in 30 miles	47	194.6	9,145	100.0	0	0.0	4.9	5.0	
Grand Totals	50,479	Outpatient R	1 in 30 miles	402	125.6	50,479	100.0	0	0.0	5.0	6.2	
© 2023 Quest Analytics, LLC.	L	<u> </u>	<u> </u>		ļ l							

Outpatient Radiology Services - Rural

December 27, 2023

Access Analysis

Outpatient Radiology Services-Rural

Member / Provider Groups

Rural Members (NORTH_RURAL) Outpatient Radiology Services

			Members W	ith and W	ithout Acces	S					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Banks, GA	1,726	Outpatient Ra	1 in 45 miles	0		1,726	100.0	0	0.0	13.1	13.3
Chattooga, GA	1,894	Outpatient Ra	1 in 45 miles	0		1,894	100.0	0	0.0	21.4	21.5
Dade, GA	825	Outpatient Ra	1 in 45 miles	0		825	100.0	0	0.0	15.5	15.5
Dawson, GA	1,457	Outpatient Ra	1 in 45 miles	21	69.4	1,457	100.0	0	0.0	6.4	6.4
Elbert, GA	1,349	Outpatient Ra	1 in 45 miles	9	149.9	1,349	100.0	0	0.0	5.6	5.6
Fannin, GA	1,548	Outpatient Ra	1 in 45 miles	36	43.0	1,548	100.0	0	0.0	4.9	5.0
Franklin, GA	2,326	Outpatient Ra	1 in 45 miles	33	70.5	2,326	100.0	0	0.0	5.6	5.7
Gilmer, GA	1,854	Outpatient Ra	1 in 45 miles	28	66.2	1,854	100.0	0	0.0	4.6	4.7
Habersham, GA	2,008	Outpatient Ra	1 in 45 miles	84	23.9	2,008	100.0	0	0.0	3.8	4.1
Hart, GA	1,295	Outpatient Ra	1 in 45 miles	0		1,295	100.0	0	0.0	12.3	12.3
Lumpkin, GA	1,041	Outpatient Ra	1 in 45 miles	18	57.8	1,041	100.0	0	0.0	5.6	5.6
Madison, GA	2,192	Outpatient Ra	1 in 45 miles	0		2,192	100.0	0	0.0	13.2	13.2
Morgan, GA	1,210	Outpatient Ra	1 in 45 miles	1	1,210.0	1,210	100.0	0	0.0	15.1	16.2
Murray, GA	2,883	Outpatient Ra	1 in 45 miles	35	82.4	2,883	100.0	0	0.0	5.4	5.5
Oconee, GA	998	Outpatient Ra	1 in 45 miles	0		998	100.0	0	0.0	8.2	8.4
Oglethorpe, GA	1,199	Outpatient Ra	1 in 45 miles	0		1,199	100.0	0	0.0	11.0	11.3
Polk, GA	3,804	Outpatient Ra	1 in 45 miles	16	237.8	3,804	100.0	0	0.0	5.9	5.9
Rabun, GA	924	Outpatient Ra	1 in 45 miles	10	92.4	924	100.0	0	0.0	4.6	5.2
Stephens, GA	1,916	Outpatient Ra	1 in 45 miles	12	159.7	1,916	100.0	0	0.0	3.4	3.7
Towns, GA	681	Outpatient Ra	1 in 45 miles	8	85.1	681	100.0	0	0.0	3.8	4.0
Union, GA	1,459	Outpatient Ra	1 in 45 miles	12	121.6	1,459	100.0	0	0.0	4.2	6.3
White, GA	1,254	Outpatient Ra	1 in 45 miles	0		1,254	100.0	0	0.0	8.3	8.9
Grand Totals	35,843	Outpatient R	1 in 45 miles	323	111.0	35,843	100.0	0	0.0	8.0	8.3



Amerigroup Community Care-Behavioral Health Providers

Access Analysis
North

December 27, 2023

Behavioral Health - Urban

December 27, 2023

Access Analysis
Behavioral Health- Urban

Member / Provider Groups
Urban Members
(NORTH_URBAN)

Behavioral Health

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Catoosa, GA	2,143	Behavioral He	1 in 30 miles	22	97.4	2,143	100.0	0	0.0	1.5	2.1		
Clarke, GA	5,693	Behavioral He	1 in 30 miles	84	67.8	5,693	100.0	0	0.0	1.1	1.4		
Floyd, GA	6,354	Behavioral He	1 in 30 miles	129	49.3	6,354	100.0	0	0.0	1.8	2.5		
Gordon, GA	3,913	Behavioral He	1 in 30 miles	0		3,913	100.0	0	0.0	4.7			
Hall, GA	13,461	Behavioral He	1 in 30 miles	156	86.3	13,461	100.0	0	0.0	2.0	2.6		
Jackson, GA	5,444	Behavioral He	1 in 30 miles	29	187.7	5,444	100.0	0	0.0	2.8	3.4		
Walker, GA	4,326	Behavioral He	1 in 30 miles	19	227.7	4,326	100.0	0	0.0	2.5	3.4		
Whitfield, GA	9,145	Behavioral He	1 in 30 miles	52	175.9	9,145	100.0	0	0.0	2.0	2.7		
Grand Totals	50,479	Behavioral H	1 in 30 miles	491	102.8	50,479	100.0	0	0.0	2.2	2.8		

Behavioral Health - Rural

December 27, 2023

Access Analysis
Behavioral Health- Rural
Member / Provider Groups
Rural Members
(NORTH_RURAL)
Behavioral Health

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Banks, GA	1,726	Behavioral He	1 in 45 miles	3	575.3	1,726	100.0	0	0.0	4.8	6.6	
Chattooga, GA	1,894	Behavioral He	1 in 45 miles	37	51.2	1,894	100.0	0	0.0	2.9	3.8	
Dade, GA	825	Behavioral He	1 in 45 miles	3	275.0		100.0	0	0.0	4.3	6.9	
Dawson, GA	1,457	Behavioral He	1 in 45 miles	41	35.5	1,457		0	0.0	2.6	3.5	
Elbert, GA	1,349	Behavioral He	1 in 45 miles	5	269.8	1,349		0	0.0	4.0	5.0	
Fannin, GA	,	Behavioral He	1 in 45 miles	16	96.8	1,548		0	0.0	3.4	5.8	
Franklin, GA	2,326	Behavioral He	1 in 45 miles	7	332.3	2,326	100.0	0	0.0	5.7	7.2	
Gilmer, GA	1,854	Behavioral He	1 in 45 miles	9	206.0	1,854	100.0	0	0.0	4.2	4.7	
Habersham, GA	2,008	Behavioral He	1 in 45 miles	14	143.4	2,008		0	0.0	2.5	3.7	
Hart, GA	1,295	Behavioral He	1 in 45 miles	5	259.0	1,295	100.0	0	0.0	3.2	3.7	
Lumpkin, GA	1,041	Behavioral He	1 in 45 miles	20	52.1	1,041	100.0	0	0.0	3.1	3.6	
Madison, GA	2,192	Behavioral He	1 in 45 miles	8	274.0	2,192	100.0	0	0.0	4.2	6.7	
Morgan, GA	1,210	Behavioral He	1 in 45 miles	3	403.3	1,210	100.0	0	0.0	4.4	5.3	
Murray, GA	2,883	Behavioral He	1 in 45 miles	7	411.9	2,883	100.0	0	0.0	3.3	4.7	
Oconee, GA	998	Behavioral He	1 in 45 miles	41	24.3	998	100.0	0	0.0	2.9	3.3	
Oglethorpe, GA	1,199	Behavioral He	1 in 45 miles	2	599.5	1,199	100.0	0	0.0	5.7	7.8	
Polk, GA	3,804	Behavioral He	1 in 45 miles	22	172.9	3,804	100.0	0	0.0	2.6	2.8	
Rabun, GA	924	Behavioral He	1 in 45 miles	6	154.0	924	100.0	0	0.0	3.3	4.5	
Stephens, GA	1,916	Behavioral He	1 in 45 miles	38	50.4	1,916	100.0	0	0.0	2.2	2.4	
Towns, GA	681	Behavioral He	1 in 45 miles	23	29.6	681	100.0	0	0.0	4.1	4.4	
Union, GA	1,459	Behavioral He	1 in 45 miles	15	97.3	1,459	100.0	0	0.0	2.5	3.8	
White, GA	1,254	Behavioral He	1 in 45 miles	10	125.4	1,254	100.0	0	0.0	3.5	4.1	
Grand Totals	35,843	Behavioral H	1 in 45 miles	335	107.0	35,843	100.0	0	0.0	3.5	4.7	
		L		L								

Behavioral Health Facilities - Urban

December 27, 2023

Access Analysis

Behavioral Health Facilities-

Member / Provider Groups

Urban Members (NORTH_URBAN) Behavioral Health Facilities

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Catoosa, GA	2,143	Behavioral He	1 in 30 miles	4	535.8	2,143	100.0	0	0.0	4.5	5.6		
Clarke, GA	5,693	Behavioral He	1 in 30 miles	3	1,897.7	5,693	100.0	0	0.0	2.8	4.5		
Floyd, GA	6,354	Behavioral He	1 in 30 miles	38	167.2	6,354	100.0	0	0.0	1.8	2.7		
Gordon, GA	3,913	Behavioral He	1 in 30 miles	0		3,913	100.0	0	0.0	4.9	6.4		
Hall, GA	13,461	Behavioral He	1 in 30 miles	45	299.1	13,461	100.0	0	0.0	2.7	3.6		
Jackson, GA	5,444	Behavioral He	1 in 30 miles	4	1,361.0	5,444	100.0	0	0.0	5.7	6.9		
Walker, GA	4,326	Behavioral He	1 in 30 miles	16	270.4	4,326	100.0	0	0.0	3.1	3.9		
Whitfield, GA	9,145	Behavioral He	1 in 30 miles	23	397.6	9,145	100.0	0	0.0	2.6	3.6		
Grand Totals	50,479	Behavioral H	1 in 30 miles	133	379.5	50,479	100.0	0	0.0	3.2	4.3		
				l									

Behavioral Health Facilities - Rural

December 27, 2023

Access Analysis

Behavioral Health Facilities-

Member / Provider Groups

Rural Members (NORTH_RURAL) Behavioral Health Facilities

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Banks, GA	1,726	Behavioral He	1 in 45 miles	3	575.3	1,726	100.0	0	0.0	5.0	7.0	
Chattooga, GA	1,894	Behavioral He	1 in 45 miles	32	59.2	1,894	100.0	0	0.0	3.1	4.5	
Dade, GA	825	Behavioral He	1 in 45 miles	3	275.0	825	100.0	0	0.0	4.3	6.9	
Dawson, GA	1,457	Behavioral He	1 in 45 miles	13	112.1	1,457	100.0	0	0.0	3.0	4.7	
Elbert, GA	1,349	Behavioral He	1 in 45 miles	3	449.7	1,349	100.0	0	0.0	4.4	7.5	
Fannin, GA	1,548	Behavioral He	1 in 45 miles	4	387.0	1,548	100.0	0	0.0	3.8	6.6	
Franklin, GA	2,326	Behavioral He	1 in 45 miles	2	1,163.0	2,326	100.0	0	0.0	6.0	11.5	
Gilmer, GA	1,854	Behavioral He	1 in 45 miles	3	618.0	1,854		0	0.0		11.1	
Habersham, GA	2,008	Behavioral He	1 in 45 miles	8	251.0	2,008		0	0.0	3.8	4.4	
Hart, GA	1,295	Behavioral He	1 in 45 miles	3	431.7	1,295	100.0	0	0.0		3.8	
Lumpkin, GA	1,041	Behavioral He	1 in 45 miles	2		1,041		0	0.0	3.9	8.8	
Madison, GA	2,192	Behavioral He	1 in 45 miles	3		2,192	100.0	0	0.0		9.0	
Morgan, GA	1,210	Behavioral He	1 in 45 miles	0		1,210		0	0.0		18.6	
Murray, GA	2,883	Behavioral He	1 in 45 miles	4	720.8	2,883		0	0.0		5.3	
Oconee, GA	998	Behavioral He	1 in 45 miles	12	83.2	998		0	0.0	4.6	6.6	
Oglethorpe, GA	1,199	Behavioral He	1 in 45 miles	0		1,199	100.0	0	0.0		14.0	
Polk, GA	3,804	Behavioral He	1 in 45 miles	7	543.4	3,804	100.0	0	0.0	3.2	4.1	
Rabun, GA	924	Behavioral He	1 in 45 miles	0			100.0	0	0.0		16.7	
Stephens, GA	1,916	Behavioral He	1 in 45 miles	21	91.2	1,916		0	0.0		2.7	
Towns, GA	681	Behavioral He	1 in 45 miles	11	61.9		100.0	0	0.0	4.7	6.8	
Union, GA	1,459	Behavioral He	1 in 45 miles	8	182.4	1,459	100.0	0	0.0	3.4	5.6	
White, GA	1,254	Behavioral He	1 in 45 miles	1	1,254.0	1,254	100.0	0	0.0	4.4	9.7	
Grand Totals	35,843	Behavioral H	1 in 45 miles	143	250.7	35,843	100.0	0	0.0	5.1	7.4	

Community Service Boards - Urban

December 27, 2023

Access Analysis

Community Service Boards-Urban

Member / Provider Groups

Urban Members (NORTH_URBAN) Community Service Boards

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Catoosa, GA	2,143	Community S	1 in 30 miles	2	1,071.5	2,143	100.0	0	0.0	5.4	9.0
Clarke, GA	5,693	Community S	1 in 30 miles	5	1,138.6		100.0	0	0.0	2.1	3.9
Floyd, GA	6,354	Community S	1 in 30 miles	19	334.4	6,354	100.0	0	0.0	2.1	3.2
Gordon, GA	3,913	Community S	1 in 30 miles	0		3,913	100.0	0	0.0	10.8	15.7
Hall, GA	13,461	Community S	1 in 30 miles	36	373.9	13,461	100.0	0	0.0	2.9	3.6
Jackson, GA	5,444	Community S	1 in 30 miles	2	2,722.0	5,444	100.0	0	0.0	4.5	7.9
Walker, GA	4,326	Community S	1 in 30 miles	18	240.3	4,326	100.0	0	0.0	6.2	7.8
Whitfield, GA	9,145	Community S	1 in 30 miles	28	326.6		100.0	0	0.0	2.7	4.0
Grand Totals	50,479	Community	1 in 30 miles	110	458.9	50,479	100.0	0	0.0	3.8	5.7

Community Service Boards - Rural

December 27, 2023

Access Analysis

Community Service Boards-Rural

Member / Provider Groups

Rural Members (NORTH_RURAL) Community Service Boards

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Banks, GA	1,726	Community S	1 in 45 miles	3	575.3	1,726	100.0	0	0.0	5.2	7.6
Chattooga, GA	1,894	Community S	1 in 45 miles	35	54.1	1,894	100.0	0	0.0	3.1	4.3
Dade, GA	825	Community S	1 in 45 miles	3	275.0	825	100.0	0	0.0	4.3	7.0
Dawson, GA	1,457	Community S	1 in 45 miles	4	364.3	1,457	100.0	0	0.0	3.4	5.1
Elbert, GA	1,349	Community S	1 in 45 miles	1	1,349.0	1,349	100.0	0	0.0	4.6	12.5
Fannin, GA	1,548	Community S	1 in 45 miles	2		1,548	100.0	0	0.0	4.7	10.7
Franklin, GA	2,326	Community S	1 in 45 miles	0		2,326	100.0	0	0.0	9.5	12.3
Gilmer, GA	1,854	Community S	1 in 45 miles	4	463.5	1,854		0	0.0		6.1
Habersham, GA	2,008	Community S	1 in 45 miles	12	167.3	2,008		0	0.0	2.6	4.1
Hart, GA	1,295	Community S	1 in 45 miles	5		1,295	100.0	0	0.0		3.8
Lumpkin, GA	1,041	Community S	1 in 45 miles	5	208.2	1,041	100.0	0	0.0		4.8
Madison, GA	2,192	Community S	1 in 45 miles	3	730.7	2,192	100.0	0	0.0	-	8.0
Morgan, GA	1,210	Community S	1 in 45 miles	1	1,210.0	1,210	100.0	0	0.0		15.3
Murray, GA	2,883	Community S	1 in 45 miles	4	720.8	2,883	100.0	0	0.0	3.3	5.3
Oconee, GA	998	Community S	1 in 45 miles	0		998	100.0	0	0.0	8.1	9.2
Oglethorpe, GA	1,199	Community S	1 in 45 miles	1	,	1,199	100.0	0	0.0	7.8	10.7
Polk, GA	3,804	Community S	1 in 45 miles	3	1,268.0	3,804		0	0.0	6.0	6.6
Rabun, GA	924	Community S	1 in 45 miles	0		924	100.0	0	0.0	14.8	16.2
Stephens, GA	1,916	Community S	1 in 45 miles	28	68.4	1,916	100.0	0	0.0	2.3	2.6
Towns, GA	681	Community S	1 in 45 miles	1	681.0		100.0	0	0.0	-	12.8
Union, GA	1,459	Community S	1 in 45 miles	9	162.1	1,459	100.0	0	0.0	3.0	4.4
White, GA	1,254	Community S	1 in 45 miles	1	1,254.0	1,254	100.0	0	0.0	4.4	9.6
		_						_			
Grand Totals	35,843	Community	1 in 45 miles	125	286.7	35,843	100.0	0	0.0	5.0	7.6
© 2023 Quest Analytics 11 C											

Psychiatric Residential Treatment Facilities - Urban

December 27, 2023

Access Analysis

Psychiatric Residential Treatment Facilities(PRTFs)-Urban

Member / Provider Groups

Urban Members (NORTH_URBAN)

Psychiatric Residential Treatment Facilities(PRTFs)

County	Member #	Pro									
County				Counts	Ratio Members	With Acc	ess	Without A	ccess	Average I	Distance
		Group	Standard	#	to Providers	#	%	#	%	1	2
Catoosa, GA	2,143	Psychiatric R	1 in 30 miles	0		0	0.0	2,143	100.0	76.8	76.8
Clarke, GA	5,693	Psychiatric R	1 in 30 miles	0		0	0.0	5,693	100.0	72.6	72.6
Floyd, GA		Psychiatric R	1 in 30 miles	0		0	0.0	6,354	100.0	43.7	43.7
Gordon, GA	3,913	Psychiatric R	1 in 30 miles	0		15		3,898		45.4	45.4
Hall, GA		Psychiatric R	1 in 30 miles	0		0	0.0	13,461		54.3	54.3
Jackson, GA		Psychiatric R	1 in 30 miles	0		0	0.0		100.0	62.1	62.1
Walker, GA			1 in 30 miles	0		0	0.0		100.0	78.3	78.3
Whitfield, GA	9,145	Psychiatric R	1 in 30 miles	0		0	0.0	9,145	100.0	62.4	62.4
Grand Totals	50,479	Psychiatric	1 in 30 miles	0		15	0.1	50,464	99.9	59.7	59.7

Psychiatric Residential Treatment Facilities - Rural

December 27, 2023

Access Analysis

Psychiatric Residential Treatment Facilities(PRTFs)-Rural

Member / Provider Groups

Rural Members (NORTH_RURAL)

Psychiatric Residential Treatment Facilities(PRTFs)

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Banks, GA	1,726	Psychiatric R	1 in 45 miles	0		0	0.0	1,726	100.0	72.4	72.4
Chattooga, GA	1,894	Psychiatric R	1 in 45 miles	0		0	0.0	1,894	100.0	62.9	62.9
Dade, GA	825	Psychiatric R	1 in 45 miles	0		0	0.0	825	100.0	87.6	87.6
Dawson, GA	1,457	Psychiatric R	1 in 45 miles	0		119	8.2	1,338	91.8	50.6	50.6
Elbert, GA	1,349	Psychiatric R	1 in 45 miles	0		0	0.0	1,349	100.0	75.6	101.3
Fannin, GA	1,548	Psychiatric R	1 in 45 miles	0		0	0.0	1,548	100.0	68.9	68.9
Franklin, GA	2,326	Psychiatric R	1 in 45 miles	0		0	0.0	2,326	100.0	89.8	90.7
Gilmer, GA	1,854	Psychiatric R	1 in 45 miles	0		139	7.5	1,715	92.5	49.7	49.7
Habersham, GA	2,008	Psychiatric R	1 in 45 miles	0		0	0.0	2,008		80.4	80.4
Hart, GA	1,295	Psychiatric R	1 in 45 miles	0		0	0.0		100.0	86.7	101.0
Lumpkin, GA	1,041	Psychiatric R	1 in 45 miles	0		0	0.0	1,041	100.0	62.0	62.0
Madison, GA	2,192	Psychiatric R	1 in 45 miles	0		0	0.0	2,192	100.0	79.3	81.3
Morgan, GA	1,210	Psychiatric R	1 in 45 miles	0		0	0.0	1,210	100.0	74.0	75.5
Murray, GA	2,883	Psychiatric R	1 in 45 miles	0		8	0.3	2,875	99.7	57.8	57.8
Oconee, GA		Psychiatric R	1 in 45 miles	0		0	0.0	998	100.0	68.7	68.7
Oglethorpe, GA		Psychiatric R	1 in 45 miles	0		0	0.0	1,199	100.0		84.9
Polk, GA		Psychiatric R	1 in 45 miles	0		3,804	100.0	0	0.0	29.3	29.3
Rabun, GA	924	Psychiatric R	1 in 45 miles	0		0	0.0	924	100.0	100.8	100.8
Stephens, GA	1,916	Psychiatric R	1 in 45 miles	0		0	0.0		100.0	88.7	88.7
Towns, GA		Psychiatric R	1 in 45 miles	0		0	0.0		100.0	87.7	87.7
Union, GA		Psychiatric R	1 in 45 miles	0		0	0.0	1,459		76.0	76.0
White, GA	1,254	Psychiatric R	1 in 45 miles	0		0	0.0	1,254	100.0	74.2	74.2
Grand Totals	25.042	Psychiatric	4 in 45 miles			4.070	44.4	24 772	,,,,	60.7	70.0
Grand Totals	35,843	Psychiatric	1 in 45 miles	0		4,070	11.4	31,773	88.6	68.7	70.8
© 2023 Quest Analytics 11 C											

Psychologists - Urban

December 27, 2023

Access Analysis
Psychologists- Urban

Member / Provider Groups
Urban Members
(NORTH_URBAN)
Psychologists

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	ccess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Catoosa, GA	2,143	Psychologists	1 in 30 miles	2	1,071.5	2,143	100.0	0	0.0	4.8	6.9			
Clarke, GA	5,693	Psychologists	1 in 30 miles	7		5,693	100.0	0	0.0	3.2	3.9			
Floyd, GA	6,354	Psychologists	1 in 30 miles	9	706.0	6,354	100.0	0	0.0	4.2	4.4			
Gordon, GA	3,913	Psychologists	1 in 30 miles	0		3,913	100.0	0	0.0	18.0	18.9			
Hall, GA	13,461	Psychologists	1 in 30 miles	3	4,487.0	13,461	100.0	0	0.0	5.9	6.3			
Jackson, GA	5,444	Psychologists	1 in 30 miles	6	907.3	5,444	100.0	0	0.0	9.5	9.7			
Walker, GA	4,326	Psychologists	1 in 30 miles	0		4,326	100.0	0	0.0	8.4	10.4			
Whitfield, GA	9,145	Psychologists	1 in 30 miles	3	3,048.3	9,145	100.0	0	0.0	3.9	4.9			
Grand Totals	50,479	Psychologists	1 in 30 miles	30	1,682.6	50,479	100.0	0	0.0	6.5	7.3			
© 2023 Quest Analytics. LLC.														

Psychologists - Rural

December 27, 2023

Access Analysis
Psychologists- Rural

Member / Provider Groups
Rural Members
(NORTH_RURAL)
Psychologists

			Members W	ith and W	ithout Acces	s				Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance											
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2											
Banks, GA	1,726	Psychologists	1 in 45 miles	0		1,726	100.0	0	0.0	20.9	21.6											
Chattooga, GA	1,894	Psychologists	1 in 45 miles	0		1,894	100.0	0	0.0	21.5	21.5											
Dade, GA	825	Psychologists	1 in 45 miles	0		825	100.0	0	0.0	17.6	19.6											
Dawson, GA	1,457	Psychologists	1 in 45 miles	1	1,457.0	1,457	100.0	0	0.0	6.3	12.5											
Elbert, GA	1,349	Psychologists	1 in 45 miles	0		1,349	100.0	0	0.0	17.6	36.1											
Fannin, GA	1,548	Psychologists	1 in 45 miles	1	1,548.0	1,548	100.0	0	0.0	10.1	16.3											
Franklin, GA	2,326	Psychologists	1 in 45 miles	0		2,326	100.0	0	0.0	16.4	37.3											
Gilmer, GA	1,854	Psychologists	1 in 45 miles	1	1,854.0	1,854	100.0	0	0.0	13.1	20.9											
Habersham, GA	2,008	Psychologists	1 in 45 miles	0		2,008	100.0	0	0.0	27.6	31.8											
Hart, GA	1,295	Psychologists	1 in 45 miles	1	1,295.0	1,295	100.0	0	0.0	4.0	46.9											
Lumpkin, GA	1,041	Psychologists	1 in 45 miles	1	1,041.0	1,041	100.0	0	0.0	5.5	14.0											
Madison, GA	2,192	Psychologists	1 in 45 miles	0		2,192	100.0	0	0.0	16.7	18.2											
Morgan, GA	1,210	Psychologists	1 in 45 miles	1	1,210.0	1,210	100.0	0	0.0	5.8	19.6											
Murray, GA	2,883	Psychologists	1 in 45 miles	1	2,883.0	2,883	100.0	0	0.0	5.7	12.3											
Oconee, GA	998	Psychologists	1 in 45 miles	2	499.0	998	100.0	0	0.0	3.6	6.4											
Oglethorpe, GA	1,199	Psychologists	1 in 45 miles	0		1,199	100.0	0	0.0	13.9	15.1											
Polk, GA	3,804	Psychologists	1 in 45 miles	0		3,804	100.0	0	0.0	20.3	20.7											
Rabun, GA	924	Psychologists	1 in 45 miles	0		778	84.2	146	15.8	42.7	49.4											
Stephens, GA	1,916	Psychologists	1 in 45 miles	0		1,916	100.0	0	0.0	32.2	39.1											
Towns, GA	681	Psychologists	1 in 45 miles	0		681	100.0	0	0.0	20.9	35.1											
Union, GA	1,459	Psychologists	1 in 45 miles	0		1,459	100.0	0	0.0	10.0	24.1											
White, GA	1,254	Psychologists	1 in 45 miles	0		1,254	100.0	0	0.0	16.8	22.1											
				_																		
Grand Totals	35,843	Psychologists	1 in 45 miles	9	3,982.6	35,697	99.6	146	0.4	16.1	24.0											
		l																				

Psychiatrists - Urban

December 27, 2023

Access Analysis
Psychiatry- Urban

Member / Provider Groups
Urban Members
(NORTH_URBAN)
Psychiatry

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Catoosa, GA		Psychiatry	1 in 30 miles	2			100.0		0.0	5.5	6.1
Clarke, GA		Psychiatry	1 in 30 miles	5			100.0		0.0	3.5	4.2
Floyd, GA		Psychiatry	1 in 30 miles	11	577.6		100.0		0.0	4.4	4.5
Gordon, GA		Psychiatry	1 in 30 miles	0			100.0		0.0		19.7
Hall, GA		Psychiatry	1 in 30 miles	23		13,461			0.0	4.1	5.1
Jackson, GA		Psychiatry	1 in 30 miles	2	2,722.0		100.0		0.0	6.2	6.7
Walker, GA		Psychiatry	1 in 30 miles	0			100.0	0	0.0		8.6
Whitfield, GA	9,145	Psychiatry	1 in 30 miles	9	1,016.1	9,145	100.0	0	0.0	4.3	4.9
Grand Totals	50,479	Psychiatry	1 in 30 miles	52	970.8	50,479	100.0	0	0.0	5.9	6.5
© 2023 Quest Analytics IIIC		•	•	•				•			

Psychiatrists - Rural

December 27, 2023

Access Analysis
Psychiatry- Rural

Member / Provider Groups
Rural Members
(NORTH_RURAL)
Psychiatry

			Members W	ith and W	ithout Acces	s					
	Member	Pro	Provider		Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Banks, GA	1,726	Psychiatry	1 in 45 miles	0		1,726	100.0	0	0.0	11.4	12.6
Chattooga, GA	1,894	Psychiatry	1 in 45 miles	0		1,894	100.0	0	0.0	20.4	20.4
Dade, GA	825	Psychiatry	1 in 45 miles	0		825	100.0	0	0.0	15.5	15.5
Dawson, GA	1,457	Psychiatry	1 in 45 miles	3		1,457	100.0	0	0.0	6.8	7.3
Elbert, GA	1,349	Psychiatry	1 in 45 miles	0		1,349	100.0	0	0.0	29.2	33.6
Fannin, GA	1,548	Psychiatry	1 in 45 miles	1	1,548.0	1,548	100.0	0	0.0	6.9	19.8
Franklin, GA	2,326	Psychiatry	1 in 45 miles	0		2,326	100.0	0	0.0	19.7	26.8
Gilmer, GA	1,854	Psychiatry	1 in 45 miles	1	1,854.0	1,854	100.0	0	0.0	5.4	17.4
Habersham, GA	2,008	Psychiatry	1 in 45 miles	0		2,008	100.0	0	0.0	13.8	18.0
Hart, GA	1,295	Psychiatry	1 in 45 miles	0		1,295	100.0	0	0.0	32.0	35.1
Lumpkin, GA	1,041	Psychiatry	1 in 45 miles	1	1,041.0	1,041	100.0	0	0.0	5.4	12.3
Madison, GA	2,192	Psychiatry	1 in 45 miles	0		2,192	100.0	0	0.0	14.6	15.0
Morgan, GA	1,210	Psychiatry	1 in 45 miles	0		1,210	100.0	0	0.0	20.3	20.3
Murray, GA	2,883	Psychiatry	1 in 45 miles	0		2,883	100.0	0	0.0	13.0	13.9
Oconee, GA	998	Psychiatry	1 in 45 miles	2	499.0	998	100.0	0	0.0	5.8	6.0
Oglethorpe, GA	1,199	Psychiatry	1 in 45 miles	0		1,199	100.0	0	0.0	14.5	15.3
Polk, GA	3,804	Psychiatry	1 in 45 miles	3	1,268.0	3,804	100.0	0	0.0	7.4	7.4
Rabun, GA	924	Psychiatry	1 in 45 miles	0		924	100.0	0	0.0	21.3	26.0
Stephens, GA	1,916	Psychiatry	1 in 45 miles	1	1,916.0	1,916	100.0	0	0.0	4.0	27.0
Towns, GA	681	Psychiatry	1 in 45 miles	1	681.0	681	100.0	0	0.0	5.1	13.6
Union, GA	1,459	Psychiatry	1 in 45 miles	1	1,459.0	1,459	100.0	0	0.0	6.7	16.2
White, GA	1,254	Psychiatry	1 in 45 miles	1	1,254.0	1,254	100.0	0	0.0	5.2	16.0
Grand Totals	35,843	Psychiatry	1 in 45 miles	15	2,389.5	35,843	100.0	0	0.0	12.7	17.5

Autism Spectrum Disorder Treatment Provider - Urban

December 27, 2023

Access Analysis

Autism Spectrum Disorder(ASD) Treatment Provider- Urban

Member / Provider Groups

Urban Members (NORTH_URBAN) Autism Spectrum Disorder(ASD) Treatment Provider

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Catoosa, GA	2,143	Autism Spectr	1 in 30 miles	0			100.0	0	0.0	7.9	7.9
Clarke, GA	5,693	Autism Spectr	1 in 30 miles	4	1,423.3	5,693	100.0	0	0.0	3.2	5.6
Floyd, GA	6,354	Autism Spectr	1 in 30 miles	54	117.7		100.0		0.0	3.4	3.6
Gordon, GA	3,913	Autism Spectr	1 in 30 miles	0			100.0		0.0		6.1
Hall, GA	13,461	Autism Spectr	1 in 30 miles	42	320.5	13,461				4.2	4.2
Jackson, GA			1 in 30 miles	0			100.0		0.0	6.9	7.1
Walker, GA			1 in 30 miles	0			100.0	0			12.2
Whitfield, GA	9,145	Autism Spectr	1 in 30 miles	2	4,572.5	9,145	100.0	0	0.0	5.1	5.1
Grand Totals	50,479	Autism Spec	1 in 30 miles	102	494.9	50,479	100.0	0	0.0	5.4	5.8
© 2023 Quest Analytics 11 C											

Autism Spectrum Disorder Treatment Provider - Rural

December 27, 2023

Access Analysis

Autism Spectrum
Disorder(ASD) Treatment
Provider- Rural

Member / Provider Groups

Rural Members (NORTH_RURAL) Autism Spectrum Disorder(ASD) Treatment Provider

			Members W	ith and W	Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance						
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2						
Banks, GA	1,726	Autism Spectr	1 in 45 miles	0		1,726	100.0	0	0.0	12.0	12.0						
Chattooga, GA	1,894	Autism Spectr	1 in 45 miles	0		1,894	100.0	0	0.0	21.1	21.1						
Dade, GA	825	Autism Spectr	1 in 45 miles	0		825	100.0	0	0.0	20.7	20.7						
Dawson, GA	1,457	Autism Spectr	1 in 45 miles	18	80.9	1,457	100.0	0	0.0	6.5	6.5						
Elbert, GA	1,349	Autism Spectr	1 in 45 miles	0		1,349	100.0	0	0.0	21.7	21.7						
Fannin, GA	1,548	Autism Spectr	1 in 45 miles	4	387.0	1,548	100.0	0	0.0	7.2	7.2						
Franklin, GA	2,326	Autism Spectr	1 in 45 miles	4	581.5		100.0	0	0.0	9.6	9.6						
Gilmer, GA		Autism Spectr	1 in 45 miles	0			100.0	0	0.0		21.4						
Habersham, GA	2,008	Autism Spectr	1 in 45 miles	0		2,008		0	0.0	23.5	24.0						
Hart, GA	1,295	Autism Spectr	1 in 45 miles	0		1,295	100.0	0	0.0		14.6						
Lumpkin, GA	1,041	Autism Spectr	1 in 45 miles	0			100.0	0	0.0	14.4	14.4						
Madison, GA	2,192	Autism Spectr	1 in 45 miles	0		2,192	100.0	0	0.0		14.7						
Morgan, GA	1,210	Autism Spectr	1 in 45 miles	0			100.0	0	0.0	17.9	17.9						
Murray, GA	2,883	Autism Spectr	1 in 45 miles	0		2,883		0	0.0		13.9						
Oconee, GA		Autism Spectr	1 in 45 miles	26	38.4	998		0	0.0	4.6	4.6						
Oglethorpe, GA	1,199	Autism Spectr	1 in 45 miles	0		1,199	100.0	0	0.0		16.3						
Polk, GA	3,804	Autism Spectr	1 in 45 miles	10	380.4	3,804		0	0.0	7.9	7.9						
Rabun, GA		Autism Spectr	1 in 45 miles	1	924.0		100.0	0	0.0	8.5	20.9						
Stephens, GA		Autism Spectr	1 in 45 miles	0		1,916		0	0.0	25.3	25.5						
Towns, GA	681	Autism Spectr	1 in 45 miles	18	37.8		100.0	0	0.0	8.3	8.3						
Union, GA	1,459	Autism Spectr	1 in 45 miles	0		1,459	100.0	0	0.0	15.6	15.6						
White, GA	1,254	Autism Spectr	1 in 45 miles	0		1,254	100.0	0	0.0	19.4	19.4						
Grand Totals	35,843	Autism Spec	1 in 45 miles	81	442.5	35,843	100.0	0	0.0	14.5	15.1						
		•	•				-										

Narcotic Treatment Program - Urban

December 27, 2023

Access Analysis

Narcotic Treatment Program-Urban

Member / Provider Groups

Urban Members (NORTH_URBAN) Narcotic Treatment Program

			Members W	ith and W	ithout Acces	S					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	With Access		ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Catoosa, GA	2,143	Narcotic Treat	1 in 30 miles	3	714.3	2,143	100.0	0	0.0	7.2	7.2
Clarke, GA	5,693	Narcotic Treat	1 in 30 miles	0		0	0.0	5,693	100.0	39.9	40.4
Floyd, GA	6,354	Narcotic Treat	1 in 30 miles	0		0	0.0	6,354	100.0	49.4	49.4
Gordon, GA	3,913	Narcotic Treat	1 in 30 miles	0		0	0.0	3,913	100.0	42.4	43.6
Hall, GA	13,461	Narcotic Treat	1 in 30 miles	0		13,457	99.9	4	0.1	16.0	22.2
Jackson, GA	5,444	Narcotic Treat	1 in 30 miles	0		3,083	56.6	2,361	43.4	26.3	30.3
Walker, GA	4,326	Narcotic Treat	1 in 30 miles	0		4,326	100.0	0	0.0	9.0	9.0
Whitfield, GA	9,145	Narcotic Treat	1 in 30 miles	0		7,824	85.6	1,321	14.4	26.0	26.0
Grand Totals	50,479	Narcotic Tre	1 in 30 miles	3	16,826.3	30,833	61.1	19,646	38.9	26.9	29.1

Narcotic Treatment Program - Rural

December 27, 2023

Access Analysis

Narcotic Treatment Program-Rural

Member / Provider Groups

Rural Members (NORTH_RURAL)

NORTH_RURAL)

Narcotic Treatment Program

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Banks, GA	1,726	Narcotic Treat	1 in 45 miles	0		1,726	100.0	0	0.0	33.4	40.9
Chattooga, GA	1,894	Narcotic Treat	1 in 45 miles	0		1,879	99.2	15	0.8	33.0	33.0
Dade, GA	825	Narcotic Treat	1 in 45 miles	0		825	100.0	0	0.0	17.9	17.9
Dawson, GA	1,457	Narcotic Treat	1 in 45 miles	1	1,457.0	1,457	100.0	0	0.0	7.1	24.4
Elbert, GA	1,349	Narcotic Treat	1 in 45 miles	0		0	0.0	1,349	100.0	65.0	67.8
Fannin, GA	1,548	Narcotic Treat	1 in 45 miles	0		748	48.3	800	51.7	45.1	54.2
Franklin, GA	2,326	Narcotic Treat	1 in 45 miles	0		218	9.4	2,108	90.6	52.7	57.1
Gilmer, GA		Narcotic Treat	1 in 45 miles	0		1,506	81.2	348	18.8	41.4	51.1
Habersham, GA	2,008	Narcotic Treat	1 in 45 miles	0		1,831	91.2	177	8.8	37.6	51.5
Hart, GA	1,295	Narcotic Treat	1 in 45 miles	0		0	0.0	1,295	100.0	64.2	66.1
Lumpkin, GA	1,041	Narcotic Treat	1 in 45 miles	0		1,041	100.0	0	0.0	14.2	30.7
Madison, GA	2,192	Narcotic Treat	1 in 45 miles	0		1,076	49.1	1,116	50.9	45.5	48.2
Morgan, GA	1,210	Narcotic Treat	1 in 45 miles	0		944	78.0	266	22.0	41.3	51.3
Murray, GA	2,883	Narcotic Treat	1 in 45 miles	0		2,853	99.0	30	1.0	34.0	34.0
Oconee, GA	998	Narcotic Treat	1 in 45 miles	0		852	85.4	146	14.6	38.7	40.5
Oglethorpe, GA	1,199	Narcotic Treat	1 in 45 miles	0		226	18.8	973	81.2	51.0	52.5
Polk, GA	3,804	Narcotic Treat	1 in 45 miles	0		317	8.3	3,487	91.7	55.2	56.4
Rabun, GA	924	Narcotic Treat	1 in 45 miles	0		0	0.0	924	100.0	61.2	70.8
Stephens, GA	1,916	Narcotic Treat	1 in 45 miles	0		279	14.6	1,637	85.4	47.2	60.2
Towns, GA	681	Narcotic Treat	1 in 45 miles	0		276	40.5	405	59.5	46.1	61.6
Union, GA	1,459	Narcotic Treat	1 in 45 miles	0		1,459	100.0	0	0.0	36.2	54.7
White, GA	1,254	Narcotic Treat	1 in 45 miles	0		1,254	100.0	0	0.0	29.4	41.6
				_							
Grand Totals	35,843	Narcotic Tre	1 in 45 miles	1	35,843.0	20,767	57.9	15,076	42.1	41.9	48.7
© 2023 Quest Analytics, LLC.		ļ.							L		

Licensed Counselors and Social Workers - Urban

December 27, 2023

Access Analysis

Licensed Counsler and Social Workers- Urban

Member / Provider Groups

Urban Members (NORTH_URBAN)

Licensed Counsler and Social Workers

			Members W	ith and W	/ithout Acces	S					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Access		Average Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Catoosa, GA	2,143	Licensed Cou	1 in 30 miles	3	714.3	2,143	100.0	0	0.0	3.0	6.6
Clarke, GA	5,693	Licensed Cou	1 in 30 miles	13	437.9	5,693	100.0	0	0.0	2.1	3.6
Floyd, GA	6,354	Licensed Cou	1 in 30 miles	16	397.1	6,354	100.0	0	0.0	4.9	5.7
Gordon, GA	3,913	Licensed Cou	1 in 30 miles	0		3,913	100.0	0			24.9
Hall, GA	13,461	Licensed Cou	1 in 30 miles	16	841.3	13,461	100.0	0	0.0	3.5	4.1
Jackson, GA	5,444	Licensed Cou	1 in 30 miles	2		5,444	100.0	0	0.0	5.5	8.7
Walker, GA	4,326	Licensed Cou	1 in 30 miles	0		4,326	100.0	0	0.0	9.0	13.5
Whitfield, GA	9,145	Licensed Cou	1 in 30 miles	1	9,145.0	9,145	100.0	0	0.0	4.6	15.4
Grand Totals	50,479	Licensed Co	1 in 30 miles	51	989.8	50,479	100.0	0	0.0	5.6	9.3

Licensed Counselors and Social Workers - Rural

December 27, 2023

Access Analysis

Licensed Counsler and Social Workers- Rural

Member / Provider Groups

Rural Members (NORTH_RURAL)

Licensed Counsler and Social Workers

Members With and Without Access													
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Banks, GA	1,726	Licensed Cou	1 in 45 miles	0		1,726	100.0	0	0.0	13.9	17.4		
Chattooga, GA	1,894	Licensed Cou	1 in 45 miles	0		1,894	100.0	0	0.0	21.4	21.5		
Dade, GA	825	Licensed Cou	1 in 45 miles	0		825	100.0	0	0.0	18.7	22.2		
Dawson, GA	1,457	Licensed Cou	1 in 45 miles	1	1,457.0	1,457	100.0	0	0.0	6.4	11.0		
Elbert, GA	1,349	Licensed Cou	1 in 45 miles	0		1,349	100.0	0	0.0	19.8	24.9		
Fannin, GA	1,548	Licensed Cou	1 in 45 miles	5	309.6	1,548	100.0	0	0.0	6.8	6.9		
Franklin, GA	2,326	Licensed Cou	1 in 45 miles	1	2,326.0	2,326	100.0	0	0.0	9.5	16.9		
Gilmer, GA	1,854	Licensed Cou	1 in 45 miles	1	1,854.0	1,854	100.0	0	0.0	5.4	17.0		
Habersham, GA	2,008	Licensed Cou	1 in 45 miles	0		2,008	100.0	0	0.0	13.9	15.5		
Hart, GA	1,295	Licensed Cou	1 in 45 miles	0		1,295	100.0	0	0.0	16.5	28.9		
Lumpkin, GA	1,041	Licensed Cou	1 in 45 miles	3	347.0	1,041	100.0	0	0.0	4.8	5.0		
Madison, GA	2,192	Licensed Cou	1 in 45 miles	1	2,192.0	2,192	100.0	0	0.0	7.5	12.3		
Morgan, GA	1,210	Licensed Cou	1 in 45 miles	1	1,210.0	1,210	100.0	0	0.0	5.9	19.3		
Murray, GA	2,883	Licensed Cou	1 in 45 miles	0		2,883	100.0	0	0.0	13.2	20.7		
Oconee, GA	998	Licensed Cou	1 in 45 miles	4	249.5		100.0	0	0.0	3.8	4.7		
Oglethorpe, GA	1,199	Licensed Cou	1 in 45 miles	0		1,199	100.0	0	0.0	11.7	14.0		
Polk, GA			1 in 45 miles	1	3,804.0	3,804	100.0	0	0.0	7.5	19.1		
Rabun, GA	924	Licensed Cou	1 in 45 miles	0			100.0	0	0.0	21.2	21.4		
Stephens, GA	1,916	Licensed Cou	1 in 45 miles	4	479.0	1,916	100.0	0	0.0	4.3	4.3		
Towns, GA			1 in 45 miles	2	340.5		100.0	0	0.0	5.0	5.9		
Union, GA	1.459	Licensed Cou	1 in 45 miles	1	1,459.0	1,459	100.0	0	0.0	6.7	16.1		
White, GA	,		1 in 45 miles	1	1,254.0	1,254		0	0.0	6.3	12.5		
, -	, -	_			,	, -							
Grand Totals	35,843	Licensed Co	1 in 45 miles	26	1,378.6	35,843	100.0	0	0.0	10.3	15.9		
	,				ĺ	,							